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BUTEX ADMISSION TEST 2019-2020

0.5m Twel 2t 2.5kg @ @3 3@ @9t B @3 Boiw Afew 2o | Pk @ 79 479 1950N/m ot Popfe sidfes
TopT AIHS TR T 39 |
st mg(h + x) = 2kx? = 2.5 X 9.8(0.5 +X) = 2X 1950x2 = 975x2 — 24.5x— 12.25 = 0

s~ x=0.12535577m = 12.535577cm (Ans. )

02. 4000kg ST @3B Fres 240kg ©w@a G I T2 FA0L | T FrFGe ©ieaa (Supporting cable) T4 ST B
48000N T o4 S et T Fredfs fga og (U 3s ST T Sweiw ora?
sig: T — mg = ma = 48000 — (4000 + 240) x 9.8 = (4000 + 240) x a

T
~a=152075ms™2 (Ans.) % ,_[T>mg]
%

h =2at?[u = 0ms™] = 1 x (1.52075) x 32 = 6.843375m (Ans.)

03. Y AT AT A7 T I A A | SIAeAS GBI G A oofeer | s I ol o et v et 4 X
10™7m | @ 7% S5 =i T qTfre $ @6 I #if T ot a2 | S APt 72 X 1073 N/m == (i)
G A B A TS (i) “HifAe Sresiar v 3 sArea?
ST
@35mR® = (3mr3) x 8= R®=8r’ . R=2r = D =2d = 8 X 10~"m (Ans.)

(ii) AW = msAB = T x 4n(Nr? — R?) = msA8 = 4Tn(Nr? — R?) = §HR3 X pXsXA0

_ 3T(Nr?-R?) _ 3x72x103x{8x(2x10~7)?-(4x10~7)?}
~ R3ps (4x10-7)3%1000%4200

= AB = 0.12857°C (Ans.)

04. 3 S Staea o < | ST ST 70°C T AT O] T < | AR B @4 G QR 4R B

SIAN@RE FEae?
' l -— — IE ]
MR 2= 1= 22 e (D)

loq-Lc0 4 To 70 1,70 -
=1 T =1 T1+T1-~-6+T1 [from (i)]

70 % 4§
‘T =375 »Ti=420K 2 T, =T, (1-1) = 350K
“ TS e ST 420K @ pera S (350 — 70)K = 280K (Ans.)

0.5 tesla 397 (1% cwta 02 60° @t w51 2T 105 ms—1 (@7 BHCS AR STEARGALA B2 faFarreT 31 Fo?
T F = q(vx B) = |F| = qvBsin®

05.

=1.6Xx10719 x 105 x 0.5 X sin 60° = 6.9282 x 10715N

e Pfeu® rore fefes s
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(OITBE (T T AR
= 160V

e T 9 | AT o
spet: v AC TR Erms
. B — 160V + Eg = 160v2V
"

Ans.)
2p = 2% 160v2 = 144,05V (
=L, ==x1

L Wm - 0 1T

i@ | (Ans.) b
 Enmsacy > Eqpey + AC et ((W) 7 Reiad wde, o F0T @i s v goo Ifoufs

oifs 7ol @l TR S '
07. ¥ T WS

ffofE = |
1 = = fer

W:m‘r‘;*l%ﬁ:;kAzIk—WW,A

lex? = 1xkx A =1
MEP::ERX ZEX Fi 2 T

3

'"MsEKzET_'EP:ZET
= (6 e @3 vpdiet ffoxfe o fo vudies ifoxfere Foires 20 |

0 v ! 4
- 1 g 10 C | ﬁf\ s -

ly _ 1x336000 373 |, 1X2268000 = 8622.046 JK~1 (Ans.
W:AS=?—?+msln%+%z—*—--—§3——-+1x4200x1n273+—-=——373 8 ] ( I

09. %5 31 60m S <re Wbee “ifes zwar afb 75 e 2mr creer afb efowfErs 2o ww Swer Sicas
FAE: mgh' = 0.25 x mgh [s=fE «fe — 25%]
~h'=0.25h = 15m (Ans.)

10. 0.40Am2ﬁtﬂm>(-ray wﬁww‘s‘rﬁﬁri‘ﬁ@mmw 20° I fifee =7 | fifre ISR o o |
| '

’ h .
TN ~A= (1~ cos8) = A = .4 » 10710 . 6626x1q734

9.1)(10"31)(3)(103 X (1 = COS 900)
= 42427 X 1071 m = 0 424274 (Ans.)

15.

16.
11. 270¢
0

12 Rt gy

':":-.3- o
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BUTEX SI®
s K = Ae~Ea/RT

51 3 ENHTE

~ K, = Ae"Ea/RT1 = InK; = In —EE;*; ......... )
2Ky = AeBa/RT2 5 InK, = InA— e (ii)
2

: it Ki _ 0.237x10"* _ E, (_L_L
) — (D) =Ing =25 T,) = In o+ — 8314\298 273

= E, = 65215.58 ] mol~! = 65.21558 k] mol™* (Ans.)

13. 1.5g G SR 7Y H,S0, 97 FHES 00 G0 Wwes 200mL 41 T | @ §IT (30 25mL o TR
220 0,02M S 22.5mL K, Cr, 0 Fet Sen Qe | WA @i ez i o7
SR g, cr,0, = 0.02 X 22.5 X 103 mol = 4.5 X 10™*mol

- Nfpeso, = 6% ng,cr,0, = 6x45x107%=27X% 10~3mol

» Mpe = 55.85 X 2.7 X 10~3gm = 0.150795gm

~ 200mL 4 Fe &g = wzzg?ﬂ

~ Feumg = % x 100% = 80.424%

g = 1.20636g

14. Fe(OH)z @7 & 5t OH~ Se 9@t 6.6 x 10~*gL™" =1, Fe(OH); 9% Kp frfa ==
sary: Fe(OH); = Fe3t + 30H™
[OH] = 6.6 x 10~4gL™ = $X1% yolL~ = 3.88 X 10~ molL™

- [Fe?*] = 2 = 1.3 x 105 molL™
 Kgp = [Fe**][OH7]® = 1.3 x 107° X (3.88 X 107°)* =7.59'%X 10"°mol*L* (Ans.)

15. 4.05pH @3 93 IFE g3 @¥ Fr® 500mL #ifcs 1.2g CH;COOH &7 et ¥ & CH3COONa Gt F=9
e e? [K, = 1.8 X 107°]

w

= 4.05 = —log(1.8 X 107°) + log%

60

[salt]

TagE: pH = pK, + logm

~» W = 0.3312g CH3COONa (Ans.)

Br,(CCl KOH(al
16. (a)A 6 BRfra, 7 CoH, oo, A KG9

(b) SnSO, + K,Cr,0, + 7H,S0, — RfFafia siwerpe wiead e |

Br 3 KOH(alc)
AR: (a); CH, = CH — CH, ﬁ;CIHz ~ CH = CH, — 5 CH = C — CHg + 2HBr

Br Br
“ A - CH,;Br — CHBr — CH,4
B - CH = C — CH;
(b); Sn?* — Sn** 4 2™ ......... (i)
Cr,03™ + 14H* + 6e™ - 2Cr3* + 7H,0 ... ....... (ii)
() X 3 + (ii) - 3Sn?* + Cr,0%~ + 14H* - 3Sn** + 2Cr3* + 7H,0
= 35nS0, + K,Cr,0; + 7H,S04 - 3Sn(S0,), + Cry(S04)5 + K,50, + 7H,0 (Ans.)
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18.

19,

20.

NH2

(0-5)°C

+NaNO, + 2HCl—
OH :

NoCl NoCl o
Cl; Fe
AlCl H,0,HCl w2
CH CH3 CH3
CH3 CH3 CH3 3 Cl

@A IR (CSBIETE &Y TAMT)
250C SR @ 20.0 atm 5t i RRFTTS FURER 16.0 mol% NH; 41w | B wgi @ ek, q
RT3 1SN, + S H, = NH;
ST N, +>H, = NH;

QP0G 1 3 0
AFTET: 1-a 3(1-a) 2a

AP =1—a+3—3a+2a=4-2«a
&S, 2a = (4 — 2a) X 0.16 .~ a = 0.275862

“ Py, = (1_'1) X P =42 atm

4-2a

3-
Py, = 239 P=12.6atm

4-2a
P o 2a
NH; = ==X P = 3.2 atm
b KIJ — IPNH:E - 3.2 _ 0 035 1 ‘L
B, P, Va2xy1zer  -oo2atm™" (Ans,)
{
H,0

ChHapp oy ""-z—-—-> A o ZnHg A
2 2%ngso, A~ B—¢ S ’

itice CH3C =CH + H— OH Z%HgSO‘ I

0 CHy—-C - A
20;&}1250 3—C = C = H [l B
Ks[Fe(CN),) S Cu2* g 724 4 A) —CH,C -~ CH, n—-HgHC

RYS: Zn2+ "G 2712

1
CH;CH,CHs
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21, AABCaa=vV3+ 1,b = V3 — 1 @& C = 60° T A, B @3 ¢ 97 W (¥4 |
sangi: 2 = a2 + b? — 2abcosC = (\/5+1)2+(\f§—-1)2—2(\/§+ 1)(V3 — 1) cos 60°
~c2=6 ~c=+6(Ans.)
~A=cos™? (ﬁ%::—az) = 105° (Ans.)
+ B = 180° — 105° — 60° = 15° (Ans.)
22. f(x) = 2x® — 21x? + 36x — 20 a7 s 8 TR w9 |
st £(x) = 6x2 —42x+36=0 ~x=1,6
f''(x) = 12x — 42
f'(1)=-30<0
£(6) =30>0
o g = f(1) = =3 (Ans.)
£ = f(6) = =128 (Ans.)
23. af x2+px+q=0 @ x?+qx+p =0 FAECH 2B e I A @ 2x2 4+ (p+q—2)x=
(p + q — 2)? TR0 P frefr =
;4R RS T al
s +pat+q=0......(0)

H-(G{)=>@pP-qa+@=p)=0 ~a=1
~14+p+q=0 ~p+q=-1

22K+ (p+q-2)x=(pP+q-2)?=>2x*—3x=9
wx=3,-2 (Ans)

24. (a) X 97 FACACE sin(x + y)? @7 TEAAI T |

(b)\lj3 4+ =3 +V=3 + 00 @7 I ey T |
YE: (a); y = sin(x + y)?
P

. dy _  2(x+y) cos(x+y)?
‘ Tdx T 1-2(x+y) cos(x+y)

; (Ans.)

| (b);Let,xEJ—s+J—3+«/—3+---oo-a»x=\/—3+x=>x2—x+3=0

. v — —(D+/(-1)2-4x3x1 _ 1+/11i
=R 2x1 === (Ans.)
e Foifeu® toire fofen T
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A} Em ;n.s qu‘a' ﬁﬁﬁ Wﬁf qﬁf’f’f ﬁ% W
5: 4’ 7' Wh
7@ 6,
5. ATTT W ST AT -
T3?
TR 1 2207 =
1
omsamﬂw‘ﬂwﬂmﬁﬁmﬁ ) =]
=36 (AHS- o "‘.
s Ri= 8 B e 729 7290am30375ﬂﬁaa§‘ﬂﬁmwn _;_‘ B
26, (x +a)" o fgfre e o R ' 3
ny  n(n-1x"xal o . 4 a" k
s (x + )" =x" ~!~E’i-3+—"'2‘""""+ 1 29. @
ll 1
e, X = 729 b b
na__?_229= i aniab 1 ' -. |
237290 5 2= 70 =10 () | _
(n?-n)a?x" _ 30375
2x2 IF
2. :\a2 B ‘
B x:')a = 2":2375 = % ......... (ii) 4
@+ @S =ia S en—6=5nn=6 1
-'-X=6'\I'729=3 .'.az%&&f:[; _'.a:S(Aﬂs') -.
27. y=1+ x+z"'mﬂ'xml’ﬁﬁ“wyWQW@WWPQWﬂW%wI 30. (a
Ty =1 +§E | --. ®
X WS (A Ay = () 4 !
sl - |
Tl “ PR (-3,0) E (a
YIFR @I x = () i :
'.'y=1+‘{‘=§“i’fl‘i'4'@}? % 4 | =
. Y7 Q(0,) Reee cam e 4
% PQ R ezt 4 -
-'-(X+3)-_—(x+3) P |
X— = =
28, ZyJ'3-0(Ans) | =
awaW R
TS we
i W%Wl ] (b
y g
?+y? = 2ax =% = 20y i
~X(x -~ Fax = 42 A
=0 . . =0 J
"Iﬁ-q-gm_ﬂ -
S— T
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|

29.

30.

=2[0+0=—§\/E><a\/§—0+§x§+0]

ma®

4

= 3az—az (‘5"“) (Ans.)
aﬁmﬁﬁmaﬁmﬁfﬁWquaﬁﬁmﬂmﬂmmh,h*w,cwactr,R=4 hh' |
mm:R=£§ig=“3£ [«f, fRrFom @t u e @I 6]

= 2u?sinBcosB

B
u?sin?@ | i u?sin2(90°-0) _ u?cos®@
2g 2 - 2g

w[aE, h =

~ 4JhlY = 4 u* sinzz;:os72 8 _ 2u? cuze sin@

=R
«» R=4vhh’ (Showed)

(a) Prove that, sin™* ( ) 4 sin™1! ( ) + sin-1 (

(b) Find the value of [* xtan™" x dx.

-

- _.1 4 . __.1 5 . _1 16
(a) sin™" -+ sin 1S =

-1 4 -1 5 1 16
=fa + ta Wi +tan T —s
n :?52_42 n 132-5 1;552-162

4.5

v—‘+._
= -14 -15 t -116 _ -1_3 12 -116
= =+ 2 +tan~1= =tan +tan12
tan 34 tan 12+ o P =

3 12

163 2163 _ W
=tan™! =+ cot 1==3 (Proved)

() [xtan~*xdx = tan~*x [ x dx — [ (%tan“lexdx) dx

x2

2 2 2

X X 1 X“4+1-1
tan~lx — [——=dx =—tan"1x—= (

2 J'2(1+:|:2) 2 an ZI 1+x2 dx

2
=«—tan‘1x——-fd + = _l' x=%tan‘1x—§+%tan‘1x+c

1+4x2
2 V3
‘ j'lﬁxtan"lxdxa[x?tan'lx—g-’t-%tan‘lx]
5 1-/3
Tt (4ns)
R ereror Trew e, N
wrae fFftu® tore fefen s
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31.

32.

33.

34,

BUTEX SI0E

Write a synonym of the following words.

(a) Allay (b) Brittle (c) Glut‘toony # -
Answer: (a) Alleviate (b) Fragile |
(d) Abolish (e) Recession/Collapse/Depression

sition)
(a) Happiness consists contentment. (Use prepo

(b) Addtwo _____ two. (Use preposition) x

(c) Just now he (have) his dinner. (Use the correct ver )

(d) What is the noun of the word 'Maintain'? | .
(e) Who wrote the poem "The rime of the Ancient Mariner
Answer: (a) in

(b) with

(c) Just now he has had his dinner.

(d) Maintenance

(e) Samuel Taylor Cdendge.

(d) Obliterate (e

) Slump

(a) She was wearing ugly dress to wedding. (Use appropriate articles in the gaps)

(b) "How will they get here?" (Turn into reported speech)
(c) Do the word. (Change it into passive mood)

(d) "Uneasy lies thehead  (Complete the proverb)
(¢) What does the phrase "Go dutch" mean?

Answer: (a) an ; the

(b) It was asked how they would get there.

(c) Let the word be done.

(d) that wears a crown.

(e) Sharing the cost of something,

Transform the sentences as directed.

(a) Only Allah can help us. (Make it negative)

(b) My hair grows very fast. (Make it exclamatory)

(c) Let the boy be warned, (Make it active)

(d) I'read them for pleasure. (Make it complex)

() I'am sure that he wi]| succeed. (Make it simple)
Answer: (a) None but Allah can help us,

(b) How fast my hair grows!

(¢) Warn the boy.

(d) I'read them so that T can get pleasuyre,
(¢) I am sure of this success.

wrae fFftu® tore fefen s
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01.

02.

03.

04.

BUTEX SIRP

- . § 3

BUTEX ADMISSION TI:'_‘.ST 2018-2019

oAl : Uxdo = Yo

(a) 9l (APfEF AR AT 100 W 4R 220V =11 =R | & 220V #ARE FGTF Witr aR Afsfmm 10 T Feer |
1kWh tagfes = 377 2.40 Siat Z0er Sed e Wit e 30 wpia?

(b) 100 m/s ot sifeer «a D Sivex foew 0.1m T (T T | FORF B 17 @7 @AZR (N SdE 2

SIE: (2) ¥ W = Pt = 100 X 1072 X 10 = 1 kWh

e R 2.40 i, SERE W R 31 X 2.4 = 74.4 513 (Ans.)

¢ = Lm (u? =Y =25 {
(b) xm FFR *F (3 WCEF 0, Fx = -m (u 4)--4><2mu sneivasill)
wrw, Fx 0.1 =2 mu? ... (ii)
(i) & (i) Z® 1%, Fx = F x 0.1 X > = x = 0.075m [Ans.]

(a) @5 Referarw (,He*) FeRmmem it ofe e fefr o9 | (42 c@brm o7 = 1.00728 amu, 5 e =a
= 1.00876 amu, RfFwm FEFFaem oFe o7 = 4.00276 amu ¥ 1 amu = 931 MeV] |

(b) = TS R e 12 sec TE AMIZT 2o T BT G 70 F© 7N A2

FAH: (a) Am = 2 X 1.00876 + 2 x 1.00728 — 4.00276 = 0.02932 amu

» TFIE = Am X 931 MeV = 27.297 MeV

12 _

. a _ . _T _i_:__{'_z____
(b) x —~asm(21tft)=>5—asm(2nft) S2nfte= - wt=e=m = 1s

(a) 5% 4.9x2 = 0 vt e QA i T e

(b) Dielectric ¢ fFeia 4@ «vFy Jfa F?

d?x _ - 2 a .. %
W.(a)ﬁ—i-‘ax—{)::'a-— 3% ==z =2

a= —w?xX 97 A I FE 1%, w = 3rads™ [Ans. ]

(b)wmﬁmc=%=ﬁ-

CSHREEG I ARATeT 9 k 97 T @ SIF €90 Ry I A |

(2) @5 AT 2T T2 27°C SRR O+ AIRTE ATE S @7 T wFel 50% | OF 60% WF TS A @I TR
SRl T AGITS AI?

(b)A.A @R A x A @7 7 fifa 37 |

T: (a) o, S oA T

arraa ererar T, = 27 + 273 = 300K

ek

n—_sl_%=>0,5=1—%9-=>T=600K
n=60%§ﬁ,0.6=1—%= —$=>T=750K

Sistar e 7@ (750 — 600)K = 150K
(b)A.A = |A| cos0° |A| cos0° = |A|?
A x A = |A||A|sin0° i = 0 (0 = % (589)

e Fifeu® tore fefet T
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06.

07.

08.

10.

2 . —~1
T (a) ST Wi, BV = "5 2y 16x 1077 =16% 10~%*kgms™" (Ans.)
1x107° X L

= mv=BRq = 10X 107*X
=E_2120_ 244 (Ans.) T T G A 3
T ( et &1 15,000kg | A FE 200kg/s - 2000 /s G
(a) 10,000 kg FrEAFR a3l w19 .'
finfe 2 | FTEsT Soie ATyl T N
9| .

(b) y = 8cos(5x — 30t)mwnarmmtﬁ‘ﬁ’f‘ﬁf(ls 000) X 9.8 = F = 25.3 X 10*N
dm .= F = 2000 x 200 — (15 ' ' |

e (a) F = Vi o — Mg = F

. (2mx PP
(b) y = 8 Cos (5x — 30t) ... (1); y = @sii (T - ant) wnis (1) ]

(i) © (i) T 7 I, 5x=%‘3:l=35£= 1.26m

(a) 27°C wrara oI R T s Te eifie TR WS faed T | PO Il Fo? [r=14] J

(b) 3kg ST @ T ATt T = 20 + 2 — K1 ¥l o9 (S | = 1+ ] T TR, INCTF 93 @ty
s

T =2 3

a

W @) TV =TV Ty = (%’)Y_l XTy .:
2 g

1\14-1 |
2T=(3)" x@7+273) =T, = 227.36K [Ans.]
N = 2 ﬁ _..‘:
(b)mﬁlﬁ,[.=rx?= Fxn = S— | . b |
(FxDm=1=3 [; ! 0J=3(—x+j) = —3i+ 3j[Ans.]

'y 2
:HNF‘. umﬁf Elﬁ, W — -Ynﬂ._ = W - 2X1011x1XHX(1x10—3)2

2x1 = W —] 4,91 X 10—3]

e f= {5~ 1) (Z+ _1_)}‘1

'f=[(1-5-1)(_1_+1 3 |
tﬂ'ﬁﬂ}m ; 2 E-E) = v 5
CW ﬁ\m S_ -

iz % fifip
A e = | 1OOUI(g M 1

TR 8 W e,

|
S

L
Tog

SO 1 of e ba et 40% ”l

~ Mgh
mm P] B out = 1ODDX9.B><10 3
n= T = Pﬂut = 163333 "" 1633'33“’ '-"‘I
(04955 = 2722_22W
i (Ans )
TRy -

wirs FIfeQ® tore oD Feres &
ROVHReTE Scanned with CamScanner

12

13




11.

12,

13.

BUTEX SIIR¥F

o 3 WM

(a) AgCl <7 ryet e, Ko, = 1.0 X 10719 2w Sz aryet 0.1M NaCl a3t v7@ 23
(b) COD @3 ¥1F BOD @3 T (BT I§ N (7

FY: (a)
AgCl=Ag* + CIF
S S S+0.1

Kep = [Ag*][CIT] = 1 X 1071° =sx (s + 0.1)

=s24+01s—1x10"1°=0 =>s=1x%x10""M (Ans.)

(b) @ “if@ T BOD Swert COD @& Wi @t | Fat BOD 9y #Nffre Wafge (o1 W5 SHe e I3%e
SRATSTR AR @ COD @7 WA G Sifa T e 2o Sted Sox «aud (s Wi S ewrer 0,
a7 AR 4T T |

(a) 1.6g N0, 27°C ot sz fRraifers s 760mm bt 500mL e 7 ¥ | N2 O, CERSciiT|
g ffa a7

Ca(OH h NH,O0H
(b) Az R «3f == CH3C00H~L—}§ A g 26

I: (a) N,0, = 2NO, n; =2 = 0.0174 mol
ﬁl"iiﬁ‘ﬁﬁlﬂﬂm 0.0174
AMREW  0.174-x ax fily i e e (10203
2 — =L — — .
~0.0174 — x 4 2x = 0.0203 = x = 0.0203 — 0.0174 = 2.9 x 1073 e osssie
-3
. Rom 7 = —— = 2"”"10‘?01;‘:"“% = 16.67% (Ans.)

N—OH
Ca(OH) A NH,OH II
(b) CH;COOH ——— (CH3C00),Ca + H,0 = CH3COCH; — CH3 — C — CH;
(2) 200mL 0.5M Cu?* 1=re g2t 2amp SR 30 min. SR F0T G0 Tt ¥ 2ea? [Cu = 63.5]
(b) IRT ST e 21% WEHem R | 5% WAy id Wig @7 1 kg TR 7R WIS S STFH FO

IS A ATANEH?
Q _ 2x30%60
eF  2x96500

s e Cu?t + 2e” - Cu

TAIET T,

TR Gre Steyt 200 X 1073 x 0.5 = 0.1 mole
Af=f¥e caer et (0.1 — 0.019) = 0.081

TYE: () Q = neF; n = = 0.019 mole

) _ 0081 _
= AR gt = e 0.405M [Ans.]

1kg F¥=ma € =g 1000 X .95 = 950gm = 79.17 mole
1 mole C geTs g 22.4L 0,

*+79.17 mole C ge eare 22.4 X 79.17L 0, = 1773.33L 0,
1773.33L

I T = 8444.44L

0.21

e Pifeaw toirs fofes s i
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BUTEX SgI®

14.

15.

16.

(a) H,0 @ 37wt CCl, '@ SiCl, @ fafewar |

H,0
(b) ficze Rfdwf® =f 33: CH; —C=CH + Oy =7
SiClg + H,0 — Si(OH), + 4HCI (441, Si(OH)4 ﬁ?"’g“‘ ) 4 ' o
I , ]
CH _I_{EECH3—E—C-H+H202 - CHz — C - COoH

0

(b) CHy — C = CH —> cns—T-/—-—\]

0—0

?

(a) NH; = w7gris e K, @7 1 5.8 X 10~10z01 NHz 99 Kp a3 A T
(b) CoH, GIOT 10 — T ST T Ty WRBreT SfRarreey w2

T
-14 _
(a)KaXKb=Km-'-Kb=%=ﬁ_-ﬁ=1.72)(10 5
l< H
gl
® yc=c
H H

Cmpzﬂaﬁﬁﬁawnwwqﬁf

Eﬁmmwwweymm@wm:
Group —[
16 17

Period

O fivers fires wranger 8l
T | e a7
TS @ H g Hzowmoﬂms- WWW
*THR H e a1 T KR 1.5 2emr H — 0w e

N +zS?’JT‘ﬂT"'f"n “l'l‘ﬂ‘!ﬁ{l-]2 - m6+mﬁmﬂr}{5‘ﬁwﬂ
"'?‘?* o-H.5_e Wﬁmmm ' ol
% "'E"”-'-?—H.“ Mo e T
ﬁﬂ!: e ’ﬂﬁ‘ | H S

TR 5wy

wis FPIfeQ® tores fofes s
WONN-Dmpas-ton Scanned with CamScanner



17.

18.

19.

20.

BUTEX S3J9IR®

10mL. 0.2M HCI = 30mL. 0.4M NaOH 10mL. 0.4M NaOH
7 fonfore et fafere et few pH @7 e fefr o
[0] CpHsMgl I R
A > 3 - 3 - e fafemfe
(b) KzCrz0;4+H;S0, & HClainy g Lucas reagent LY Gl s R ) ' qi‘cfw l
) _ NyV;+N,Va+N3Vs _ 0.2X10-0.4X30-0.4X10 —_ .
FEE: (a) N = Virioi, e [aftes il g «@] = —0.28 N

RIS eres wefie g2t =@ 1 . [OH™] = 0.28N . pH = 14 + log(0.28) = 13.44
(b) D == 2° StelRe

0 OH
[0 I C,H:Mgl [ Tl e
CH3CH20H—]——> CHy € —H —— 3 CHy — CH— CgHs = CHy = CH = CH;
K,Crp0,+H,50, HCI(dil) |

cl
Wﬁ%mmmmmmﬁmmw | iEzn\Zmz-i- - 076V, Ecu2+\cu o 034‘]]

SYE: Zn + CuSO,4 = ZnS0, + Cu

E°cen = E®znjzn2+ + E°cy2+/cy = 0.76 + 0.34 = 1.1V > 0

. Tt worgs, <= g=elfs @ e = |

(a) FIfE, A ¢ syeffHee Jass frd |

(b) TR Jece R Jores Feoiies T4t WY [Feira? HEaaerm @)

AHH: (a)
CH> ¢l OCOCH3
N\/ \/N Cl cl COOH
CHy CHy
‘ NN “ cl Cl
CH, (l;Hz CH, Cl RUMIEIER]
| /

&=

0]

| Zn-Hg+HC (D)
(b) “frrrm Remem o Cy + [H] > /CHa,

(a) Fe(CO)s @7 AR @ W A 94 |
(b) TG -2 27 ¢ 2 G el Gbie Termeg EBRe e 789 -7l 39 |

F: (a) ,Fe — [Ar]3d® 4s?

3d 45
- {Ar]
4p

3d 4s
> [Ar] [ AE] xx] [xx] | ><T><I xx| xx]
T T T T

co co CoO co co
dsp? hybridisation

wrae fFftu® tore fefen s
www.bdniyog.com
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21.

BUTEX &IJIR?P

o

(b) CH3 — CH = CH — CH3

285—2-34
CH3 CH3 I’f\l fHB
_c/ =
H H CH; H
Cis 7Y B Y
|
CH; — ? — COOH
OH
2 -3 R @ffe
@ COOH
H-C-OH 0H~(|2*H
|
CH; CHj
P S e afTe

(T cis-trans SYS! @ WA TIE] ToA CHHE

ﬂﬁ@‘ uxdo = Wvo

() y = 4x + 2 el y2 = 12x *Rgae =4 wace =piaga g i a9

x* yz 10

(b) (;§+-;;) 97 Refore y 3o o 3e7

T: () y = 4x + 2 =SBy=1X=—6=033y—y2_ g =
@Rg R b2 —4ac =9 - 4.1.6

O E+E) sty =0, (£)'° &

2x w3

Y T MR, 20 — 2r - 3p =

=3-2=-15<0

0 2r=4

Lt = 10(;4 x16-1044 1 _ 105 .,
26~ 37 X [Ans,]

22. (a) V=169 «z T e g

(b) o 101 4 10 Sﬁ?mwmiw@m
W=(3)Let’m=x=;x4__ mﬁﬂw
= x* = (130)2 = 42

S i@ (1£1) (Ang)) BY
4-3mr
(b) 5T ;P(3ﬂ?ww)= 5¢y

wae Fifeas tors fofen Fws
www.bdniyog.com

el Y, ©IF TSR CORS ST fmp |

Oly*=12x] = y2—3y+6=0

r
10 -
ya) ="Gye0 2r-3rx4r_.10+r(

Scanned with CamScanner



23.

24.

25.

e B2 3
(a) 176.4 3o Tp @b Sremmas ¥ zre 9o 3@ F «ifSravt wefiwsn st T ©f Seams o @ 96
[REERTCAC RIS

(b) tan(cos ™1 x) = sin(tan™? 2) s qABw T 37 37 |
W:(a)ﬂ?ﬂﬂﬁt:Jz_Eh:GS

s=Vt=>96=V,x6=V,=16ms™! [Ans.]
(b) tan(cos™*x) = sin (tan™12)

tan(cos™1x) = sin (sin"! = 3712 = tan (cos™1x) = = = cos~lx = tan~! (=
V5, 1 V5 V5

= cos™Lx = cos~1 L2 ﬂz »x=3 [Ans.]
3 T 3

(a) <= g8 x S Fafeqre =pf w0 @2 (1,3) g e T, ofw sl fdfa o |

(b) f(x) = sinx tan2x. FiAHT 4w fefy v |

ST

(a) W3R &7, (0,k)

@R 8 X ST AR = S ok (o8 Y W SRS 638 (g @i = 3069 IEd
w$ws, k = /(0 — 1)2 + (k — 3)2

>k?=14+k?—-6k+9=2>6k=10=>k=

W

- 38b7 AT, X2 +( —§ = % [Ans.]
(b) f(x) = sinx tan 2x

f(x + 2m) = sin(2m + x) tan 2(21 4 x) = sin(2m + x) tan(4m + 2x) = sinxtan 2x
sinxtan2x € &% 21

(a) y = 4€* + 9e™* T TN [T 9 |

(b) i x2 — px + q = 0 FAFACHT T27 . ¢ B@,WﬁG$W@MMW|
AMMYH: (a) y = 4e* + 95y, = 4e* —9e7X;y, = 4e* +9e7*

3

- In _ 4™ 4 gg-lnd
X =In-=, y, = 4e "z +9e 2

y; = 0 T, 4e* — 9e™* = 0 = 4e* = 9e™* 3 .
=>y2=4><5+9x§

2x _ 9 x _ 3 _ 3[x 3]
DeX=ceX==-=x=ln=-|e*#% —-=
Al g ThEIR g 2

5y, =6+6=12>0
3 3
g, y, = 4e"2 4+ 97 =4 X 24+ 9XZ=6+6=12[Ans.]
(b) X% — px + q = 0 &% T o @ B | W Feefay ARaeera 741 x |
q q

N — a . —
"x_p-_a=>p_a =S G Py so?—pa+q=0

ﬂ(phg)z—p(p—%)q-q:Osa —2pgx + q% + pax +qx? =0

=x*q+pgx—2pgx + ¢ =0 =>x’q—pax+¢? =0 = x* —px+q=0

e Fifeu® tore fefet T

www.bdniyog.com Scanned with CamScanner




BUTEX &EgIIRF .

3
fadg <9 lim 2 14 ) 3 (-1) "
Lap L 2 (e il
z 4
in(1-2)--0#+1 07 = [im 2%
STT: lim—n—(—'i)"'z""""—_‘[o] x-0

7
SR R

1N =

(-136‘_%&?('2) )4
= lim 4 2

x—0

K Hospital]

1
_16413%1
= 2T = = (Ans)
2

27. @) J, X' gy @@ wm el 9

0 (x+1)?
1 3 cosxdx =01 ]
b) orane @@, [, x* cosx dX ~ ) i
(w) e g = 06 () [, =5 -1
@ Jo (x+1)? dx = J, (x+1)? 0o~ \x 4
(b) _f_ll x3 cosxdx

«f, f(x) = x3cosx )
@2, f(—x) = —x3cosx = —f(x) -~ A Sl 12 f_l x? cosxdx = 0
28. (a)x+3y—8 :omrcwmww@fmmamwmﬁwwmwl
(b) 'director’ oz fefs Ryt < ATe TET Fefefd gAY A A |
AAYE: (a) @me @A, x+3y—8=0........ (i)
(ii) 7 @7 A @ TR, X + 3y + k=0 ... ....... (ii)

(i) © (i i) @9 TGS vy 3 9 T, |ﬂ~

| =32 k+8=43VI0 > k= —8+3V10
~ 8%, x + 3y —8+3V10 =0 (Ans.)

(b) DIRECTOR
s af 8, et 3, et 5 ; cuiB: ey = &
2!
Pl 93 AiTg e Reyer, 41 x
21

EnCaciian tﬂmmtﬂa{o{w’ %_ 41 5 5!

= 18720 [A
2! ns.
29. (a)7 veos = ucosd 43¢ v2 sin2 g = 2 sin @ — 20p |
T 4BN T NI 3y 2 eni?

®) Wumﬁ’fmqthWWI%mm | e 2

ALY (a)mmm"cose=ucosa. | V (PT2AIe = | et v Cq,:—:;-z—z—;

vZsin? 0 = u?sin? g — 2h = 0gn. W

() + (i) = v2(cos? § 4 g2 ) u2 ----- (if)

o 2
Hve= u? - Zgh (PI’OVcd) (COS 0 + Sin2 B) — 2gh
(b)s=ut+-ft2 =1 = 4t , g2
z v =1 =4 T it
= Y-u
vy (Proved)
s FAfEQ® tore fefen T =

www.bdniyog.com
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30. A ABC @7 CA @R CB Mg 337 i WQE:OSA

sinC @WT\WF_WWCWTW s(C+B—A) qm=
FHAY:

oY 3 AqHE
cosB @3 srpeirfess | A T @, SR A

(C+A B) et frew =z |

C

P=KcosA 0
R

A * B
R? = P2+ Q% + 2PQcosC
Sl AR, R? = k2 cos? A + k2 cos? B + 2k2 cos A cosB cosC
= R? = k?(cos2A + cos?B + 2cos A casB cos C)

Q=KcosB

= R? = k(1 — cos2C) [ cos?A + cos?B + cos?C + 2cosA cosB cosC = 1]

= R? = k?sin?C = R = ksinC

~ R « sin C (Proved)

T ¥4, R 99 7% CB @3 3112l 0 otet Seopy w2 |

~Rcos@ =kcosB +kcosAcosC | cosB =cos(m—(A+C) = —cos(A + C)
= K'sinC cos 8 = kcos B + k cosA cos C

= sinCcos ® = —cos(A + C) + cosA cosC

= cosB = sinA = cos (g — A)

o g AtBHC_ , _ AYBHC-2A _ B-A4C
2 2 2
. E¥ AN
SRR B :C_B;wc:zc B;-AC B+A rhowed]
Berafen: 8xe@=0

31. (a) I have bought a plastic brown new table. (Re-write the sentence maintaining correct order of

Adjectives)

(b) He replied to my letter without any delay. (Re-write the sentence using an Adverb in place of the
underlined phrase)

(c) What is the meaning of the word *“ Beckoning™?

(d) What is the Past Participle form of the verb ‘Stink’?

(e) Your driver is better trained than mine. (Transform it into Positive Degree)

Y ‘

(a) I have bought a new brown plastic table.

(b) He replied to my letter quickly.

(c) Pointing

(d) Stunk

(€) My driver is not trained as good as your driver.

B S 7 7 T T

”””” wrae fFftu® tore fefen s
www.bdniyog.com
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BUTEX S_IeT

32. (a) Read the learn. (Make it2 Compl
(b) You will pay the dues. .2 (Make a .
(c) John made me do the work. (Change it

(d) Write a correct synonym of ‘obsolete .
phrase ‘Bad blood’”

ex Sentence)
Question Tag)

nto Passive Voice)

(¢) What is the meaning of the
SAYI:

(a) If you read, you will learn.
(b) You will pay the dues. Won't you?
(c) I was made to do the work by J ohn.
(d) Outdated

(e) 1 feeling

33. (a) “Entering the house, a horrible smell came out.” (Name the type of modifier of the underlineg Phr

the sentence)

(b) Do you know the solution the problems? (Use appropriate preposition in the gap)

(c) No sooner had he reached school ............... (Complete the sentence) o

(d) Faced with a financial crisis, they were bound to sell their car. (Make it Compound Sentence)

(¢) She enjoys painting as her father did. (Name the type of underlined clause)
HAYI:

05
(a) Dangling modifier

(b) Do you know the solution to the problems?

(¢) No sooner had he reached school, than rain started

(d) They were f: ' W

Y aced with a financija] crisis and therefore the
(d) Adverbial clause Y Were bound to sell their car.
34.

; lin
‘ will there ig A ed word?)
(d) What is the correct translation of t“--—-q ay. (Use

. :
PPropriate Articleg in the gaps)

he se

(€) What Mashrafee p; Ntence 9 “Stgeh

n MOrQaz Sl

. G I e TECE”

18 loyeq byall g
(b) Adjective
(¢) Where there 18 a there is

(d) What did the bear Whispey ;
(¢) Mashrafee Bjj, Murta o you, ear?

ent pj
N ¥

if she wpq stil] hung

2 way,

wae Fifeas tors fofen Fws
www.bdniyog.com
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02.

03.

04.

05.

06.

07.

08.

09.

10.

BUTEX SR1IS®

B gggg e
. # -
k. ol 3

S P i
BUTEX ADMISSION TEST 2016-2017

Physics (MCQ)

2ms™ G BTG 4lcg ST D 78, FRefeqE ST @ 100N/m ek & ST AR T Ak 21 P
A AL -

(a) 0.4m (b) 0.Bm (c) 1.6m
FAI: (2); IEH 7S Ao Ferrg ot =7

irnv2 = %kx2 S>x= ’mTvz = r:‘oz: = 0.4m

&% ¢ e AT Swe! Mo Ty ATHRGRE qio S A1 25 S I @G @RiE?

(a) IS & (b) AT S AL (c) IrSHT Y (d) 38 TS “Aea
FAYI: (b); SINAR T 21 FTH (41T, IS ST TG | ©IF AT RO FRRAT AT |
a6 warr 7o R it Ay ~ 2t o1 st w2

(a) i- (b) % (A (d) 21

w:(a);:ﬁﬂﬁ%—l o o) A = 2

4

(d) 2.0m

G =T GIrST Sf%R FAEIZ B 440V — 60A 5fEs a1 Witz TF #1124 @@ el 1.2m 75 @F s oiee
CFEGE 9 F97?

(a) 1073T (b) 107*T (c) 1075T (d) 107°T
AT 0 B = 2k = 0 < 1077

g6 Toiar RIA o g e TR | @fbTs SHIT SISt 2 @9 #IfS SIS 23

(a) 20% (b) 30% (c) 40% (d) 60%

SR (c); AT rer g fTd e v = /gR ; S A1 20 WIS @9, ve = /28R
- oS qrBITS 7@ = Jz—_g—‘;@x 100% = 41.42% ~ 40%

JeR
G0 S 22T X FAE Y km @32 *RS! Y 5 X km @1 A1SI0e 719 wfe T97?
(a) 60ms™1 (b) 60kms™* (c) 60mh~1 (d) 60kmh ™!
FAY: (d); W6 X+ YRGB I X+ Ykm = "T@Er@:i—:—:kmmm"l = 60kmh™?!
55 SBTEa Woay @3B b et g2 GUAR TG W G (SFADA T A (STARIA TR (IR -
(a) cos™* G) (b) cos™? (— %) (c) cos™t (— i) (d) cos™? G)
FAYA: (c); eTS, (2P)? = P2 + (2P)? + 2P.2Pcos® = cos 6 = — = 6 = cos ™! (— %)
@B ©% (A9 66304 T =& T©7?
(a) 1.6 x 10719 (b) 2 x 10719] (c)3 x 10719 (d)9.1 x 10731]
c ,63x10™34x3x108 =
W‘T:(c);‘@ﬁ-‘;—=%] =3x10°19
@ O @B ©e e U | 8% 15T (At 1000 6 @32 36 it tof 91 T | FAF0 (FIIE (WiE T 2
(a) 1000 U (b) 100U (c)10U (du

A (c); 1000 (RIG IO SIS 1 IG CFIBT SASCT A |

R 2
1000x4m| —
% 1000 x%nrg =§nR3 = R=10r .« (6 SoHf&a SFAS = poooxan(sg) _ 49

4mxR?
Ofbead qafs 717 it a THACG @1 RS BT CHaa W 767 [Ans: c]
@B = () B =2 (c)B =Lt @B =t
) wrae Pifea® tore fofes s - —
www.bdniyog.com

Scanned with CamScanner




. o E (D
BUTEX S01s pr— st
11.  @3f5 3m T i Faw Ared 99 4KE - (d) 12 kgm™2
_— (c) 4 kgm _ 2
\54}{ i ®) 12 kgm® e :ix4><(3)2 = 12 kgm
(a) 4 kgm o WOTDd OO SINE = 3 3
STRIY: (b); @B AT —- (d) TSR faFr
12, O G <o QRO Ao T I () e
(a) IS (b) T «f forg et R AW AT
TNY: (d); Torefe fFat S Wqﬁq@wmwgwm? kL
13. 4.5 x 10%°kg ST 9P T FRAA IS (c) 8.5 km @
(a) 4.5km (b) 6.7 km
FA: (b); R = 25 = 6.7km AT T T T2
e e 455 4 100x = 0 T 4F \ '
14. 71 2fS #IfS 1 (1 IO IRl AN 4 ¥ (d) 100 rads~*
ds-1 (c) 5 rads
(a) 2rad s™! (b) 4 rads & rads—
2 2 5 = =9 Ta
Wﬁ:(c);437§+100x=0=>373+25x=0"“’Zﬂzsﬂw 2
o PO T
15.  «ofb forew afermans v2 u3k geew R @ 30 W?ﬂmq (d) 40°
(a) 70° (b) 60° (&l
in Atim m A i En_-l = p
STAI: (b); ST G, o= 2 Einé ) vz = cos () +C°t(5)s‘“(z) pail
16. 1 mole MICT SN 0°C (A 200°C JITITS FITST AT 204
(2) 77 (Zero) (b) 573 x 8.3] (c) 1660 ] (d) None
17 100kg ST SI1@T 100°C G € & T ASTa? [ oA Bisf — 0.389°K] /kg. K]
(a) 5.33 x 10~11kg (b) 4.33 x 10'%kg (c) 4.33 x 10~ kg (d) 6.5 x 10~ kg
FAI: (No correct answer): SIS ATITET TET O IS T 7
18. 1 coulomb 51% Fefb ZramGrea sy ?
(a) 300 x 10# (b) 9 x 10° (c) 6.25 x 1018 (d) 6.03 x 1034
T (c); 1 6 JeTRGTa 1% = 1.6 x 10-19¢ . 1 coulomb = 1—;(%_—1‘_; = 6.25 x 1018
19 @f6 2fem 4500) ©r ettt AR 2500] ST TN T | TS Sifsrey Fo?
(@) 1000] (b) 2000] (c) 7000] (d) 1000]
TH: (b); e =iy = e ot — fF wyet = (4500 — 2500)] = 2000]
20. 436 T 9B FirSey B 9T TN 100 2teT « 9 T 6 g2
(a) 1.01 (b) 1.00 (¢) 0.99 () 0.01
Ly o B 100 _
TTAIA: (c); a = 1~ 1001 = 0-99
21. aﬁfﬁmwskgaa:@mwmﬂwmﬂ%aw Gl
q 30(3111] 2 7
(Torque) &A1 Frw 2792 3 Tads™ et 3% re ww i 5
(8) 1.62 Nm (b) 1.8 Nm (¢) 16.2 Nm (d) 18 N

22,

TANE: (a); T = [q = MR?a = 6 x (0.3)?x 3Nm = 1.62 Nm
aﬁwqﬁmm@w% 2: 1 oy

76 PifEa tors fofes s .
" E’fv?w.bdniyog.com Scanned with CamScanner
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25.

26.

27.

28.

29.

30.

31.

32.

33.

34,

35.

36.

(a) 0.1Q " 1 (b) 0.20 (c) 0.50 (d) 10
FHI: (b); 2041 1+0.01 =r=020

Al COTER I Y 40 et | 574ef e 2rw < w7y #11o1z2?

(a) 40 days (b) 400 days (c) 4000 days (d) infinite ti

) infinite t
FAYI: (d); COGEGFT *miedy AT IS oz -~
2AfSHATIT AN & D i =z 71-
(a) i (b) &S (c) FE (d) Sty

FAATI: (c); TR FAE T AfFas e “AfafFs 27 =1
GFTo (AT Wi%a FfAeoa S5 iy 18cm 20t = elifrs ke @l-
(a) 1.88 X 10~*ms™! (b) 3.14 X 10~*ms~1 () 9.67 X 10~3ms™1 (d) 0.58ms™1

2
STYA: (b); v = 60:50 % 0.18 = 3.14 X 10~*ms~?

@3B AN TR 2AfSA1% 1.6 W2 ITFoig THE 60cm T AG 67?7

(a) 50cm (b) 100cm (c) 200cm (d) 96cm
TR: 0); 1= (=D (F-2)=2=16-1)(Z-21)=f=100em

(B TSI Bl I JAFT S, 25w, A1 '8 G | 97 @Y 972

(a) 3400Q + 5% (b) 4300Q + 10% (c) 3400 + 10% (d) 3400 + 2%
AAYIE: (a); 1Y = 34 % 102 + 5% = 34000 + 5%

@375 TEE B 20O 30m Bf (T T orem 2| I sifeefe e =i faea?

(a) 15m (b) 20m {c) 10m (d) ofire

W:(c);inmvz=mg(h—x)=>2x%mx2gx=mg(h—x):2x=h—x=ax=10m

C3HgO G T7M FI 7217
(a2 (b) 4 (©)5 (d3

OH

| _

FYE: (d); (i) H;C — CH, — CH, — OH (ii) HsC — CH — CH, (iii) HsC — O — CH, — CH,
ZERT ST THTS TS (@IF Qe AR F? fAnssa)
(a) BTfACEE (b) SIS (c) ST (d) BT
TNl YT AT I 52 |
(a) =T ffEre e (b) 3eittx fifEre 3= (c) «rtEaReE ff¥e = (d) None
T (c); Frarze fifdre qee fre Afmend g 21
s s et sersfer () e 31 eifire war =12 [Ans: b]
(a) NaHCO, . (b) H3BO3 (c) 3Tt #AIf (d) 1% CH;COOH solution
0.1M NaOH %o/ 991@l ppm GFF F© I?
(a) 40 ppm (b) 400 ppm (c) 4000 ppm (d) 1000 ppm

SYH: (c); 103g Beet famris 0.1 mole = 0.1 X 40

= 10%g et fwre 0.1 X 40 X 103g = 4000ppm
s 1 AEIF . T TE (@02
KI’ 2S03(g) " 2502(8} Oz(g) 3 Kz Kl Lﬂa\ Kz ﬂa H

2
(d) K, =;{‘1

1 . .
S0z +3 020 = SO3(®);
1

1
(a) 2K, = K, (b KE = © K} =1

s fvus TS Tofet FeFas
www.bdniyog.com Scanned with CamScanner




BUTEX SITRF

A (b); SO, +3 02 5035 Ks srtfar AR FS?
250, = 250 + 023 ;}=Kz - Hciwmm (d) 250 mL
0.
37. 250 mL 0.5M HCl &3 J<T¥ A 100mL (c) 100 e 5, =01
(a) 20 mL (b) 80 mL _ 100,V =7,5 =0.5,72
W: (b), Sjvz = Szvz = ""1 =20 mL I VZ o '
oiferg #{ff = 100 — 20 = 80mL @5
38.  0.001M NaOH &3 pH ¥97? © 11
@3 b) 7 |
FRIYH: (c); pH = 14 + log[OH] = 11 (&) HaS04 [Ang, q
39. “Qil of Vitriol” is- - © Hel 2 3
(a) HNO; (b) H3PO4 T @07 ns: g
40, iR @7 14 electron fbu o7 BTef0 YT AR n £ m S 2 i 1(1; ; |
n € m s n £ m S () 0 +1/2 3 4 e 3
30
@3 2 41 +12 ®3 1 -1 -1/2 [Ans; g |
2N I9ge W7 S
41,  (OTET LOTTE RGO & (PG 2OITP (d) Ni g 4
(Q'ﬂﬁp‘ﬂ'ﬂm |
(a) Pt §f (b) Fe & {Ansl
42. IR i o167 FTa? (@ Al s-ﬂ]j
(a) C,H, (b) CsHi206 (c) H— CHO ;
43, N,0,F 97 feor g =fea 7l v @i ? o i
@N>0>F () 0>F>N (F>0>N (dN>F> )
A (b); N*(7): 1s% 25 2py 2py, 2p; E!
0*(8): 1s? 252 2p}. 2p} 2p} !
F*(9): 1s? 252 2p? 2p} 2p} )
0* -3 p-orbital w4y 263t 0* wfiwes ffeNa g -~ 0F > F > N*
CEi ,
4. (0N, —50=0)=0 + N0, + H,0 Rt e Wi oo (Ansioll
4 (a) S K,Crz0, (b) 1T KMnO, (c) H,0, (d) HNO,
i :fréﬁﬁ) c&nﬂawwmﬁﬁmmﬂwcﬁﬁ&ﬂﬂm? [Ans: ]
. o Sl oy (d) SrFafers '
46. 200 mL 0.1M Na,CO; T3t 7% &I Na,CO, Wirg? afre
(a) 2.12 mole '
TARA: (d); A = 0.2 x 0.1 mole = (d212g

0. ”
(H1 iy * 2X%0.1x106g = 2.12g

e Bgw D2, oHcH
4 165°C B 0 + Zno +H
Rt ey waa? Oﬁm”iaa‘“ﬂ@‘m@ﬂ%i‘@ﬁmﬂmﬁmw
(a)A
(b)B

AR (c); Alkene EleEancic i ©cC
8. AT TR O e vy W;Wﬁﬁm o
(a) HNO,

BUTEX ZE<F

(a) Chlc
Y-

55. fa=
(a) Al(s
FATYI

56. CFEH Al
(a) Cm

57. 0.5mga
(a) 1.5

6l. (2,3)
(a) 2:

62. t=i

63. The:

64, —g.

(b) HI
49, H 4.
:fzzcj; f«m 2F Ry 21fEe e STP (& @(c) KaCro, (d =
W'. (a); 1 mol fo AL (gﬁﬁ o e Q‘;"KZCFZO? I.
0. 5,004 [2,__, I‘-]:iil;z ;EW 2F =Mt wrg STP (% 1 C)Clz]:];_i (d) :28]_,
@2 4Ug (z?mw 5302‘;- 22.4],
YL (a); . e mﬁqo
) eI T 25,0 + i = 21- + S(C)zﬁ 5t o [Ans: 2
" o
B ’fﬁﬁ'ﬁfcﬂq
Sy
Femer Moty
s ffea® rore fefed T
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1
i

54.

55.

56.

57.

58.

59.

60.

61.

62.

63.

64.

e Wﬁ@ﬂmcﬁwmcﬁmﬁwp ) mewmmw?

{a) BF3 (b) CF, (c
) NF; (d) OF,
coAfBwTe =g ::m T & Teom e ol
(aa;ft: cfrim:l Wms;gw 0 ey i
B ' o wR | Gafs vgd ~ir wfys | ciefbe adis 52 (Ans: d]
(c) As d)S

PP IR 24 SAWIT Z=- i
(a) Chloropicrin (b) Phosgene (c) Chloriton (d) Methane
AAYIA: (a); @APIEFF: Cl,¢ — NO,
G AFTCTLER I G @i Faeer 3w e sirewr wita?
(a) Al(s) (b) Cu(s) (c) Fe(s) (d) Sn(s)
AAYIA: (a); fETe= ow Al & =l
I qIgre 4f SREt 5f Sefarsitg 5 a37? [Ans: b]
(a) Cm (b) Cu (c) Am (d) Gd
0.5 mol CO, ST SHCSH “fa=iega AN 97
(a) 1.51 x 10%* (b) 3.01 x 1023 (c) 6.02 x 103 (d) 12.04 x 102
HAIYA: (c); 1 mole CO, (S O 2N 2 G
~ 5 mole CO, (S O =1 1 mole = 6.023 x 10?* &
AT G (7S Q5 et e siasrwe e WG ? [Ans: b]
(a) *l15 HNO; (Cons. HNO3) (b) g HNO; (Dil HNO3)
(c) e H,S0, (Conc. HzS04) (d) 71g H,S0, (Dil H,S04)
@I Gl SN (@T=ieT STepiael Fd?
(a) CH; — CH, — Br (b) CH; — Br (c) CH; — NH, (d) (CH3); — CC1
St (d); 3° Alkyl Halide SN* Srepee S|
Ae5a @B TR FIGEH FH? [Ans: c]
(a) MgCl, (b) AlCl; (c) SiCly (d) NaCl

Mathematics (MCQ)
(2,3) @R (4,5) Regac e @ (3.4) Rere @ Siis Ree 20 ol &
(a) 2:3 (b) 4:3 () 1:2 (@3¢
ST (o) S = 3 = (=

+i+ kﬁaﬁxwmw—mﬁwﬂm?
- i _ 2

(a) cos™* (%) (b) cos™* (%) c) cos™ (_ \T’_i) (d) cos™ = (ﬁ)

N (141K Y
W:(a);cos{}:%:%:e:ms i(ﬁ)

sin 5x—sin 3X .
—— ls-
The value thm sin 3x—sin 2x
(c)2

(a)3 (b) 0
= sin 5x—sin 3x = 5 cos 5%—3 cos 3X Hos ital
W: (C); le m ll_.o 3 cos 3x—2 cos 2X [Usmg La p ]

—8 — 6i 3 T FO? |
(a) £(1 + 30) (b) £(1—30) (c) (1 + 2i)

HAMYA: (b); Option test

e Fifea® tore fofes Fwrs
www.bdniyog.com
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BUTEX SIIR®

66.

67.

68.

69.

70.

71,

72.

73.

2
_8 _5sec h=38" =2

T (d); vE=x= =T i e
‘qﬁxz_px.}-qzowwu‘Bw’
®)x2-px+a=0

@@)x*—gx+p=0 q
STNGEA: (b); ST, o+ B = p AR aAB =0 *5-g ™ wrp-a

- AR = x* —px+4 w13 <1 AR, AT 2 : ;,:__
+permutation” e 2ot e @ wwwe o 4P yegrad A FOUTE X R ?ﬂaﬁﬁi |
TYIFIH ACE (@135
(a) 155 (b) 105 (c) 180 o

_ 5
TR (b); o T = 5 B, b e = 6 B A T 2f5 « GG W = Pzi
y=3x+1mﬁy2=4axmmsﬁwﬁ$w,W@Waﬁamw.

(@8 (b) 10 (c) 12 (d)12.5
T (c);y = 3%+ 1o (); y2 =4ax ... (i)
~(Bx+1)?=4ax=>9x*+x(6—4a)+1=0........(li{)) and 3 = g [G1& FE] ... (iv)

=a=9x :.x=§ anda =3 . y? = 4ax = 12x - THHUS AFA A7 = 12 .
AFD FUR TG AT ARE (AR 3.5 G #{T7 OF AW AR ST *13% (NI (Ve | *I037a (qof 327 /6.

A FUR OIS F6? ;
(a) 59.6m (b) 56.9m () 65.9m (d) 69.5m |
. (b): - TN N 2h  h i
FAYE: (b); ST, 3.5 J:+327 ~h=569m (t‘—— ?-l';) ?
—a? ab ac |
D=|ab -b?2 bc|ZED 9T TS? |
ac  bec —c? ;
(a) 4 abc b) ab :
» (b) abc (c) 4a?bh?c2 (d) a2h2c2 L
AN (c); D = iy abz g S . =1 4 :
4 sU=1ab —b bC = abc a —b cl|= aZbZCZ 1 ‘i
ac  bc —¢2 av 'y g 1Tl 1= da?b2e
Y =x*Inx @ xy, =7 L
e (b) 3 (c)2
w:(c);)’——-lenx;ﬂyl=2x|nx+x:yz___Zlnx+2 (d) -3
y2=4x?m=naaay +1=>yg='_:>XYa“

=wawmmmo x

(@) sq.uni
3 59. units (b) 3 5q. units

B
(€) 7 sq. units b it
W: (C), A= f: 2‘\f>-(dx -

4 4, 3 24 y
Jonde=[Fo0i - 2" < o -8 i
COS X—~cos 2x ’ ’ il ;SQ- Yl ¥
1-cosx dx =?
(@) 2x + sinx + ¢ (b) x + si
sinx + ¢ (
. ~ ¢) X + sin

FA: (d); JEny [ 2singsinis o 23‘: +c (D) x+ 2sinx 4

f( —cosx ZSInZE dx = f's'i‘r‘l'ﬁ‘ dx = IM i
=J(3 - 4sin?¥) gy — z ing X

sin 2) dx = {3 - 201 Sing

—.COSX)}dX=x+ 25il’1x-|-c

gfﬁaf _ |
s Pfeas e RRB  T
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74.

75.

76.

1.

8.

79.

80.

81.

82.

83.

84,

8s.

x2(1 +x)® @7 f S x° qq 32t F?

FAY: (2); x*(1 + x)° @7 RPoT® x° 97 @1 o7 @73
30 (A0 40 1T A TS @ @1 G MBra TSR IR T, TS G 1 5 @ offes e AT F97?

x+§mwmmﬁ‘?

T (<); () = x + = ;
SX=—-1%0F

1
l—x'—zﬂ}{::tl

Sz <0 - f(x) 99 eFAH= —2
x? +y? — 4x + 6y + ¢ = 0 I8 x-IHF =M IR | ¢ 9T T T2

TN (2); 8 = =2, X-THF T, c=gZl=sc=4 .

1+ m19999 NS mlSSS? =7

TAY: (2); 1+ 0199 4 wI5557 = 1 4y + w2
2f(x) + 3f(—x) = x* — x + 1 A f(x) 99 T $9?
(0) 3x2 —x+1

FANIE: (2); 2f(x) + 3f(—x) = x% —=x + 1 .o oo (D) = 26(—%) 4+ 3fX) = x2 +x+ 1 ......... (i
“)%2— () X3 = =500 = —x? —5x— 1= f(x) =1x2 +x +1

tan2xtanx = 1 T x G99 99 F97

1 1 1 1 1 1
a)=x>+x+- Lo 1 lez 41
()5 5 (C)J.Sx X+13 (d)SX s 5

(c) 2;f1‘rri§ (d) 2m'r—g-
AAHIA: (b); tan 2xtanx = 1 =

x+y=0,x—y=0,x="7 @@ a1 e fagres @ td foad z=?
(b) 60°,30°,90°

il
=1ﬁ»tanx=i—3-=>x=m'r

oA

(a) 30°,60°,90° (c) 45°,45°, 45°

AAYIS: (d); CFITSTAT TR 45°, 45°,90°

C
4y —3x = 3 93 3y — 4x = 5 @ 1267 TWTS FARIR AR G37 e @RG?
b)—x+y+2=0
MY (c); 4y —3x—3=3y—4x—5=2y+x+2=0

ABC f&Igt& a = 6cm, b = 8cm @32 ¢ = 10cm A cosB 97 NiF F©7?

@x—y+2=0 ©x+y+2=0 @x+y—=2=0

2402 p2
W:(b); COSB=aT=>COSB =§

936 3@ @™ 24° it Teop I | I JeET T 49 5T 2 w2 3@ TR cva v9?

(a) 125.72 sq. meter (c) 123,72 sq. meter

(b) 124,72 sq. meter

. (d) 122.72 sq. meter
STAY: (a); CFAF = —o X 70 X (%) m? = 125,72m?

sin10°  cos10°

_ €0510°=+/3sin 10°
simn 10° cos 10°

FAY: (a); —

- 4(sin 30° co510°~cos 309 sin 10°)  4sin20°
25in 100 cos 100 _ .

wrae fFftu® tore fefen s
www.bdniyog.com
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BUTEX &g

—13 1-tan"0 o ST F97 16
86. B=sin'-FA——_4 . (©) 5
@2 O

1-tan?@ _ 7

3 .l B_E.-_tane_—_%-'-m 25 n 1

3|ﬂ|ﬂ|‘i.(b),5m T g “Owwﬁqﬁﬁﬁ (d)az_*za=_
@M ME x +y = 1 @RI x? +y? — 2ax =

2 =1
. (b)a? +2a = -1 e
a2—2a=1 o 19 = a
‘(*:NH‘(C)' x? +y? — 2ax = 0 78l (¥°F (a, 0) IR
T =amal-2a+1=2a’22a’+2a=1
i 3 )
«aF T
88. A [ f(x)dx = 6 T [° f(x + 1)dx ()0 ()6
(@5 (b) 7

= [ = [*f x)dx =6
T: (d); 4, x + 1 =y, O@T dx = dy -~ f31 fix+1)dx = fu f(y)dy fu C
2 (d); 4I9, x =y, - :
( GG 3 T QTR fomedt 20E Oitad TYITe] (Il F©
89.  STNNITA 73S TR A

(a) 0° (b) 45° (c) 60° (d) 90
FTAYI: (c); &TS,3p? = p? + p2 + 2p% cos 0 = B = 60°

9. P(A) = 4aRP(ANB) = S TETP(B/A) = F? 5
OF (b)= ©3 OF

p(A)

2
TR (0 P/ ) = A _ . _ 3

1
English (MCQ) |

91.  Select the pair that best expresses a relationship similar to that expressed in the original- VACCINE: PREVENT [Ans: d]

(a) wound : heal (b) victim : attend (¢) diagnosis : cure (@) antidote - Counteract j
92.  Tolook quickly through a book is an important study skill. [Ans: a] |
(a) Skim (b) Summarize (c) Outline (d) Paraphrase !
93.  The word ‘Shrug’ indicating doybt or indifference is associated with- [Ans: a] "
(2) Shoulders (b) Head (c) Forehead {d) Eyebrows |
94.  Find out the meaning of the phrase ‘Hobson’s Choice’? [Ans: c]
(a) tough choice (b) easy choice (¢) no choice (d) free choice '
95.  He would haye My support in a heartbeat, Here ‘heartbeat’ means. [Ans: b] '
(2) automaticaly (b) in no time (¢) naturally i

; d) imm;j
96.  Which Par of words js not Synenymoyg? L ‘minently " ]
(a) Comprehend, Understang (b) Disperse, Scatter [Ans: ¢
(c) Amiable, Happy

. (d) Endeavour, Venture
97.  Which of the following is the Correct

Spelling? .
(a) Ernbarrassment (b)E [Ans: a]
mbarasmen¢ E
98.  Choose the correct sentence . ® mbarrasment (d) Embarassment
a) I have Joo [Ans: b
((C))I IOOdet}(;red for;food doctor before [ mey you. (b) I'had looked for a goog doctor before met you ]
3 8ood doctg, before | | : ks
} 99.  The antonym of « Juvenile’ ;. ¢ T had met yo,, (d) Tam looking for 5 £00d doctor before meeting yoy,.
:
(a) Marure (b) Adujq S . [Ans: b]
100. Heisvexed OPposition, Oung
(a) to ®) with (o)at s [Ans: c] |
e wrS P ToITe fOfeD Feees

i Scanner
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01.

02.

03.

04.

05.

06.

07.

08.

09.

45 b “IFT 400nm Swr PTG Wiee Ty O 60 Y T X1 600 nm S LT TR @R
cea AfS A T FI?

(a) 40 (b) 90 (c) 60 (d) 50
- () 1.m_2 _ NiA; _ 60X400 _
TR ()i 0 ox Alm oy oM A2 600 40

20 0T € PO @i Fiferem RRugivem s | 2ZmeE o wEE GG o1 oifS *fE 1.5 x 105] 1 Fiffrena
ZIBTGITEH ST 519 2o
(a) 2 x 106 N/m? (b) 3 X 106 N/m? (c) 4 x 10° N/m? (d) 5 x 10° N/m?

2 5
TARA: (d); PV =JE= P = 2 = 2200 N2 = 5 106Nm 2

T <jfA ST e o7 @ 3 et iE R i oz AT O12E $F 2fted O 1 kg O GO T ZA?

(@) 11N (b) 2.2 N (c) 44N (d) None of these
. (h)- & — M'RZ _2M(R?) _ 2 ' 4 - /
FA: (D); = o = (3;{()213 =-=¢g'= (9.8 X %)ms 2=22ms? ~W=mg' = (1x22)N=22N
AR S M, T 57 014 A 779? [Ans: b]
(a) 1.2 M, (b) 1.4 M, (c) 3 M, (d) 3.4 M,

%@mmﬁ a6 FA[ @6 e -

(a) 0.173 myc? (0) 2 moc? (c) 2 myc? (d) 1.732 mc?

FNYIA: (No correct answer); (B *f& = ym,c2, @AMH y = —— = — ‘E - N5 *fe = ‘Emocz

o R
1— 1~-3

FROIAT ARSI CF@ (I AF0 A0F? [Ans: d]
(@) PT ¥ (b) TPF (c) PTi-v (A TPV

GFEH IR AT (OO (AT ST e Fo O @I (ea?
(a) SITCEa FACATT 41° (b) STRNCEA AATF 49° () STLRTF HACATF 0° (d) SR ACwa FATATF 45°

AAHE: (a);

8 =sin"t (2) = sin"* () = 48.59° - STIRRTF AT 1T = 90° — 48.59° = 4141° ~ 41°
IS Nr4ITH =11 6 (A WA @O Ced e (I 7er?

(@) Vg > Vy (b) VR < W () VR =Wy (d) VR = Wy
FAAYI: (a); e SICAR SRAGT @ A0 @1 G

1 3% Toiq F 397 &icae! e @0 30 V @t ifeiiet 2 eteret wol-

(@) Fv (b) F/V (c) FV62 (d) V/F

TAY: (a); P = = = 2 = FV

t t

wirs FIfeQ® tore oD Feres
WW-Deotyescom Scanned with CamScanner




12.

13.

17.

18.

18.

14.

15.

16.

W.' (c) :

DA=1

h (C) A : &l

== ¢ A @F

@r== (b) vﬁ% Sﬁﬁ?mm|Au‘]§G§Wﬁﬁ W”ﬁafwg%
A 'S B WIB! I GFE e CTLITe ]
= d) 450 Hz |
fg = 440 Hz. c) 445 Hz ( /]
By A 2/ ( } ¢, = 5= fy = (440 — 5)Hz = 435Hz |

B
T (b): A €% S T 35 T | TR, fa <
mﬁ@;ﬁﬂmemﬁw@mﬂﬂm@mmﬁﬁammwﬁﬁrq
(a) 1: 4 (b) 4: 1 Ehlre

e o = [l 5= |
G2 ofer RS g 3l IT TEIT (I (97 F00 M| e @ faee 20 STl A0 SEICE (S I8
AI?

(@) 8 (b) 6 (c) 2 (d) 4
TA: (d); @ fawe T o< sraed 201 wo9g, 4 5 oIS (o F908 AN |

T I ST e effi faew T oS Siger 23—
(a) I = 10013 (0)1, =% ©1 = @1 =3
E: (0); B, = 1010g (%) 4B, B, = 1010g (2) dB

B =2B; = IOE(‘E} = 210g(ﬁ-) =i= (,_1)2 =1 28

Is Iy

0 T (OB @ «F Rere fewrien S = T e @

(d)2:1

P M SR A T | coBaRRE TG
(a) 45° (b) 90° (c) 12
00
' d) 150°
FHYA: (c); p? = p? + p? +2ppco&:e=ocose———=>9-120° e
GFTT IRICT 200 kg ©Te7 475 @I 0.1 ms-1 @&
ﬂ%%mwmwm
(a) 19.6 W (b) 98 W (c) 196 W }5i
:ﬂ::(c}'W—Fv-mng—(Z@OxQBxOl)W-196W Sy
(a}K\quﬁﬁwwwwwwwﬁﬁ mac@wmﬁua q
i y 9 e et stiots T 242
(d) K2
TG (b): K
; v TGN oA, K, = V)
q=2XK - W%\W K+K=2K
5 ke O 787 B e
G
(896 N dowm . G e b gt 999 4 m/s? g

(b) 96 N upwards (€) 29 N upwards

(d) 29 N downwards
mg—F=m
a=a5><9,8—F=5><4=> F=29N upwards

e i‘mﬁmm

wrae fFftu® tore fefen s
www.bdniyog.com
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23.

24.

25.

26.

27.

28.

29,

30.




'20_ kg«mmﬁw 1K 3reics AT o T T
(a) 4200] (b) 2100 (c) 210] (d) 336000
SR (b); Q = mSAB = (1 x 2100 X 1)] = 2100] |

oy, faBTE e P:Q = 1: 2 Frrw frvge o =3-

(a) 16.66 cm (b) 33.33 cm (c) 50.00 cm (d) 66.66 cm
Stge: (b); i fRega s = (— x 100cm = 33.33cm

1+2

0o, @@ TR CTET SfYR TR TR 440V — 60A fofEe a1 =R %% FRA QLF ASt 1.2 m s @F Repre Gee

(FCEA WA F97?

(@) 1073 T (b) 107*T (c) 1075 T (d) 1076 T
Bl _ 4mx1077x60,. .

HAYH: (C); B_Zna WT—].U ST

23. 1 Tesla fToa (PIA G2

(@) 1AN"*m™ (b) 1 AmN™? (c) 1NA'm™ (d) 1 Nwbm™
TG (); F = 1B == =; @759 7O B 99 9F NA™ ' m ™
04, &fSi RGN SR [Ans: c]
(a)p="" (b) P =" () P="1 dP=1
05. 2D G7 qFH TEE @I 8 3.5 D G G (I FANAEE Gl el F© TA?
(@) 55D (b) 1.5D (c)-1.5D (d) =5.5D

FAYA: (C); Peq = (2 — 3.5)D = —1.5D
26, @3 we BifEreItaR 9 200 g G3R AFTE 10 cm. WO A FO?

(@) 2 x 1073 kgm (b) 2 x 1073 kgm? (c) 2 x 10~* kgm? (d) 2 x 10™* kgm
FAY: (b); | = MR? = 0.2 X (0.1)%kgm? = 2 x 10~*kgm?

27. nBi3e o ARER e Fwa @ 797? [Ans: c]
(@) ny = n, (b) np > 1e (c) np <ne (d) np = n

28, @@ 7F x = 3 cos(40t) ST 7T o “IfSTS IR, A x @ ARRIeY FBIH @R ¢ 47 AR GLFTE | <
A @ ms™ @ T©?
(a) 80 (b) 120 (c) =120 cos(40t) (d) 3 cos(40)
FAYE: (b); = 40 rads™!; Vimayx = @A = (40 X 3)ms? = 120ms ™2

20, 400 “ieE G O 4 ST SEe LAEA T 0.02 GEIR ©fee FIF TN 24| AR TIY TR SHA&E
TS?
(a) 0.5 Henry (b) 1.0 Henry (c) 2.0 Henry (d) 4.0 Henry
FAY: (c); Li = Npp = L = N¢B 400092 Henry = 2 Henry

30.

SITE U 1mm G TS @1y 48 X 10-Bn-mmﬁ-ts|mwﬁmamquﬁw @Y -
(a) 48 x 107® O-m (b) 24 x107% Q-m (c) 12 x 1078 Q-m (d) 6 % 1078 Q-m
STYE: (a); STARRS @Y SiEa TR BoE e s A

wirs FIfeQ® tore oD Feres
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BUTEX SIE®

_ Cl
31. e D 315 AR @ JRC T (c) NH3 I Sl
(a) forTa NH; ®) wﬁq:;;m sy iy 0 TE?
3. LS GRS TR A 1°,2°° 3 cl (c) HNO, (d) CHCl |
H 1
(a) HNO, (b) 200 3 sife e} A0S T ':
1Gf® IS FS cm
33. 50 cm® 0.15M BT &3 CEFTHAR & 25 L
- (b) 50 (©)
IR (C); Viniiat = 50cm? ; Sipeial = 0.15m
Venal =7 Sfinal = 0.1m » Y
; - L s = 25cm
* Vinitial Sinitial = Veinal Stinal = Voinal = 50:215 =75em” AR (75 SO)Cm
34, TACH TEPTRE T (RS *FCa?
(a) Fz (b) N2 (C} H-— F (d) HEZ
AL
lsc*‘\\
S: (d); e %‘:" .}—L He
.. et s
T
Tso
(R bonding @<k antibonding SRRGITET T 2% ZrRGH AWy,
mw — ho. ofbonding electmns—-nu.ufantihonding electrons __ 2-2 0
> ==
35. Al(OH); 97 wye! X X[ GRTS! ¢1l% 97 ’
(@) x* (b) 27x3
T: (c); 1\ il (d) 27x?
AlOR); = AP* + 304-
WW‘T: X X 3Ix
- BRIl o°l1g, K, = e
” K = [AB*][OH P=x (3x)3 = 2744
farmre fatas + RCHO — X5 X GIN 0o @opo
(a) o7 afire (b) 3° alcohol |
9 (€) 1° alcohol
OMgx i (d) 2° alcoho]
TRI: (d); CHM X + RCHO — R — C H0 |
U - I -H"‘_"R*C-H+M 0
a7 ﬁ’@ﬁﬁwmm CH, o 8(0H)X
% H,S0, @3 #fiqre "
(@) "1y Hey (b) %15 H. po mﬂﬁ@wwwﬁwﬁu
38. TR R Hesg mw:w‘;as (¢) 1% Ko, (d‘?" 20 oireq2 [Ans: b]
(a) 21 MU HNO,
(b) 214+ 1 Ay
39, FAt57 s fsary (©21-4 b [Ans: b]
T (d)21-2
B ];z,;a o P [at constant m] (b)C = (RT/3M)3 ©v [Ans: c],
: QVPIRE Ty oy OV T [at y
(@) C;Hs ~ NH, (b‘:"':TC:TE:m TR T o TaP] ()R = =
6
TAYE: (c); e memsumzﬁ-q 5o (c) CeHg — NH
cﬂmmmm’iﬁ?@:wmmc;m i ; e
A wﬁ”@l’%mm% RARILCE I
RARCIER o 1
ST Wewn *IRiSery

wrae fFftu® tore fefen s
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42

43

44.

45.

46.

47.

48.

49.

50.

51.

52.

583.




~ BUTEX SIRT

T SRS ACRR T4 (FATBA IH TS

?

(a) Naz0 (b) Al,0, (c) Si0, (d) FeO
42. 1000 mL 0.1 Na,CO; T4 &S TS TS &1 Na,CO, STEH?
(a) 106g (b) 10.6¢ (c) 53g (d) 5.3g
FRYE: (b); S = 0.1m; V = 1000mL = 1L

- nNazCOa =VS =0.1mol - mN“CO;, —] “Nazms b4 mNazCDa =0.1%x106 = 1063

43. 28 SN TR |32 142g G o™ RrereR @5 5191 12 atm | T @ e TGS MR SPHE b19f 392

(a) 8atm (b) 4 atm (c) 6 atm (d) 2 atm
TE: (b); ny, = E%mol = 1mol; ng, = %mol =2mol ; Pota = 12 atm
nN 1
* PNZ = I'I.N2+:N:lz Ptota] = E A 12 atm = 4atm
44. SF, LS S @ GFIH G FA LHIR? [Ans: b]
(a) sp*d® (b) sp3d? (c) d?sp® (d) sp?
45. 0.015 M CaCl, BIT99 ¥9/&l ppm AFCF 97
(a) 1665 (b) 1600 (c) 1650 (d) 1690

TY: (a); S = 0.015M

= 1L 9 CaCl, ™T% 0.015 mol 3, (0.015 x 111)g A, (0.015 x 111 x 1000)mg I, 1665 mg
~0.015m CaCl, = 1665 mgL™! CaCl, - ppm 9FF 1665 ppm CaCl,

46. fAroa R AR BIere *mid? [Ans: d]
(a) H,S0, (b) NaOH (c) CaCO5 (d) K,Cr;0,

47. o Ree EeEfede e [om @Hb Sy =02 [Ans: ]
(a) Benzene (b) Benzoic (c) Toluene (d) Benzylalcohol

48. @M E@WIGIATRITS #iif ¢ e St saE vl T IR w6 7 [Ans: d]
(a) GC (b) HPLC (c) GPLC (d) TLC

49. JTRICE SF ALFS CoH,, 0 afb 52 [Ans: b]
(a) Aldehyde (b) Carbohydrate (c) Acid (d) Estar

50. =i AR I J TS FH (167 ACR?
(a) s-block (b) p-block (c) d-block (d) f-block [Ans: b]

51.  1.5% NaOH %3t4d pH ? ' '
(a) 13.57 (b) 14.18 (c) 12.62 (d) 13.21

FTAYI: (a); 1.5% NaOH FITIH &,
100 mL %4t NaOH ®TZ 1.5 g 1000 mL ¥atet NaOH ®ITg 15 g A, 22 mol , 0.375 mol

= pH = 14 + log[OH"] = 14 + l0g(0.375) = 1357
52. Br,/KOH; 43 el @M anmfAe Ritras 39ge a3 =

[Ans: c]
(a) Wurtz reaction (b) Willson reaction
(c) Hoffmann degradation reaction (d) Friedel Craft reaction
S3. o e BB orarm?
(a) C,H4O0 (b) C,H,0 (c) C4Hg (d) C3HgO
FAYHE: (d); CyHeO
o OH

[
CH:;%:”E__‘ CH; = H,C = a‘W(:W — CH,4

wirs FIfeQ® tore oD Feres
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BUTEX ISE

(a) HCIO, (b) HCI

TR (a); HCIO, @ Cl & W T T +7! @@

55. faea oM e oA? = () T
(a) Lithium ion battery  (b) Lithium battery ()

56. wmﬁﬁrmmmawmﬁ? - B
(a) time™* (b) L.mol~%, time™* (c) mol. L.time )

1

T: (d); U R o @t = ko (3 §TF k 97 49T mol L™1time~
57. 2 — RSO STTARERIGT 16w T~ (Ozonolysis of 2-butyne gives-)

i et (b) Propanoic acid (c) Acetic acid (d) Butanoic acid
79\
‘ e L — 2CH, — COOH
NI (¢); CH; — C = C— CH;3 + 03 = CH3 (|: (|: CHs Hz0 é ethanofc acid
0-0 (acetic acid)
58. 298K SIoNI@Ny “Aiffa Safie evwew W F?
(a) 1072 (b) 10715 (c) 107 e
F: (€); Kw = [H*][0H"]
At298K,pH = pOH =7 - [H*] = [OH"] = 10~7 ~ Ky = 107 x 10~7 = 10~14
59. HCIO, 9 Cl 97 T Hexjt To?
(a) +8 (b) +7
(c) +9 (d) +2
Wﬂmﬂ:(b};ﬂgl—); -'-1><(+1)+1><x+4-x(—2) =0®x-7=0 .x= 47
60. C¢HsCHO wYrw g % I
ne Wrﬁ;? e (B2 ) 5
i o -
o (c) (d) 1 ]
L “
AR (0); CeHsCHO —» BG ~ ~ GH |
HC_ CH ."
‘\CH/
a I H (73 |
61. i e fifir erpret R
(a) 11111?;2015 N - ! |
1110 (b) 01111011111 |
(©) 11110111110 |
(d) 01111101111 ﬂ

e Pfeas rore fofen sw:
www.bdniyog.com
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gUTEX SRIIe®

63.

64.

65.

66.

67.

P(ANB) =3, P(AUB) =2 @3 P(A) = L 2w, P(BY) =2
(a) (b) 3 (c)3 (d)
F: (b); P(AUB) = P(A) + P(B) ~P(AUB) = P(B) =P(AUB) + P(ANB) —P(A) =2+ > —2=2
.-.P(B°)=1—P(B)=1._§=§

5 an Rgfers ¥ oW

wmiN

5 2x
(a) %cr X% (b) — °c, x 22 (0) = "ce X 7 (d) %cex 2
s (d); 7" o = °Cq () (-2)° = ce 2
@3> I§ T 3ms™, 7ms ™! @3 8ms™! @ fFHT I AMEY TH I | IIGT @ FUOW @ 20A WS I
fAfa =z
(a) 90° (b) 180° (c) 160° (d) 120°

3
e 9 ° A\
:7 N9
8

ARG @ ARE B I, qie a1t 93 g 49w 7891

2 2_m2
cosaz%’—&i—ﬁ a=60° 0 =180°—a=180° — 60° = 120°
1
JIxldx =?

(@) 2 (b) —1 ()1 (d) 0

T ();
: //////,, =

(-L,1)
1 o 1 1 _
I Ixldx = QAP AR (FAFA =X 1 X 1 +-X 1X1=1F%
.l 0 1 Nt P T O
Reot: [ xldx = — [ xdx + [ixdx == [S] +[5] = +i=17faws
3
Wiy = x2Inx 7, O T @7 T T2
2
@ -3 (b) 5 (©) -3 (d)2
2
Wz(d);y=lenx;93;2x.lnx+x2.l=2x.lnx+x;1-;=2x.3+21nx+1=3+21nx-f!xi
dx x__. s dx X Tdx3 T x
ABCDEF «3fb 7[&7 g% | AB + AC + AD + AE + AF =7
(a) 3AD (b) 2AD (c) 2AD (d) None

[AB + AF| = 2AB cos (*2~) = AB; [AC + AE| = 2ACcos (%) = V3AC
AA AB  _  AC _1

BC a, sin30° ~ sin120° = AB = ﬁAC
W.Mcnq,—“‘:_—-ﬁ—=>Ac=—?AD

sin60°  sin90°

AB+EE+E§+E+A_F.=(AB+\/§AC+AD)%=(%.§+\/§.?+1) AD = 3 AD

wrae fFftu® tore fefen s
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68. i xPyd = (x +y)P*I WO 5 =7 d %
() A

dy op = (x+y)Pt9! (p+ 9 (1+—)

S

@3 (b) >

- q- 1
TAYIE: (b); xpy"—(X+y)"+q=>pX" yd +qy )
dy p+q , p+d dy
(X+Y)p+q E-Z=>£+ﬂ.——=-—-—+—-—.
&xp' ( +q) (?H'Y) (p + q) Xty e x y dx x+y x+y dx
y
(s-v:g)d_y g+_q_£=,mﬂ=_£—_l=!=,ﬂz=z
dx  xty x  y(eky) Tdx  x(x+y)  dx o X

Pya
:*»p“r +4q.

69. lim - ;“”" a3 TIF F7?

(@< (b) £ (©); @3

1-cos 7x 7sin 7x ., 49cos7x _ 49
= lim =lim————=—

FAIY: (b); Using L'Hospital rule, ’l(im
70.  (1.2) &= RiB @3 38 x-5rwes =~ 35071 y-orw zre 36wt AR SReAe A F©7?

3x2 x—;D 6Xx x=0 6 6

@3 (b) 2v2 (c) 2v3 (d) 3
YA
FAN: (C); i lr (1,2)
R iy

SIIEIE r=2, x2=r2 - 12 = 22
) » = ..12:-.3-;))(:1{3 oY S
71. I 4 g T TS eet = 2v3
x+3) @7 &F T @RB?

(a) 2 (b) 1 (c) =2 (d
‘qu:(c);f(x)-_—.x+la f’(X)=0=>1——12-=0:;>x=+1- f(x) = 2 E

“f"M)=2>0, f"(-1)_—2<0.-.awqf(—nz-l 1 =25

7
2. j;_sm Bcosﬁdemamﬁq’ww? :

(@)
i (b)i (c)h 1
. s
W.(b),ﬂﬁ ' Z=5in0=dz = cosg. d6, 6= (d)-ﬁ— g
f ?U-’Tz—sme-ﬁo 0=z p
Sln 9 COSB dB f Zs dz _ [_]1 1 2 s 4= Sin—- = J;
73. U QT ey 6l 6
M @ @ et 7gg
2 REy 3
@ “zj: . (b) usin? o WW? i
74 2 ’8 (C)Pj—s-l.rl_z_q 2 [AnS: aj ':
I Al (<1 1 2g () S NEe i
(a) . ﬁmx*imﬁm%mw ”
a
(b) -8
i (c)8 (d) —2

75. Vﬁtana—tanﬁ:p,cotﬁ-mtu:q,q...B.._B.@, et
o= cot 6 9 WY Fw?

(ﬂ)i—E (b)l_l
_ (G) +—
(d)1-..:;
W@ﬁf@ﬁﬁtﬂrﬁﬁﬁ%w —
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76.

77.

78.

79.

80.

81.

82,

FAYH: (C); p=tana —tanB = sina _ sinB _ sina.cosB-sin BAcsu -

oY 3 AN

sin(a—p) 1 __ cosa.cosB

cosa  cosf cos a.cos B

q = COtB —cota = CDSB = cosa = sin a.cos B—cos u_sinB . Sin(a—ﬂ)

sin@ sina sina.sin B

i T . cos(a—B) _ _ . Lo i
“ ot Sintep T cot(a — B) ; cotd ==

sina.sinf

cosa.cos p - sin(a—pg)

3p, 2p T TR0A A R; 7w ot Fe1es fReet a1 20 o, w1 et 1 7w ) et w2

(a) 60° (b) 240° (c) 120°

(d) —60°

T (C); R* = (3p)? + (2p)? + 2.3p. 2p. cos @ = 13p? + 12p? cos 0

(2R)* = (6p)* + (2p)* + 2.6p. 2p.cos O = 4{13p? + 12p? cos 8} = 36p? + 4p + 24p cos O

= 52p® + 48p? cos 6 = 40p? + 24p? cos O = 24p®cos B = —12p? = cos O = —é = 0 = 120°

y2 = 4x QR y = x U WA CFEAR CFawe] T67
(a3 (b) 8 (c)

Wi

(4,4)

AAHE: (c); (0,0)

y2 =4x

s o -y o2 =

f(x) = x* +3x + 1 932 g(x) = 2x — 3 T, gof(1) 97 M7 FT©?

(a) 10 (b) 7 (c)13

(d)2

16 8
2x8x2-2) =23 gz

(d) 15

TANS: (b); f(1) = (1) +3.1+1=5; g(5)=25-3=10-3=7; gof(1) = g(f)) =gG) =7
A,B @32 C TG @17 Tl JAFTT 4 X 5,5 X 4 93 4 X 2 T (AT + B)C Wiy «a wat =3~

(@) 5x4 (b) 4 x 2 (c)5x2

(d)2x5

FAYH: (c); AT+ BEOaT@I 5 X 41 CO99T@ 4% 21~ (AT+B).C 9a @15 x 2
y? = 9x “rRICArE Sora wfge @t g P 97 16 12; P 97 Boafas g wve?

(a) 192 (b) 187 (c) 10

(d) 16

FAIS: (b); y? = 9x .'.4a=9=>a=%; y2=9x=> (12)2=9%x =>x =16

oy

%ﬂwﬁwm_a+x——+16=18~

S

kIR IS ZHAx —y +5=0,x+y—1=0,kx —y + 13 = 0 @I TAA7 TA?

(@)1 | (b) 5 (c) 7
i =4 B

TR )it 1 -1
k -1 13

ABC f&rgres A = 75° 992 2B = 45° A c:b =?

(@) V5:v7 (b) V2:v3 (c) V3:v2

) : & o . € _ b sinC
TA: (C); £C = 180° — 45° — 75° = 60 “SncC smB b snB

e ﬁfﬁmﬁ ToITe fofs e
www.bdniyog.com

(d) 3

=0=913—1+13+k+5(—1-—k)=0=>25+k—5—5k=0=:4k=20=3k=5

ﬁ—E—:-‘f-f ~cb=43:4/2
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86.

87.

88. x3—5x2+17x—13 0 31z
= R 9P 377 1
(@) 2+3i,2-3; i Lo mwﬂaﬁmﬁsﬁn

FAYI: (a); x3 — 542 +17x—13 =0 43
= x%(x — 1) ~4X(x—1) +13(x -

X=144Vig-gy3. 1 4L60_
13=1, 7~ 1%243

83.

84.

85.

x>0y>03y—-x=<10 x+y<6
(a) =5 (b) ~4
ssryi: (No correct answer);
7 & A8 W = 5
z=2y—X
fa z=2y—X
(0,0) 0
(5 5
(24) 6
(4.2) 0
(2,0) 4
G G IS T @ T, (L — 0 + 02)? + (1 + 0 — 0?)? 97 T F©7?
il k)~ (c) 16 (d) 4

T (8); (1= 0 + w2)2 + (1 + 0 = w?)? = (—2w)? + (—2w?)?
=4w? + 40* = 4(0? + 0*) = 4(0? + w) = 4(=1) = —4
Ff W 7w 2T w4ty PTG TG IS 1T GLFT TN — e ST T | WA Sy
(a) 44.1m (b) 122.5m (c) 78.4m (d) 93.96m |
: (b); 4f9, : \ L =%
TRIE: (b); 4f3, ¢ 1 78 B Wi - 282t—1) = ZH =2 x g2 5 2502t — 1) = 9¢2
= 9t2 —50t+25=0=t= 5056 ; t= 0.565&-:&?‘71?[’1]‘3??, Pt > 1
~“t=5sec .~ ‘Hael
sec WIS Bw®l, H =2 gr2 — 3% 9.8X (5)2m = 122.5m
ENGINEERING WW@WW@WWO

f)g?l% {b) =22 111
3i2121 413121 (C)m (d) N
TEAYIR: (a); G oy = 11 fﬁmmwﬁm + one
3%,1\‘@11:53
-‘-Wﬁm@m=3. 311I P, G i iﬁa’lw’iﬁaiﬁ‘r
1312121
3x+ky ~1=0 Guifp 52 + y2
y *BX_ZY+4=OMW
1 T k 97 1 7w
(@) 2;6 (b) _2“'51' ()3, < o
SAYE: (o)- * e - 1
( '{CJ’ley”=0\""2+Y2+2gx+2fy+c—o’“’[‘fﬁm%‘ & v
g+mf-n)2 _ 2 2 B 3 :
= (k-1 )2 i +m)(g2+f2_c):{3('“4)'!-}{("-1)—‘('-1)]2 (32
1) "'(g'sz)(l@=’k2+121+22k=13k2+117 +tk*)(42 12 _y)
=>12k2h22k“‘4=0ﬁk=2,—1
6

'3 = 2i (c)4+2i,4-—2i (d) 2+ 4j2 4i
2 — 4i

=X —4x% 44y 4 13x~13= ¢
1)=0=>(x._1)(x2_4x+13)=0

T TR wperpey

s ffea® rore fefed T
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QUTEX SEP

89.

90.

9l.

92.

93.

94.

95.

96.

97.

98.

99.

100.

T )

2 3 A

1 a b+c
‘1 b c+a ﬁ‘fﬂmﬂma@?
1 ¢ a+b
(a)at+b+tc (b) 0 | (¢) 1 (d) abc
1 a b+c 1 a a+b+ec

: . a 1

wtrﬁ.(b).i b c+al=1 p a+b+c [C3—C3+Cz]-(a+b+c)1 b 1|=(@+b+c)x0=0
¢ a+bl 1 ¢ at+b+e Tyae 4

sincot™ tancos™1x =7
(@) x (b) m (€)= (d) VI—=x

) o = o £ _1 J1-x2 4 —q4 V1-x2 PR e
ST (a); sincot™ tan cos ™! x = sin cot~1 tan tan~-1 Y2=X = sin cot™* ¥ = sin sin 1§=x
X X

What is the antonym of ‘frugal’? [Ans: a]
(a) wasteful (b) careful (c) economical (d) prodigal

Fill in the blank with appropriate choice: Throughout the animal kingdom,  bigger than the elephant.[Ans: b]
(a) whale is only the (b) only the whale is (c) is the whale only (d) only whale is the

Few men are free from faults. Here ‘few’ means__ . [Ans: d]

(a) some (b) not much (c) hardly any (d) None

Fill in the blank with appropriate choice: The first article of the United States Constitution gives Congress
to pass laws. [Ans: b]

(a) the power (b) has the power (c) the power is (d) of the power

The more ignorant a man is, the less modest he is, What kind of sentence it is? [Ans: b]

(a) Simple (b) Complex (c) Compound (d) None

We were waiting for the bus. Here the underlined partis . [Ans: c]

(a) a noun phrase (b) an infinitive phrase  (c) a prepositional phrase (d) a verb phrase

Choose the correct answer. What would have happened if _ ? [Ans: d]

(a) the bridge is broken (b) the bridge would break

(c) the bridge had broken (d) the bridge had been broken

Wich one is the correct sentence? [Ans: d]

(a) He gathered a lot of informations. (b) An accident occured there in front of my eyes.

(c) The police has caught the thief. (d) Every man, woman and child was lost.

Select the correct linking word to fill in the gap.

Read attentively _ you should fail in the examination. [Ans: b]

(a) or (b) lest (c) until (d) till

The meaning of the idiom ‘through thick and thin’is . [Ans: d]

(a) anything (b) anytime

(c) anywhere (d) under any circumstance

wirs FIfeQ® tore oD Feres
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BUTEX Samise UTEX ADMISSION TEST 2014 201
B

frRieE]
[N.B: * ﬁ,\;mﬂfﬁm e

oA 17
Wmmﬁm;ﬂnﬂﬁa}m HAH TS —-—
( .

(d) 0.6

01.

(a) 0.01 :
FRAY: (d); o @7 AA —1 (AF 3 R
S = Uot + 7at? GF CFT § TN t (o e T v (d) TSI S

(a) wfige (b) *Frge (o) e
m(b):s—»y,t—»x:y:ax+bx2,mmﬁﬂ°ﬁi
QIR A FARGLAA Ty SR (A Sarast FIAo? .
(a)h (b) h/a. (c) Wn (@)
Wﬂ:(d},L=§E;ﬂfﬁ‘ﬁmn=l
04. T RAfS 1ot 45° GTaTe Srbtes covvam g @ Barg B Sl
(a) 1:1 (b) 1:2 (©1:3 (d) 1:v2
"Wf!ﬂ?{:(a);tanﬁzg =~‘Er=tan45°=1=>H:V=1:1
05. b Bf¥a Toieiren sIfimaier w2

(a) 0 hr. (b) 24 hrs,

TAIR: (b); %7 Soiaras st | E
06.  100m A «%f6 G 45kmh—" st bt 1Km A @ fier wfowy w1 o wfey wre Gfox T T

I ?

02.

03.

() 12 hrs. (d) 365 days

(a) 10s (b} 20s. (c) 40s (d) 88s
STRIE: (d); s = (1000 + 100)m = 1100m ;v = 45kmh=! = E:—ssmshl at= é = -1:311___%?. = 88sec
07. mﬁmwwﬂmwwmaﬁraﬁ? [Ans: ¢] |
(a) 2:4:8 (b) 4:6:8 (c) 4:5:6 (d) 5:6:4 : '
08. @35 Sfatg 3¢ font w7 wre-
(a) @& (b) ==tz (c) 79 (d) Srorsrar

FAA: (d); AT = constant; &g 2, 9T 3 g =
09, wefiTsid Bva ot Srorerye cir 3B Q@I e gy mmmﬁtﬁww@mﬁwmw |

T O CrGTeIRIE S ey 2era?
(a) e @R Bog (b) @M iz 1Ty (C) QIR corrw (d) mqﬁ;@

FAYI: (a) ;1; CHY AR A o ST wi mﬁ.ﬁﬁ@ﬁ@v‘ﬂﬁ‘mw:

10. aﬁmmwf%mawhm IRTA-
(@) hoct? (b) hect (c) hx% (@) hoc 2

IWY: (a); h = 23th = hoct?

~ © ffE T ,
SUER ﬁfﬁ:ﬁgﬁg.co -4 Scanned with CamScanner




12.

13.

14.

15.

16.
17.
18.
19.
20.

21.

11.

IR P Y 1T &1 97 13-
(a) TS (b) Tvfa oo
TG (B) = 75— = hec L

T 9f® T

(a) ©fERTFT, SR ReT  (b) s, oy (C) P <, Siefmrar  (d) T, Fom
FI: (d); SR o, @Y, 71 oo wifey |

M TR @2 T8 1S E. g warast 2.

(a) VZME (b) 2ME (o) [ME (¢ 2

‘-ﬁm(a);E=23:; = P =/2ME
a2l fRerR @3 2cm FIvTR T Fefor Rer wfs = U T FReifbre 10cm AT T4t 7 orRre el @z frsq
& 2(3-

(a) U25 (b) U/5 (c) 5U (d) 25U
T (A U=Jloc > 2= S0 10y oy

&g SToIaRT 519t eIt *Itwra @91 :

(a) &I (b) 2 =i (c) @32 AT (d) =i =

EEIRIGH (a);ﬁﬂtﬂ‘ﬁﬂ@ﬁv:ﬁ

T RIS TR 16 I TR0 AT G0 i Zeel-

(a) FFETCT (b) g& (c) Toiga (d) wfge

TAHE: (a); a = —0?x = y = mx I HFecq2dd THwa

a0 3B CPIBT =F=11=1 7 A} AR 27 el

(a) BB (b) I BRI« (c) IR AT (d) Iy ez

FHHI: (C); IR It OU AGIET SR B (FIBT AN 2l 2; THYA Y SR 2t iyl et 71

ftsa mbe Ty s @ N2

(a) 4R (b) & (c) ofa=t (d) F=Ram

JAY: (d); Black hole 731w =g &l F0%, O @7 TG TG Q@R Q3R I (@I 200 2T 9 T 2

77 &7 30® 27|

7o 51fe 7w @a Wy oIS 271%e 2o AT Tow 7 ©ine- [Ans: b]
(a) BT T = (b) e 7 =& (c) 4IPg I T (d) vifees *f& s =7

IR 3R erRrRwar feqed T 2ra Teog ite #ifawe =3-

(@) 4 e (b) 6 @et (c) 9 &t (d) 2 @

AHE: (c); H=I1?Rt;1 » 3 @I A H 9 @4 A

@R G35 conEn wieda W€y 10 1 T e @ =wieda 75% waelie 7a?

(a) 20 fam (b) 30 fa= (c) 40 fa= (d) 50 s

FY: (a); 75% 7 W7 G2 WEF 6T - 10 x 2 = 20 days T

QW 37 gl &1 SR Foed ZE Sige! +1ted 20dB FI?

() 10 et (b) 2 &4 (c) 200 &t (d) 100 @t

F: (d); 20 = 10logL- = & = 100.
ﬁo ﬂo

wirs FIfeQ® tore oD Feres
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23.

24.

25.

26.

27.

28.

29.

30.

TAIE: (b); CH, + 20, - co, 4 2H,0 i
33. 0= X+ X cief. .
(@) ¥N (b) 3F
TR (0); 50 1954 o, Vs
| (d) *3C
ws ffeu tors fefed ﬁw T

BUTEX SIIRP

: © -
(@)3 ) _myx 2% e
s (06 =5 ”0*67 s 0T st P @asbenmy 8 s
ffy o T ¥y i i @ AT U |
(a) fa st P (?g MEP_ _167=M =% 36.
R 67 QE'EE‘!:CV- C{Fﬁ‘
AN {b)‘ Cy v (d) -
AR SITer® I (o) SOREF
(b) BRFTTH _1
() D 77 3 (d) ML
S T o O A e T (c) MLT "
(a) MLT2 (o) L
e 0 5 = S = et .
a ===y .
s e 20 7 4050 (@) ~05D
(a) +2D =
e (d); P == 25 = —5P 6
@ Afea foeiR? @
(@) @M (b) 4= (c) STCTE UShi o

mkgwm{OCouﬁsﬁﬁﬁ?aﬁWFﬁﬁwwwVvo!tﬁ—qe =T vifere z
sife=ifE ze-

- |
o
-_.'
o,
e

(a) Qv (b) mQV Clm@/¥ @ o

T (a); e = FoFE= W = VQ

e A RS T4 I A1?

(a) GG ot (b) 9F- (c) TS == wemr CIRRIGIECE R

T (C); *FTOTX TLAG ©TF — G CHAIFTAZS a1 T A7 |
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34.

35.

36.

37.

38.

39.

40.

41.

42

45,

46.

47,

mwmﬁaaﬁzﬁmiﬁﬁﬁﬁ sjﬁ:{.szps?
(a) Fluorine (b) Sulphur (c) Ox
AYA: (d); Ne(10) = 1s2 2522p6 ygen (d) Neon

W AN HSREE Soifgfere
STS (SR WCYT RIRTGITE ST A P T eme v 7 "W e - [Ans: d)

CTECAITS (I 0 I RATm? M
o = Bl s [Ans: c]
ol bIRT .. VRTTFIRGT 9w (c) p-fRrapiefes a9 (d) H-T%
(a) PH; (b) NH,

(c) BF d
T (C); PHs, NH, NCl; &To1 3@ e S, WB; a3 AR e
e Birers omid Ny @ EH? [

Ans: a]

(@) KzCr20; (b) NaOH (c) NazS,0; (d) KMnO,
AICl; BT T RIye Bemt T O ey Al wifes 2a? \
(a) 0.33F (b) 1F (c) 3F (d) 6F
Y (¢); Q =neF=Q =1x3F =3F
e & A 257 wfre w312 [Ans: c]
(a) BFs (b) AlCl, (c) BaCl, (d) BeCl,
fAwea @1 ArcareifeE? [Ans: d]
(a) PVC (b) Teflon (c) UPVC (d) Starch
25°C SIAN@Y “Aifd SEfAs edwe $97?
(a) 10"12M? (b) 10-15M2 (c) 10-11M2 (d) None

FutYiE: (d); Ans. 23 1071 M2
TR PRGN SR G T & FF (RTBI TR I TR TS 23%-
(a) 2¢ (b)2¢+1 (c)2¢—-1 (dy2¢£-=2

Y (b); m = 21+ 1.

@ R Ifest alter?

(@) Zn (b) La

Y (b); e Yfewst Gite 21 Lanthanoids G|
CsCl @7 T FTBIEA UL SHAIHCR W SATS-

(a) 0.525 (b) 0.630 (c) 0.923 (d) 0.811

HAYE: (c); :—‘ - %i =0.923
sl T R (@0 A0 6T GFF I ?

(b) mole. time

(c) Cu (d) Ca

(a) time~ (c) mole. time™* (d) mole. time. L™

AAYA: (a); At = 1nECE - A 9% GFF time™
Riw e e o frgargfen?

(a) CH4 (b) HZO

STII: (); CH, — S@EH, H;0 — Vshaped, CCl, = TR |

() BF, (d) CCl,

wiae Piows roire BRs aw:
www.bdniyog.com
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0 S TS O AL . () 2

48. C3Hg

(a) 4 _ - CH3 + CH3
—CH, — CH;OH; CHs C‘S
FNY: (b): CHa 2 0

49, P CowfRFR ARV U4 0T e (c) o-ray
(a) B-ray (b) y-ray
FAYE: (¢); o —ray = 4He?*

50. CH,CONH,(S) + 4[H] 5ot = A; A aneife?

(@) CH; —C=N (b) CH;CH,CH3
51, Prers i Jore RER @Hb I97© W7
(a) &gl s (b) e
S (c); FTTS CaO #AITet, [ RATARE AT ST |
52. fReEe AHIRe Y Rrafie 2 @i Sesty FE?
(a) T2 @ffe (b) 2fE Wfse {c) far=r=reT
FAY: (b); CHs — CN —2 CH, — COOH + NH,
53. Ag 97 SfER AT TE GF T F?
(a) 0.0000104 ~ (b) 0.000329 (c) 0.000287
TN (d); Ag*e™ — Ag; W = Zit = ZQ

(c) CH3CH,O0H

(c) greiIE

=108 X103 =Z x 96500= Z = 0.000001118kgC~* = 0.001118gc 2.

54.  wices gt tedite TS =2

(a) AZTH vy (b) AT () Z=TT-3 )
55. e ot 1 fafarar Beomy ?
(a) Salicylic acid (b) Picric acid (c) Thalic acid
56.  HNO; © LiOH @3 fRferara epefsry oot Fe?
(a) —55.2 kj b) ~57.24 ki :
j (b) ~57.24 kj (¢) =59.30 kj

T (a); LiOH 741 %13 901 g 57.3k] 97 W 7 BTt Beorgy 37,
57, &f Sfzem wy pH A 67

(@5-6 (b)3—g
58.* Wmﬁ@‘ﬂ@mﬂmo

(a) TRIIZE R afis (b) ¥ @firs

59. WWWWWWW.M?

(a) =NH, (b) ~OH

(c)3-4

(©) TR s

wrae fFftu® tore fefen s
www.bdniyog.com

(d) None

_,_0—-CH2"'CH3

(d) X-ray

(d) CH3CH,NH,

(d) GTreT S

(d) FreEf afire

(d) 0.001118

(d) FHGE w3
(d) Benzoic acid

(d) —68.60ki
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63.

66.

67.

68.

69.

70.

Mathematics (MCQ)

2
x*+y" +2X+3y+11 = 0 @R 22 + y2 4 43 4 3y + 12 = 0 38 9257 FyRe ot 7 T Foe @Eb?

(a]x=—% (b)2x+y=0 )y =x (d) x = =2y

T (2);S1 =S, = —2x~1=0=yx=_1

SinA + CosA = SinB + CosB &z, ftsa @ﬂﬂfﬂ:{ﬁhﬁ?

() A—B=1 (b) A+B =" (©)A+B=2 (d)A-B=3
FANY: (C); sinA + cosA = sinB + cosB = sinA — SinB = cosB — cosA

A+B A-B
ST D A+B B =X
= 2 Ccos sin 2 zsln Sin——atan__l:;i:ﬂ:)A-'—B_-E

x2 — 2x + 5 9T PO -

(a) 1 (b) 2 (c)3 (@4
T (d); FOO) = x* = 2x+ 5 = f'(x) = 2x — 2; f'(x) = 2 > 0 = ST A RTIA |
n2x=2=0=>x=1=f1)=4

2x +y = 3 R O, RGR @19 Feesim vicem s 7317

(@2x+y=5 (b)x+2y=9 (c)x=2+3 (dx=Z-3
lim G— )mmaﬁmww‘?

(a) 1 (b) 5 ()] (d) =

AAYH: (a); x = E +h = x!.l’l;rl}z G - x) tanx = hm( h)(—coth) = lmé T ="

(xiz_ ) a3 gfers x Ifere -m-

(a) 12t (b) 13 (c) 14th (d) 15t

A (b); trpq = 1o, X3+ xF(—1)F = 3r—36 = 0 = r =12 = 12 + 1 = 13th "M x &)
f(x) = tanx 2 f(x) 99 @I @MH?

(3R (b) R—{En ez} (c) [0,o0] (d) (=so;00)
FAYA: (b); R— {(2n+1)5;n € Z

S AL -

@-7 b) 8v4 () V3 (@2
TAA: (a & b); — 5 T ; 8Y4 =8 x 2= 16 ™!

57 A o A2

(a) V19 (b) ¥87 (c) V78 (d) V8T

Y (d); V81 = 3.
V5 Sing = 3 432 V5Cos0 = 1 T 6 G T 87
(b) 45° (c) 30°

1 3 : il 4
ST (1o B A1); sind = 5 T, C0S0 = 72 TS AT T, - sin?0 + cos?0 =+ =21

(a) 60°

wirs FIfeQ® tore oD Feres
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BUTEX S

?
e e e 2u T T ST (c) 3 km
(a) 1 km (B R
¢osin = Dt="
AY: (a); T::\ , s=vi= 0.5=uXt g
N ' . I
72. it "y = 6Py T, O n AT (c) 9

(a) -3 (b) 3
wm(c);nwniwmumwwl

73. foa‘[a—z—i—_”7dx =7 (d) /6
(@ /3 (0) = {emi2
a . ot 8- =1 — E f-—— E
W(C);Lﬁ%= [sm 1E]O=sm11—sm gi==Fz ?
4 R =7
74, oG R SR AR (R 2fPe 87 735 o Aed I Tl h ¢ h' T 1 83.
h' 142y
(a) VRN’ (b) 4V © (d) ;h*h
.p _ ulsinza o u?sin?2G-a)  u?sin?a_,, _ ulsin’a
FAYE: (b); R = o gz ih= = h! = =
s Usinfacos’a _ 1 ((2sinacosw)u?)? _ 1 N 7 84.
~hh' = Py =1 [ gosa } = e RZ=R = 4\/E
.4 6
75. Matrix [6 4] aq 7iy-
(a) afes (b) Transpose (c) TfozFat (d) Scalar

AN (a); @ Matrix 43 90 @92 717 inter-change 4T Matrix Soife<f$® 2iftss | Site afesrs Matrix 3t

76. p’x* 4 2px + qy + p?y? = 0 =G gt & fArrt sra?
(a) 9FTErS! 2T @2t (b) 3@ (c) "Ry (d) %ﬂq—g
m:(b);?ﬂavrxzeyz AR same - @32 xy Rf¥E i o 73 'l
e O SIS w7 L
(@3 (b) 3 (c) 2 (d) n :
«(g): 501 o (5-D(2+3i) _ . .
. ;’:ﬁ(a).z_s] ST _‘113.(10+151_2i+3)zl+i_’arg=tan"1~1.—-f {
: s 1mamﬁwqwmmm‘aﬁwmmmw$@? Y |
% (b) = (©)
TANYE: (b); P = i xaxdol
§ =5 ey
: 676 &' " WW,WWWW;”@’

(a) 5kg — wt
(b) 7 kg — wt c)3
(] k )
Wﬁ.(b};P+Q-=8;P-Q=2:>P=5Q=3 S

R=,/P2 172 V
Q% + 2PQcosq, = /52 +32 4+ 2.53c0560° —

B wRe Prfea® tors e s
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1‘: Inxdx 9F V-

(a1 (b) e (c)e—1
W(a);fl lnxdx=[xlnx—-x]§=e.1—-e-—0+1=1

3x? + 5y* = 15 BoIq0ea Berasfiraret zra.

gl.
@ o @ f
Frm: (d); ez‘]:_ r J_ ' 3x? + 5y% = 155 +——1]
g2, y=X’Inx A y; O FS?

x 3
(a3 (b) - (c)
Ay (€);y = lenx::_- y1 = 2xInx + xz.i = 2xInx + x

® N

y2= 2%+ 2InX+1=2Inx+3; y;=2.140=12
g3. T P+T=P— QW P 4R G (SHEER TGO it @IAH?
(a) 0° (b) 90° (c) 120°
syt (b); P+d =
=p*—2p.d+q*=>4P.4=0=P.4=0=>pLg
g4.+ vIfar® 37T 2015 @7 fafi ereret-
(a) 11111011110 (b) 01111011111
Y (70F T8 *1R) -~ (2015),, = (11111011111)

2131-0
2(15-1
2|7=1
23-1
1-1

85. S={x € R:2x? — 7x + 3 < 0}, T A THEAA (Sups) FO7

(c) 11110111110

(d1—e

@ 2

(d) 180°

P-=@+9D.G+D=F-9.G-D=p*+2p.4+0a"

(d) 01111101111

(a) 3 (b) ; (c)0 (d) 1
YI: (a); 2x2 — 7x+3 <0 = (x—3)(2x—1)£0=>%5x53=>ﬂﬁé%q&§(m3

86. f(x) = -7, {1 (x) -
@) o N Z"Zi © s = -
TI: (c); f(x) = —2+3x=2x(3+2y)=3y—2=>f7@) =;-2;=)f 1) = 22

87. ffs=4t-12 +1owm4m.ﬂ@wwm?

(b) 8m/ sec? (c) 2m/ sec?

(a) —8m/ sec?
TYE: (d); s =4t —t2+10=>V =

ws i toirs fofes s
www.bdniyog.com

dS_g4-2t=a= i—:—ZmS‘

(d) —2m/ sec?
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L S —— 1 7 :
: | 88. x=atly = 2at "TRIAGT W &

(@) 7@ T
HAYI: {c); =£; x=a, 5 =Yy @ﬁmﬁ .
89. foAfS e P, V3P, P AN AIFTT &AL m@(c) -
(a) 60° (b) 90°
3coso
ypr=p’t (V3p)” + 2p.V3p cosa = 2v/3c
FR: (d); s p? =

ir P

-t -1§=
90. cotcos™!sintan 3=

3
(a) 2
FANI: (¢); cotcos ™! sintan~1x = x

(c) 3/4

(b) 1

91. Select the pair that best express the relationship.
(a) animosity-hostility (b) dilemma-peaceful (c) obstacle-progress
92.  Put the right form of verb: J, erry let the boys his skates,

(a) to use (b) use (c) used
93. From the following which one is the synonym of “aesthetic”?
(a) displease (b) ugly (c) bad-looking
94.  Who, Which, What are
(2) Demonstrative pronoun (b) Reflexible pronoun

(c) Relative pronoun

(a) I am finished
(¢) I am done for my wrong decision
96.  What is the correct tag of the sentence, 'Let yg 80 1o picnic, 2

(a) do we? (b) don't we? (c) shall we?
97.  What does acquisition signify?
(a) implicit learning (b) explicit learning (c) exact learnip g

98. The Programme wzg telecast Jiye. What parts of Speech is 'liyero

(b) Verb (c) Adjective
99. The Antonym 0f Transient' is-
(a) Transitory (b) Evanescent (c) Permanen¢

100. Bangladesp, IS inthe active earth quake zone,
(a) lies

(b) lying (¢) lieing

e P tors fefed s
www.bdniyog.com

(d) 150°
Nel ,
= -3=c0sa = ~T=u =150
1
CF

(d) Indefinite pronoun
95.  Translate the sentence into English. ‘wifiy wryrz ¥ FraIess o ey W Py’ |

(b) I'have dope 5 wrong decision
~(d) Wrong decision finished me,

(d) T*1J8

(d) diligent-lazy
[Ans:j
(d) would use !
[Ans; -

(d) artistic

[Ans: c]l

[Ans: c]
(d) shan't we?

[Ans: a]
(d) none of these

[Ans: d]
(d) Adverb

[Ans: c]
(d) Lucid

[Ans: b]

(d) lied
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08.

09.

10.*

11,




BUTEX ADMISSION TEST 2013-2014

Physics (MCO)

01. T I T (e ifire 7w e |
(8) AR (b) TR-pSraren BT T T T, (7R B! (4 - 9T S T
T (c) wnd s (d) 0 s

t@d; t, =1 =<u/.
:jwm-() . /g,TJ%, h=T-t=Y/ =y,
0. WGWWWWWWW?

@3 5° : ;
03. awwmmmfggm ©) 6 (d) 8 [Ans: d}
3
(a) 2)(10 I'ad/S (b) 2.2x10_3rad/8 (C) 145x10—4radls (d) 1.6x104radj’s

Ly, 7
TY: () ; o= 11:T—z%zx?’mo:1.4.'5)(10“"r.':1d/s

04. 200m W< @B GF 36km/ hr e v 600m 7Y @afs e wfewy Fare T© 73T ANE?

(a) 80sec (b) 100sec (c) 120sec (d) 140sec
. 200 + 600
iy (@) ; t=54(, =="""Y _
Vv T 80 sec
05. &f% GTITS 10 &0 #41fF 10 RS Boim ot oy oo Too™ A=t AIo?
(a) 100W (b) 980K W (c) 980 W (d) 9807

Ty (c) ; szg%zQSOW
06. “sr T e T2 e fre woires o 71" -afb @i Readfe ffe?

(a) ST (b) Tt (c) 2l (d) o [Ans: b]
07. @ R yﬂ% | BF AT T (@G A2

(@ C, =3R (b)y-€, =5 (¢) C, =3R (d) C, =5R

T: (a) ; Cy =%_1;2R ~.Cp=3R
08. 1% 3fE 127°C @3z 27°C SHT@T FG I | q9 TFO] T2

(a) 36% (b) 25% (c) 24% (d) 28%

T 0

g (b) ; m=1- /T1=25/o
09. oI SIeiIal CEABPT @ FIERIZS (T Q&L A T2

(a) 0° (b) —40° (c) 32° (d) 273°

wr: (b) ; %5 = x;”; =AY
10.* 0.3m IPiCda G5 FieT 4o e 25W ey e R 0 | «F S F97

(a) 140.5K (b) 130.4K (c) 120K (d) 100K

Tg: (2) ; E=AcT?, T=1405K el
1. gy st et fafee o cTo? 1 [Ans:

! = (d) c=u.g,
(a) c=\/,_1—os: (b) C‘—’——\/:L—.——;O— () c i |
s ffea® rore fefed T -

www.bdniyog.com Scanned with CamScanner




13.

(a) 6cm (b) ?C“’ p |
s (a) ; £= (™ +v™)" =0.06m=0CTL @ 1m Vg 0.295m &TE CORT te}
14. maaﬁﬁ@ﬁﬂﬁfﬁ?iﬁiwﬂ@@v 2mm | 4% P
mewmﬁ:‘? D 59001& @ 60001&
(a) 5800A (b) 5896 A ©) - .
0 - i |
e (c) ; DY/ = Ay; A.=5900 A @eiT ques. 4 T %, Ay = 0.295mm (ST T4
15. @ fRrewas @ g3 Few Rpfe e @ 60° ¢ 30° Zee ferem ATCde AfSIHIE o :
(a) 1.33 (b) 1.5 (c) 1.41 (d2.5 _
. A+3 a
sSm———- j
Wﬂﬁﬁ‘.(c);u=——i—-=\/5=l.4142 :
sin — ;
16. @ 0 R=Vx GIFF CFaw WO, TGRS ©Te A0 (F (It I AF, ST @ FI & I T2 *
@fs ()RR (c) R (d) Tfe [Ans: a]
17. a6 M TG Im @ 1.01m 1 977 76 00T 6 Gaes 20 RE Seoig 307 | Mgwar ol w2 ]
(a) 2271]35—] (b) 33011]5-1 (C) 337]]'18_1 (d) 343ms_1 |
20
. ¥ N 20 I !
w.(c ,———--—:N:__ = 6 = i
) A = AV T 33667 ms” \24
18. oM it Sigret et Siry e 0 -;
; w©Ig 100 @o 1
(45 2500 ) IOdB‘@ T, @*TEW(@@WMC) ISdBcamarW Cefirzery
F: (d) ; B=10log100dB = 20dB (d) 20dB !
19. =ft Tt !
T e e e vty -
(a) —=— H L 2 ns: aj |
Sl ® s i (@) bl |
* T ST T o |
: RISER<C N C St it @t 2.5 a9 gy =
100 (b) 1433.25°C '
_ : (c) 1500°C 5
s S | N (d) 500°C
0); JE =235 Lp ngime
e LV BT 1148305
L WWmmva
(&) "Rarg (b) ¢ g

@A g
SA
TN () B =B, =10x4=20xi, i o
LGy

5]

BUTEX S0

Ly

A
(b) 2

(a) A

_A
e () 5 2%, Ax=T)=>Mx=74 7
175 waws wig e 0.15m ¥R 0.10m Wu‘iﬁl M J

wrae fFftu® tore fefen s
www.bdniyog.com
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GUTEX SEIRT

24.

29,

26.

27.

28.

29,

30.
31.
32,

33.

23.

-

-

16 78 ©f%R ¥ S0cm ey = W
(2) 850Vim™" o mooiﬁfﬁﬁ“ﬁﬁm T 200V T SfYe, ey 20a-
m (c) 800Vm™ (d) 400Vm™

Vv
st (d) ; E:E=4OOX

m
a6 & RgR Grwe AT ST 20m | affs
’ C‘itq‘tﬁmwfai 1
0.5SMW Rays Beory zsaray [2=10ms™] MR g BraiEs @res Bom st aft

2
(a) 25x10°kg (b) 25x10kg (c) 25x10°kg (d) 25x10%kg
sre: () ; mgh = Pt; m=-;1—t=2500kg

43 p—n TN TG 400mA. R etz RS FE a7 M2 Atw 0.1V e A s o7 |
2T @Y FS?

(a) 0.25Q 2 (b) 0.3Q (c) 0.15Q (d) 0.35Q
Tt (a) ; R=E:.¥-al—0 250

G TRV ST+ ottt efiwars srmpfera =R woiafie e R AR = =neat am?
(a) 5.12x10°eV (b) 5.12x10™eV  (c) 5.12x10°J (d) 5.12x107J

g (a) ; E=me? =5.12x10%ey
aﬁwmwmmaawhﬁfﬂmawﬁmﬁm?

(a) 2x10°ms™ (b) 2.8x10°*ms™ (c) 3x10°ms™ (d) 1.8x10° ms™
L 2 2

st (b) ; —z\ll—v—v =5 \/I—V— 16 =>v= 242 xc=2.83x10°ms™
L, v et 3 3

175 coufErn Glifer smitda w4y 4d, BT 1 47T 797

(a) 0.1344/d (b) 0.1123/d (c)0.152/d (d) 0.17325/d

Tr: (d) 5 A= @Tﬂ =0.17325 day”

1

2
@35 100M eV *f&T @D T F07?
(a) 2.41x10*Hz (b) 4.21x10”Hz (c) 6.41x10*Hz

sy (a) ; hf =100 Mev .. f =2.415%x10** Hz

(d) 8.78x107"Hz

Chemistry (MCQ)

TR ORI REFAANTE I T2

(a) cufETaTS (b) FetrTATe! (c) IETTAS (d) et [Ans: b]
e o Jlam ot Lo IS JA? [Ans: b]
(a) =fefemzar O REIEER] (c) AfFeififEm  (d) AffeTEe s @HRe
@G EREELE Gle?
(a) Ti (b) V (c) Cr (d) Co [Ans: d]
o stifve G so?
(@) 1.16M (b) 5.56M (c) 18.36M (d) 55.56M
T (d); C = mole _1000/18 mole _ 55 556 M [1000 gram water possesses 1 litre of volume]

: s Litre 1 Litre

i
SRy

wirs FIfeQ® tore oD Feres
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m - (d) 12.40
- 34. 0.025M OH garsw pH @07 (c) 10.31

3.69

512#;:6(()@; pH=14—p(g)H=14+lo§0H_) "‘12'1 st 0.38m’ ST Im’ Srety g
35, 29°C oy 95KPa st 0.25m® AR ¢ 805

FICF (71 21 | Fafe A1 ot 7 54.15KPa (d) 58.22KPa

(a) 40.44KPa (b) 49.15KPa (©

r: (c) ; P= SVt EaY2 ;P 2V2 _ 54,15 kPa ? 4
36. i QR RARE o 35.5 T O @it CI @R cr’ dl'-“'EFWE?le)ﬂf:'3

(a) 1:2 (b) 2:1 (c) 3:1

W(C); 35x+37=35.5, x=3 ..ratio=3:1 P
37. f-mefs efites ofF @ w7 ' 4

(a) +2.24° (b) —2.24° ) +22.4° (d) —22.4 [Ans::
38. oo @1 Qe SRR e Sy ]

(@) K,[Fe(CN),]  (b) K,FeO, () Fe,0 (d) Fe(CO),

srg: (d) ; Fe(CO), 9 Fe=0
39. &F AT AR WA T SF G0 [ T Mn? ST Sife 20 weis Seeh gt I

(@5 (b) 6.02x10% (c) (6.02x10%)/5  (d) 5x6.02x10%

TARE: (d) ; MnO; +5¢” +8H' =Mn** +4H,0 .-.5 mole &~ =5x6.023x10% .

40.* 537 ¢ ®fecTa @B Farer 30%(W/w) B AT | SR (T ey w7
(2) 0.90 (®) 0.11 (©) 0.72 (d) 0.33
TN (d) ; NGT ques. @ T S <R o T T T e w2 G SaTe

ans=0.267 I RE simply30 & 92 fry ot e mole=§9=0326~033 Ul "'
92 . ~ i ) |I;'

(IR S bres 7w
(a) +2 (b) +3 (©) +4
, ; d
W:(b);W:Mit:ezy_"fz3 ol
eF WF \
42. C6H4(N02)2 KIEIR A Eredie ifSe 7 !
(a) 2 (b) 3 ©) 4 @

A (b) ; ortho+ meta +para
43. 11g CO, @ 77 wq yrrgy

(a) 6.023x10% (b) 5.52x10% © 1.5x102 4
. - (d) 1.67x10*
THE: (c) ; &g =744—><NA =1.506x10* 5,

TR et s v,

wis Fifea® tore fofen s
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44.

NaC,H,0,
(a) (b) NH,No, (©) Cuso,
s (b) s NH,NO, +H,0 = NH, + 11,0 HNou (d) AlCI,
T CUSO
basic solutlon NS | . NH,NO, 33@:1;% NaC,H,0, @7 NaOH>CH,COOH w1 °rs
l

45. 25g CaCO, memwﬁmﬁ s

ACHIRIE

(a) 2.58 b
() 10 (c) 14¢ (d) 25¢

et () ; W (CaO) in CaCO, =S80y _56 o5

- CaCo, 0—100x =14g
46.% THCHS @I A Rpifs RS s

(a) -~ - m?tz) TR - e

Tl — -
HNO,— =iif¥

© . (d) ©1% Zazer Zem-SnIFEsH

47, 1°,2°,3° ORI w0 & gage =2 [Ans: b]
7 ns:

(a) 2,4-DNPH (b) Lucas reagent  (c) Tollen's reagent  (d) Fehling solution
48.* CTERIE GBI @ AL O, A=- [Ans: d]

(a) 78% (b) 85% (c) 88% (d)98%
49. 2.2g C;H; w1 3@ CO, € H,O tod Fare F© (F O, Trem?

(a) 0.050 (b) 0.15 (c) 0.25 (d) 0.50

st () ; CoH, +50, =3CO0, +4H,0

1 mole 5 mole

i%mole
50. CARRITE WD ZIS (ATE TR G (I ATRT AT (AT A2 [Ans: a]

(@) Zn (b) Hg (c) Pb (d) Mn
51, Wi R @RS (CaCl,.2H,0) #ii e A

(a) 66.67 (b) 32.4 (c) 24.51 (d) 12.26

2x18
1 . 0 o =24.49 %

e (¢) 5 % Ha0 =5 g1 71+ 40 '
52.% Qi3I gyte R @D TR W

(@ "1 (b) T (0) T Ol [Ans: 2]
53. fNINIEE @7 ALTS- -

(a) Fe,0,, H,0 (b) 2Fe,0,, 3H,0 (c) Cu,S (d) PbS [Ans: b]

T2 werEA e 5 AREe T

54. v BBy 70 T (Joules
(a) 115] (b) —25J
T: (b) ; dU = (—dW)+([dQ) = —(70)+(45)=-251

5. frwe aprees R TSR G RS 2
(c) Cone. HNO, (d) Na/HCl [Ans: b]

(2) Sn/HCI (b) s AICL

s Py ® tore fefen T
www.bdniyog.com
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BUTEX srg=miess

56. 1 curer s CH,COOH @ NaOH T (d) -55.14 kJ

(a)-57.3KJ (b)-57.34KJ
57. 1 curer @b e @ G O, &TE? ©3 (d) 4 :
2 3
@1 ®) O but 3T Z ans =3 mole (¢) 1

H, +'§Oz =2C0, +H,
2

e blank ; ans =2.5 mole; C
orema Kp @7 71 1.78atm, @R Stotiigpy

58. PClL(g) == PCla(g)+Clz(g);ﬁﬁﬂTfﬁ"xT 25
o ) 82.75x10°molr*

-4
(a) 72.75x10" molL™! (b) 82.75x10°molL™" (c) 72.75%10 molL™ (d .
T (2) ; K (RT)' =Kp .. Kc=71.45x10" M; option (a) 121 T righ

59. 9T T JERGTAR BIE AL QAT &P T A7
(a) @= Wi (b) @ T (c) @< FIRMT (d) @% oF%
60. fifRe cmefr @Rbre w4 g wie?
(a) C,H, (b) C,H, (c) C,H, (d) C:H,,

H
|
TR (b) ; (H,C=C-C=CH = C,H,)

6L.* A ¢ B u3f5 &fier o6 zwer ottt w7y
(@ AnB=A" (b) AUB=A (c) AUB=B (d A-B=A

T () A € B WA . AAB=gand A-B=A,B-A-B

62. ucz =" Cs '{Cﬁ, 3 5 =9
() 64 (b) 56
c) 48
w:(b);ﬂ—2=6 .n=§ -.-SC 56 () (d)98
63. (x+x™)'" Refors ub . ’

. (d) -252

2
@) 2 b) 2
2 -2
(b) 9 (€) —
T (); D=0= 448~ . _ I
2
_Shortcut : use calculator acc, ¢, optlons

:ag@.'f

' e o It

s PifeeF o fefes weees
www.bdniyog.com Scanned with CamScanner




67.

68.

69.

70.

71.

72.

3.

tan2Xtan =1 20 x .y e TS Gopey - :
71: 5n I vt
@ —— 131 157 -
66 (®) T ()gn o
6 c

T (C) ; usi
( ) ; using Calculator fop checkmg opti
ons,

www.bdniyog.com

13
(@ =F Uz
66

®0 (b) 2117:
TN () ; cos@=—1. . g, . (©) @n+Dyn (@ on
ﬁrﬁrﬁm’r‘”ﬁﬂ%‘WW? VTR Ry ,(2n+1)n
(a) sinx =sin(2nr + X) [Ans: d]
s . (b) Sin(Sin—I X) =X
(c) sin® x = (—sin x)? .
sin”' x 9T I 3= (d) sin™ x = (sinx)”*
(a) COt-] I= ){2 (b)
X cot™ ——— (c) cot™ V1-x2 (d) cot™ —_
V1-x2 e

. ]

FAA: (a) ; sin”'x = cot™ 1= |L
) 1-x?
c0s198° +sin432° + tan168° +tan12° @z T 77
1
@0 (b)-1 ©1 @
agi: (a) ; using calculator
X WOHT Bog wafge P R are (0,2) a3k (6,4) g 93 st 2 P o ZE
(@) (2,0) (b) (3,0) (©) (5,0) (d) (4,0)
Tr: (d) ; P=(a,0); a’+4=(6-2)"+4
solving a =4 (or use distance formula for every options.)
_J3_£+1ﬁ0 aq ng_x+3=0 WWW@W‘T—
(a) 45° (b) 30° (c) 60° (d) 80
. P 1
o m,— Il'l2 J§ &
W. . =tan 11 = -l =30
'(b)’¢ 1+m]m2 1+l
97
V2 = dx sy g R e o o
oo
()1 ()1 ©
AE: (c) ; %
e R
— T R :
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BUTEX eng=3ies

74. (x-3)*+(y-3)* =4 @30
(a) A ¢ B TewR oo
(c) A ootz e B IRW

Tt (b) ; A(4,1) - (4 —3)2 + (1= 3)° 4&%
B(2,1) » (2-3)?+ (1-3)*-

d A
=1>0 e
4=1>0+~ WWW |

75. 25x? +16y? =400 SorgeDa Soiraf T 0 T 30
@) - ® 2 ©3 o7
a 30 5 32
2 ==
g (b); LL'= 2 =%% unit. Here, b* =16; 2’ =25,2=3
a
2 2 2 2
.'.x—2+y—2=1 or, L
b® a 16 25
so2
76. lim>> =9
=0 x
: 1
(a)1 (b) 0 (c)-1 (d) 2
: 2
FangE: (b) s use LH; y = lm, sosx 2% =(cos0)’2x0=0
x—0 1
. Jiv, SINXZ . xsinx? s gty _
Altemate.}(% " -}(1_1}3 ~ —}‘Taxx}l‘% S =0X1=0
1
77. dx=?
I\)I—xz
(@) = ®) 1 1 T
2 €)' @
AN (2) ; ques @7 limit missing, Limit 0 2t® 1 423 ey Ans: ™
dx 2
78. 97 @IS -
I331—6x =
(@) "-I-(I—GX)E2 (b) 1(1 6 3 1 ! 3
4 | 4 X) () 5(1-—6)()3 (d) %(1—-6){)5
2
S (2): 1 (1-6x)° 1 1 2
@;1 2 xgg_.z(l_ﬁx)s
3
79. tan”(secx +tanx) TR T Ty
|
! ) i
@ 3 (b) -1 (¢) —2sinx d) 2"2
~1
W: (a); y__:tan-n(SillX+1 _ P 1+COS[12E"‘X] ZCOSZ(E_EJ
cosx ) =tan|—2 | gl "aT3)
sin[———x) ZSM(E“Z{")COS T_Xx
- 4 2 4 2
=tan™ cot(——-—) ztan“'tan(-rf—-75+5 s g WX 1
42 2 .472)7 77T n=y

T ——

wirs FIfeQ® tore oD Feres
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81.

82.

83.

(a) ?xz +1 (b) “—‘\/;—2——\4-? (C) 1 (d) 1 3

Vi ilox_ 2% k|
ﬂm(d);yl=ﬁ_‘m%—@=xz+l_’;z= 1 :
(x*+1)2  (x*+1)2
;ﬁf;ﬁ« 3 mfwﬁwmwﬁqmﬁﬁmmmwmﬁwmwww
(a) 30° (b) 45° (©) 60° (d) 90°
wryie: (d) ; Pythagorean triple : 22 +(J§)z =3 5 P, J_pJg

Another solution : cose=R2“P2*Q2= 9-5-4 ~0 ~0=90°
2PQ 2x2x\/§ B
@36 T 10m/sec QU T, B 2re =fow aFf AR 10sec @ MBS AT 1N TSt T Tf T
ATTRET?
(a) 400m (b) 390m (c) 380m (d) 280m

-y (b); h=~10><10+%><9.8><102. h=390 m

S ST i S “E el 0 e @ v
(a) 15° (b) 30° (c) 45° (d) 60°

T (a) ; R'=~R2—° sin2a=% =157
20 fiBrr A 225 e eu RS2 AB T qaT I 97 72 s i P T w1y | 75 @i eue

84.
B EE ACE T A &S ZS T LA WG P 7B Soi Dieeia Sgeire 3:2 T
(2) 2 fAor (b) 4 fioT= 3P=180 2P=120
(c) 6 i (d) 8 o j L
TR: (2) ; M, =0; G55t = (225 + 75)kg-wt 7% l
S 75%x+225%10 =120%20 ..x=2m 225
85. M femqre g3 w7 120° catet famarer | 3787 Fd T 10N TR ST FHOT IR AL A TAY
A FYON e T9-
(a) 4N (b) 5N (c) 6N (d) 8N
T (b) ; P+ Qcosa=0 . Y
P=-Qcoso = -10c0s120° \ l "
P:S P
86+ (13.625),, «x fafis st ¥
(c) (11011.01), (d) (11.01101),

(a) (1101.101), (b) (110.1101),

YH: (a) ; use calculator for decimal part (13),, = (110D, ; (0625)0= (010D, (5%)

- (Option @ 1st Bitez 1101 )
- | mem-l' _

wirs FIfeQ® tore oD Feres
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YN AT WS Ty
P AT
BUTEX e l g —, @ 1
sy 3R TS 3 T @ =
87. A @ B 97 @I I ()_7__ 2
1 c 12 i
(@) 31 ®) 12 1 {
1ol 2L 2 A T FS? § |
Wm(d);P=§+Z-3x4 2 b FTATE Z=3X+4y = (d)24 i
88. x20,y20,x+y<7, 2x+5y<20 (c) 23 g
@al (bz) 222 =3x5+4x2=23 w30 Brat =@, @F IR 1290 “
e e e, 100 et W o 3000 T ]
e T ot o e 4 GRS T TR d) 2000
T R TR (1T RS ARG T 1500 ( ;
w(a)so ): 0.6x+0.3y <1200; x +y <3000; Solving, 1
. s U ‘ = ! ? A
e AT T (U (T AN TG F© 1 |
90. 1ﬁmmﬁw’fwl I OF |
C) — l
(a) % (b) 3 © 4 '
W’ﬂ‘{? (C) ] = 2 - 2 4 i
|
glish (MCQ) {
; [Ans;:
91. The verb of the word "short" is- . q
(a) enshort (b) shorten (c) shorted (d) shorting [ Ansl
92. Choose the correct spelling. ’ . 1
(a) ascertain (b) assertain (c) aseratin (d) ascartain
93. What is the noun form of the word "spontaneous"? [Ans; .
(a) spontaneity (b) spontanity (c) spontaniety (d) spontaneousless |
94. If you had started earlier, you the train.

(2) would not missed (b) had not miss
A (d); (actually ‘would have not missed')
95. The correct Synonym of "indignation" js-

(a) humiliation (b) anger
96. Who is the father of English novels?

(a) G.B. Show (b) Daniel Defoe
97. Misanthropist means-

(a) One who loves ladies
(¢) A hater of mankind
T () ; (misanthropist =

(b) A person of
d)0

(¢) had not missed 1
/ woudn't have missed.

(¢) lacking dignity

(©)R.L. Stevenson

(d) would not miss
|
[Ans:b

-

[Ans: b

(d) peace

(d) Shakespeare

narrow views

€ who belieye that God is in everything
who hateg humankind)

98. The opposite of 'fascinated' is- [Ans: i
(a) dlstresseq ' (b) disapponteq (¢) disgusteq (d) disinteresteq '
9. A person claiming to pe Superior in culture anqg intellect to others. ;
(2) highbrow ' (b) elite (c) aristocrat (d) intellecya) |
W: (2); (Highbrow person) ,j
. Whi One kIlOWS his name? [Ans a’
(b) His name i known witp, eve j
3 ryone -

(d) His name 1s known ¢

e FiIfeu® rore feofEs s
www.bdniyog.com
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02.

03.

05.

06.

07.

(a) 5[A*B| (b) AxB

(c) —;-(Kxﬁ)
sty (d) ; O weltg BRI A o p— =l£&x]§l
74 I LT (Couple) I 3B =7 74w o

(a) T (b) St (c) feifroxdr

(a) 60Q (b) 18Q (©) 20
: (d); W orG=1, | sfede =1,

i SFRME (FaTe :Al , qﬁ?@%m@szz
a3w, L, =3L,

WA, V=V, AL =AL, AL =A,3L,=A, = %

pL, : pL G Y
geE, R, =—.......... () R, =222 (i) 5 (i)«
-5 e OON)

R, Ly R, RPPRY AR, T P98 138 =54<)

Shortcut: (Gt n @ 19 I @1¥ =n’R

(d) 1‘& x §|

B/ R
pDQ

A

@fos Tara Sfve CFEd SFST 3x10~ vim T e Sq0r (T CFIa St F© A2

(a) 9x10*T (b) 1x107T (c) 9x10'°T

i
3x107 L g-1x10"2T

s (b) ; c;%:ﬂxlogs
@mmmﬁﬁ@mwmwc?cw«—

(a) e e (b) GG 4fEMEE  (c) CiID I T
200N T kg STAR I8 BT 5 G Febl L | & 1
(b) 40Ns™ (c) 25Nkg~

(a) 40 kgs
ST = AT O = XA = 200x5 =

A (d) ; T AT

fifegom Rog-aa AT i
1 YAl (c) W= 1YAL”

2
(a)we%iil— (b) W=571" 2 1
1 Ya/?

—_—

TR (a); Fafgrore o< @ e W =5 T

08.* . = IS AA?
BT ceret favcaa (el @B 09 (0) R

wrae fFftu® tore fefen s
www.bdniyog.com

(d) 1x107™T

[Ans: a]

(d) GBS I

SAETE AfRIST F© TA?

(d) 10°kgms™
1000 kg ms™ = 10’ kgms™

(d) o1
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@) (b) 8n”

s (0 v = o = (2 ) T
10, TRPFRICT SERR WEH P

=:(21l'|:>< 2)2 N 25 =

(a) wGSIRTS! (d) TR

(c) wAIfvs e wpifEfed & 3

11. mmmjﬁmw— (C) mcmw (d)‘ﬂ‘?rﬁi%@%
(a) Fo o Lkl . Z
TR (a) ; T &0 nocﬁ WWWWW

12.* WCWWWWWWW 14WWWW? (d) 207.1K ‘
(a) 3122K (b) 210.1K (g)/B0T-2k

b 29x107

R ()3T = = Tax10™

13. (oS 7 IREE 939 7 [A'“:d
() ms™ ) s (©s? (d) m™ ?
14, BoIR G G (T T 07 [Ans:y
()T (b) 25 (c) = (d) o oo S e
15. 3a LT CoMreTirR SR [Anst*
ORI (b) %551 (c)IFa ww ogel () AR et f*_
16. 3wt 120m B T A 06 46w &7 | it @ s Ao i i w7 '1
(a) 028°C (b) 026°C (c) 0:24°C ~ (@ o21°C "

TNE: (2) ;mgh =msA® = gh =sAQ = 9.8x120=4200(A0) = A0 =0.28°C
17. m@@wmww@@wwmw@@mm—

(a) 10T b) 1= 1
(b) () Tk (d) 100 @&
. () B=log "0 =1 am
) 0
18. i?ﬁﬂjﬁ?%ﬁﬁﬁ%ﬁ%‘@mbiddmm)ﬁﬂ?ﬁ%?
e (b) 1ev (c)o '
T (a) ; vt e i s ke | S e
N =Llev, witffimmmg
?SFTWWWWWWI 2 |@W%mwwﬁgzww= el
e 1 O -
TAY: (a) ; miﬁmmw&f\a . -y
A
! R Y =Y,;A =4,

: ‘ RS L. TEEE—
wrae fFftu® tore fefen s
www.bdniyog.com
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22,

23,

24.

25.

26.

27.

28,

LU TR =y —vy =3-2.2556 =0.74m

(a) 9.4x10"°km ,
(b) 9.4x10"%m (c) 9.4x10%km

TAY: (C) ; T G2 Ty & VY Sear e o1R e |

. — 8
S SRS = 3% 10° x365x 86400 =9.4608x10" m =9.4x10" km

T AR I @O W 3wy

(a) 11.2Kms™ (b) 14.5Kms™! (c) 5.1Kms™
A (C) ; =& T TS Data 73 | AN =5.1km/s

R STARIAT oA -

(a) 2fbamcEm Afif{BR (b)) ser Ao (c) ~RwfioR

IS TET L AN P | TS G 9w ~enia R
(a) PUTIY (b) P €7 (2% (c) P

Y (b); W= i, P Eflz(ap.g -—1)[~:—+i] ....... (@)

a 1 r2

1 1 1 "
qR® P =-f-‘—=(wpg—1)(;"+r_} ..... (11)

w
w 1 2

Mg =155 p,=1125 5 (i) 9R (i) T© P, =4P,
TACTT WA 3.8 day | GF TG WY FS?
(a) 18 day (b) 6.93 day (c) 3.8day

693 1
T (d) 5 T, =20 ; W, T=
2 A A

FOTETE OB IS ZeeT—

i

n
a) x=—
(a) =

(b) x=(2n+D%} (c) x=2n(%%)

(d) 9.4x102m

(d) 3.2Kms™

(d) I AfRGE

(d) @B T

(d) 5.48 day

*T,, =0.6931 =3.8=0.693t = t=>5.48day

2n
(d) e

T (c); 8T FOTCAH S, "=2"[‘§] e R 7, % =(20+1)3

R SIS fF 4@ Qe e FE? :
(a) 2 @ite (b) ALY
(d) TR

(c) T ¢ Rvife Tow QT

wrae fFftu® tore fefen s
www.bdniyog.com
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BUTEX &<mea

P e p———— L

(a) 3% o (b) &1 T
30 mmmﬂ@fw:‘ww
(a) I (b) e 51
STT: (b) ; peferet s Rt T 1 .
. B
d) =
31. mmﬁmmﬁmtﬂmaﬁm‘”‘:;m? (c) i
(3) R (b) ﬁwml il
m(d);mmwmﬂﬂ’f ", : 4
32. o e o aift Sy e (©) VA (d) §
(a) 1A (b) TA i
ryt: (d) ; Group VIIA £ ' o2jf 7 )
33, NaClRIIOH RS AFITER SFAe 053380 Na* ¥ IS () 8
(a) 2 (b) 4 @6 :
T (c) ; WIS 0,414 208 0,72 & 0y 0T FRE 7RO 6 2 |
34.* 1 & T ¥ 2T O PoieT?
@ Hfedn (b)) TRl (o) wEE T (d) GRPRTE
FAY: (c) ; “HfA-cFer e Ry
35. QRGICE AL G I @UT IR G RErRG *Ife TeT— | 4
(a) 13.6eV () 136V (c) 1.36V (d) -1.36ev
T (b) 5 H ARSI &7 ST W1 9002 ¢~ 47 #IF = —13.66V T 4.
36. Wwaﬁwﬁwﬁmm B Beoiy 2 i
5 AR
oy © 2T (d) o
:(¢); ¢ I 4
TR (¢); CH, ~C-Cl+ R~ NH, - CH, ~C- NH + H(J | 4
|
R
37 2 4
R e YT S— e THRE ‘
(a) cofore gt sty (b) U O@Wms ?
38, 0.001M NaOH grerg pi i (©) T ez
o T o1
@3 " (d) T =it
(b)11
[N (c)7
aOH d
POH= oy everes L 2 gy (d)12
gOH] - _,
“PH =
14-pOH =14-3-11
= TS 30 - (c) L+
T 2240micq SRy (d) rp*
CleTray
(b) 449 & e WWW l
i (d) 8.8amy
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42.

43.

45.

46.

47.

48,

49,

30.

sayt: (d); P=1atm
v=2240mL CO, =224, Co,
T=273K, R:=0.0821Latm/mole.k
M=44gm/mole, m=9

PV=—RT =m=MPV_ 4d4xixz4
RT  0.0821x273 =437 gm ~44gm

(a) Ti (b) Vv
g: (d) 5 ZnFRT ST Sgren Ger sy R e
LT 6,6 - 9T AR T M2yt Qi

(a) 126 (b) 187 (c) 6 (d) 10
e a) ; HOOC-(cH, ), ~COOH+H,N-(cH, ), ~NH,

J
HOOC—-(CH2)4—-CONH—(CH2)6—NH2 T — 6, 6. (AT)

ATz
= OC"‘(CHZ )4 --C()I\H-I--(CI-I2 )6 -NH ] .
NI — 6, 6. (AfFE)
AN 126 Cwieg |
BIAIR EIRITS IS “Afase vo?
(a) 2-4.5% (b) (1-1.5% () 0.5% (d) 02%
wpErRrRe AAARE LIAIH , w@r Renfis = fms @ amif ome
(a) wHRA (b) sl (c) ST (d) WrzE
(- R [H] d b |
T SIANET (P GG E-ATNgE?
(a) @ (B) (b) ¥ (©) (c) @ (E,) (d) Fre (Ne)
@R FPIE AR W 76
(a) oRE (b) o=@ (c) T (d) vt
Y (a) ;W|W¢Wﬁﬁmmm |
QA BT - TF ) T
(a) 1.54A (b) 1.34A (€120 A (d)139 A
ferspimT e wIgfe fes1?
(a) FCHICRGE (b) GREFF= ORISR (d) CRHTHIE
494 I 7Y }mos—nﬂaﬁﬁﬁam@ﬁm@ﬁa@?()No -
C) N2
) NN - HNO, (g —N,0

Tg: (c) ; HNO, (18) = NO; 3 HNO, (34 *F) — NO

HNO, (afeerg) — NH,NO;

[Ans: a]

[Ans: c]

[Ans: d]

[Ans: ¢]

[Ans: d]

G s e et e o AL < (c) TREPE T (d) R T

(a) ardt a5 (b) W TH

wre fifea® tors fefes s
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BUTEX SEQIKE

51. PG TS 8 ~{BIfEIT

o) Lo (b)gj fg+ 9K,504* L
i (c) ; 20uS0, +4KI=Fa 1269)8 = 64gm 8
. 1 mole 1,oire KIamoi=4(391 e T (d) FrEEee Ry
. 2 .
53, g e R T oy (©)
| b) =T (d) ZnOFe,0;
(a) Fe R ( o i
53. e c
(a) 208 (b) 200 (d) TrEfEIeT
54, sy A & o (c) e
(a)m (b)
400-500°C
st (c); 3HC = CH— oo @ [Ans:hl-
55 o v < QTS TR R JTC T R (d) GE s
(a) CIRGIT TA (b) CREIA e U a2
56. S5 IoF S FIT 70°C STANIAR Cl, BTt TR0 (d) NeCIO,
(a) NaOCl (b) NaClO, (c) NaClO;
S (¢) ; NaOH +Cl, — %€ 5 NaCIO, + NaCl+ H,0
57. DREGHT GEMEICT TFIFO e
(a) wx (b) WHe (c) HgHey, (d) PdHe
FAR: (bJ s Wm = WHe
58. P GG SR @ e Woey AT S [Ansq

(2) % H,SO, (b) @ 58 (c) T e (d) °Ew e

3. TP 25°CTIF 35°C @ TS T ol Fomoet 3 o | fafeebe e e S oG [Ans: Blan

60.

(a) 868.3KJ (b) 83.86KJ (c) 86.83KJ
AR 39 T, =298 Ko<, K, =K
T4, T, =308 K o3, K, =K(1+3) =4K]
E,=? R=8314J/mole. k

k,] E
Now,ln(-é)z_ﬂ_ _1____1_ 4k
k R[T, T :}h’('f)z“%‘*[i
e com optionfiwer a7 oy . _
) =

3k fi
S A i e o PR S |
(@) 10%CH,cooy

(d) 0.8386KJ

(RT3 @t 3 opyyy 3 e 7 1

———

(d) 12%c, 1,01

e Fifeu® tore fefet T

? a “‘8386 KJ/molezn- (b)dla_mﬁﬁi

[Ans: i
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65.

66.

67.
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(a



63

65.

66.

67.

68.

s Conragsw (©)720 (d) 120
Ll T 4% (a, ¢, 0, u) 4 ez 17 e e A 4, I G SR AT FI

arar T 1! ST GROAB (7 - 1)y 6 5 foy
2 St
e e =4CI x1x6! =2880 Y0 e

SeCG-v'—:-%!Eﬁ cot 6 U TF Ty
) - [Ans: b)

@5 (b) = 13 25
13 1569 N i

AT sec0 = — =>sec’B="—= 1 4 tan? o 169 25 144 12

an"f0=—- t 2 = — 2 r— PR —

12 144 144:> an“ 0 144$CO'£ 0 5 S.cotB= 5

‘Emﬂmﬁ?

(a) IR AT (b) T e OR Lk (d) ==
0.3

s (b) 5 7 =2 T a0 o swea

r=asin® CATER TNFACIT FITSAY TP F97

(a) x’+y’ —y=0 (b) x* +y* +ay =0 (c) x> +y*—ay =0 (d) x*> +ay* —y=0

st () ; r=asin®=>1% —arsin® = x> +y* =ay [’ =x> +y’6 y=rsin0] =X’ +y —ay =0

cosecX = 2GR cot x = —/3 T @F Tex?

. 1 3 3
T b == = —— = ——
(a) smx > (b) secx ) (c) tanx 3 (d) cosx 5
satg: (ct+d); cosecx =2
cotx=—/3 = CF)SX = —/3 = cosx cosecx — /3 =cosx :_ﬁ
s x 2
sin X 1 1 1 NEY

w, == = —_ = —_——— = ——

tanx cosx _ cosx cosecXx —+/3 5 3 3

—-—2 :
So, (c), (d) both are Ans.
10
(xz—-;—}] a7 Regfors x <o D Fo7
X
16 81 8505
1 == c) 210 d) —

@ 4 (®) 76 ©) 7%
W' . ﬁfi i :IOC (XZ)ICM' (__1)1' (3)1‘ =L0C xZG—Sr (_1)1' (3)1' (2)—-:

. (d) s ﬂﬁ, (I' + I)W ™ X er Lrtl r (2)1' (XB)r T

4 e 8505

- xafe o =1C,. (<) B 7 ==~
3x +ky —5 = 0TI G0 AT T 4

Now,20-5r=0 =>r=4

k @y oo 3@ 2x -y +7=049R
o ST TR A E
wis Fifea® tore fofen s
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s _ - asﬁ:Z[y:—-mx+
m(a);2X-—-y+7=0=:>y;—_'~2x+7 3

BN 2 G e T =
3x+ky-5=0 :y=(—.£)x+k" _____ (

3 :_6_5._ k=6 |
TR LS T, (2)(“EJ=-—1 = > 1 == s c]
! 0 _
e " cant © (d) coversed cosec
(b) secant 6 (c) cose . -
70 ng;mﬁﬁq (0, 2) revTardt y ST TG 43R (z,s)ﬁqﬁmmﬁjﬂ:zj_s(yﬁﬁFZ) ‘T !
| (a) 4x* =3(y-2) (b) 3x*=12(y-2) (c) 3x* =4(y-2) (d) 2x
FMT(C) ; &R, TR (x—-0)* =4a(y-2) |
4 :
@, 5) R (2-0)" =4a(5-2) =4a=7 .
wefe R x* =f(y_2) =3x?=4(y-2)
. o WWWWWW?
71, s oIeE 200 fr/sec. (U SEERT S AL 30° CFCT 1 |
: — (d) 561t :
(a) 256-}& (b) 356Zﬁ (c) 1564ﬁ ; | TI
u’sin’@ _ (200) x (sin30°)* =156_1_ﬂ

2.l R SRR (T @ T (400,800) RAe SER F0 @R FRFCE WG = (400,0)

SRFN I, SR At [ 2@
(a) R @ (b) e =3 At (c)TRe SEIR T (d) o TI

(400,800)

SrYr: (a) ; s s are @000 1 5

0(0,0)
73. 25x’+16y°=400 ©-qey Ty wres tf 79?
Z 32 ) 30
@) 2 (b) = ©) 4 @ =

2 2 %

e (b) ; 25x° +16y° =400 :>:—2+§_2=1 L T

. 222  2x4? :
. BN 7w o7y = "‘5 2352 e |

|
74, «3fl ued ARt FAFAAT x-S0 2T ez ARl

(2) 2/g’+c (b) 2yf*+c () 2yg*~c (d) 24f2—c

(d) 120°

s P g amior P4 o R ;
=== =a=120°
) a =120 X ;
- p

e Foifeu® toire fofen T
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77.

78.

79.

fl 7 9T AN TSy
0

e*+e”
(a) tnle-T b =
4 ()tan (WL ( # y
c)‘z-—tan e (d)%-ktan"e
wwye: (a) 5 I= I______x_-_ I__Ef_—- _
R ﬂex+ 1 “ﬁ, e’ =t. . e*dx =dt
e* ™, x= OW t=1 Y, X=194, t=¢
o= ¥ = =l = = 711
.[(e) +1 ltz+1 [tan t] tan i’

wIf¥eT ARERT 12 WWW’T@W i)
T 5 TF WG ABCE? A | ot 7 et 7 o < Foet waee o o
(a) 333 (b) 334 c

| ) 335 d) 336
srt: (d) ; IR 8 T @ et < 4 v | v
.7 O AT NG5S S, e et = 4C, =336
iR 5310 SE=IR AR TSR Tl

1 2 3
(a) 7 (b) 7 (c) 7 (d)%
Tt (b); 9F IR 52 6 R At weer 52 B waram wraeE 204 | SkRE fm =366—52%7 =2
- 537 ST e 3@ @ 2 e g wamarm 0 37 | @ 7 B Ry T Rt
2

.-.531%‘@%@?5@31@:;

80.* faff@ AT 101101 GF I (N FSH fafis AT Q@ T @I 167791 Rorey 203?

81.

(a) 0.11 (b) 11 (c) 1.1~ (d) 11.01
sty (b) ; (101101), —1x 2% +0x2% +1x 2% +1x2% +0x2' +1x2° =45

45 5 8125aw 16x3=48 .. W @M TS T 48-45=(3),p =(11);
16

y? = 4x O y = x A AH TR (FaFeT—
(a) —sq. units (b) —insq. units (c) 3sq. units (d) 8sq. units
(i) = (0" =4x [()T] e
y =dx

S e . y=0,4 ()T
=x?-4x=0=>x(x—4)=0 x=0,4 ~y=0,410) ] T

Area = [/ (/ax —x)dx - [ @x-x)x K
_l:xz]‘ ..-_{42_-0}-——[4 0] =—~sq unit

2 3

xz
=2| —

3
2
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BUTEX SRg0e®

1 d "
82, Lm (1+x)x ¥ T~ 1 55 @
(b) -
(a) 1 ; .
1 . ln(l-H() =1+X[LaH05pital]:1 '
st (d) 5 y=lim(+X) 3 my=im——— " Corili
2 * x—0 : 1
oA TR | 5 T e 3
< ot o TR d) 4.9m/s
83.% 3 fEre 2 @@FWE&:) ot - el ( E
(a) 21.6m/s e . -9~§ e
st (c) 3 e g, £ =X 5
55 #F ¥, v=0+f5-*—-><5=9 8m/s
_1 s =ed O $7
84y 2w cr RS x = & RO -
( )x16 (b) 16 (c) 18 ’
o _ .~ =-18
2 dy 2 _ | oo wifirs = o1 =
85. sin?18° +sin®36° +sin’ 54° +sin’?72° = ¥9? @ o

(a) -2 (b) £2 (c) 0
st (d) ; sin® 18° +sin? 36° +sin” 54° +sin® 72°

—sin? 18° +sin’ 36° +[sin(90° —36°)T" +[sin(90° — 18°)F
— (sin?18° +cos?18°) +(sin’ 36" +cos” 36°) =1+1=2

—sin?®18° +sin’ 36° +cos” 36° + cos’|§

Shortcut: Use calculator.
86. f(x)=x+sinxT X 99 @ T=F & f'(x) =0 -
T s |4
(a) 7 (b) = (© T (d) =
T (b) ; f(x)=x+sinx =f'(x)=1+cosx, f'(X) =0T 1+cosx =0

=>cosX=-1=cosnT =>X=n

87. faremfifere @t sAfitom amy Tage Awfo—

[Anst
(a) ToTTE (b) e (c) 38w (d) “mafer
88. TR 64 f.fr vt kil |
ik TS < G e RIS 1.5 U I 2t | e evcatrors o (gD oo
(a) 800m (b) 600m (€) 400m
64x10° D 200m

TAY: (2) ; u=64km/h =

3600 m/s =17.78 m/s
v=0m/s, t=1.5min =1.5x60sec

g[UtV) _17.78+0
2 ) T 5 x15x60=800.1m

wrae fFftu® tore fefen s
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90.

91.

92.

93.

9%4.

95.

96.

97.

98.

99.

100,

W -

89

ﬁmﬁm&m

06 epy ?TW
ste: (b) 5 5= {x:5x> ~—l6x+3<0} = 3
- 72 AT = = g Sy — 3
J‘z“ Ec_)sz_ed9=w?

S:{x:5x2~16x+3<0}a:¢

@y

" - 1
{x:(x 3)(x——§)<0}={x:x<3‘5m‘ﬂ x>ls}

{Ans: Blank]
T
@1-3 () 2 i
,, . (©) 7-1 (d)g--z
2 COS
g 1= | 4 =i r
_L (:0529 J.o P do —Io“secﬁ do =[£n]tan9+secﬁi]§

T T
= fn tanz+seCZ‘—fn’tan0+sec0| =tnll++2| - fn1 = ol +42] -

The meaning of ‘Omnipotent’ is— [Ans: b]
(a) Feeble (b) Supreme (c) Inferior (d) Vulnerable

The professor has not written a book ......... to the masses to generate interest from a publisher.

(a) enough appealing (b) appealing enough (c)appeal enough (d) enough appeal [Ans: b]
Which of the following is the correct spelling? [Ans: a]
(a) dysentery (b) dysentry (c) disentry (d) dycentry

The synonym of “Burglary” is— [Ans: d]
(a) begging (b) teaching (c) floating (d) stealing

A person who writes about his own life writes— - [Ans: d]
(a) a diary (b) a biography (c) a chronicle (d) an autobiography

; , [Ans: ]

‘To end in smoke’ means— :

(a) To create fire (b) To go through suffering

; fi
(c) To come to nothing () Torsce 28 i —
The old man and the sea, a novel, is one of Ernest Hemingway’s .......... OKS,
(b) the most famous (c)are most famous  (d)and most famous

(a) most famous . (Ans: b]
'Andy talked as if he........... a scientist. (d) could

( (b) had been (c) was

a) were [Ans: d]

«Memorandum” 15—

2; 15[1 S Z(;E;; : (b) Memorandras (c) Memoran (d) Memore:inda '

emor. . 4 two new tractors. (What does the underlined word mean _—
Our company has just —(ggl;;r_;hased () stolen (d) dishonest [Ans:
(a) bought

ws Ffea® tors fefes wwes
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N R  BUILEA Aunusonw=: ===

Written M athematics
3 51 298 1 i
Ul*wm@amﬁﬁﬁﬂwsl+232+?2.34 533
2751 258 1
= — e — o -—,—-,-—,—-—+ ............ oD
sy S=1+2 32+1.2.34+1 5338
-1
¢, S=(1+x)" S___1+m+n(n2 )x2+ ................
- 5
tsmmnx=£ ..... i) n 1)x2=—5:; = snni(il)
; ; 2 34 81 ;
(i) R TS R, 5 et B T
-2/3 2/3
- - 2
91 2 3 3 3
02. 1 & ar swe oo 10, 4 WWWWWWW 1280 fisa/cTr. Afewet frfe g

meww«mwawﬁwm

FigE: v =u’ +2as - 1280> =0*+2x4xa ..a= 204800 ms

v—u_1280-0_,s 1035 - F=ma _ 1204800 N = 25600 N
a 204800 8 ' 1
03. ewrtac, tan20° tan40® tan80° =3 "
S LG 25in 20°sin40°sin80° _ (cos 20° —cos 60°) sin 80
2c0s20° cos 40° cos80°  (cos20° + cos 60°) cos 80°

=

c0s 20° sin 80° —%sin 80° —(smlOO“ +§in 60°) — Esm 80°

PN =y
cos 20° cos 80° + 2 cos 80 —(c0s100° + cos 60°) + ] cos 80°
2

o

sin100°+£-—sin80° :
_ 2 :2sm10°cos90°+«f§/2 0+~3/2
= —J3=RHS (Slowed)

0 1 0
cos100 +§+00580 200590°cole°+% 0+l

04. x*+y’ =9 @ ™pfe X -STHF AL 45° (I ool 0, =it SR fefy
| 1, < T34 |
TARYA: 4, =Piea T, y = tand5° x x + ¢
2 2 _
X" +y =9 381 &G (0, 0) ¢ TFIE 3 aass |
_/O+0+c

LY=X+e A x—y+c=0

5 (0,0) T® x—y4c=0 a7 Y 8 |
=3 c=132 R AR, X~y 4342

VR +12

RIS o
ASTT Wzeger rerserr
e Ffeu® tore fofes s
www.bdniyog.com
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01.

02.

03.

05.

05. j'\faz-xz dx @ T faefy
0

wm1=f:~/§2?§dx

¢, x=asin® . dx = a cos B4
K

1=[""Va> ~a’sin?g
1y, o Sin eamsedg

.-=rﬂazco529d9 =_1_32J‘“’2
0 52 ), (I+cos20)dp

oja|e

1 az{fc +-r'l:fzco zede} 1 1
=— = S s )] .
2 (2= a{ +5[smze]g“} =%a2{3+%x0} -
4

2 (2 >

GG (T FISf +2D.WWW@W?MWW%W1
g P=+2D - Pl Se f= L= Lm —05m
P2 '

AT 2. - -z 5
iz 2.0 kg S G Fore et fesa e wforz | Il Fiss fee <rem s 3 5.5 m/s” g

7Y, OIS YT F© 87 (g =9.8 m/s™)
AN P = SfoPTG PA-AOIEF IMGS T .. 5.5 = 9.8 -ACICH IS T+

- IO IS T =4.3 ms” .. ASCH A = (4.3x2)N=8.6N
aft @fbepf it Iaey 5°C a3 g 115°C it I I | I 98 S st 40°C
20T & TiBop ARG F© e ot T

:9—5 :40*0 _..9_5£@_X110 - 9=49 .. 49°C Sromma (I |
115-5 100-0 100
TR e cRaE g @Y R

S o T 2reitT @i R @ I @@ 95 (Cube) [CHECIESH
TgE: A ¢ B g7 e feg Arder V T, ACDB s KVL 4wt 3,

ontontey v-nfbl (R
5R ’
g R, 7, V=Rl ARy =
W iR @ 9w IETE 98m ﬂmmﬁWWI.SZSm.WWWWW
Wﬁ%ﬁmmﬁmmmwmmmm aaf G 9.8ms™ TS e e
2 9.8 . 9=571° .
W:tan@:{—g—:mso.l .0=5 h

h . p—q.525xsin5.70)m ~0.15125m

e —

1.525
e Foifeu® toire fofen T
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T BUTEXmR e i

01. KI gt z8re 10 am siefew (1) I(W)WWWWWWW?

Mit ._WnF_lOX2)<96500=2 {1amp
tW="2 =15 T e 254x3600 )
02.*mﬁﬁwmwwﬁw@ﬂmemmﬂwWGWW"“'W"% a
6.67 KPa T01 5elfba GG (ot 7 (e et ©7s 78, BerRTe ST Sw s 92) 1

m

78 -
I: (AR e S, X == =0.541
+

78 92 _1

. DeReea o ope, X = 0.459
-, @5, P=Pyxy +Prx; = (20x 0.541+6.67 x 0.459) kPa

03. 27°C ST SRS WF T G I FO?

— [3RT =\F><8.314><300 L —483.56ms”
M 32x107

04. 25°C Sworm @ APTA N,O, 18.5% Rraitre & | T& Rearewa &5 K, &0 et

=13.88 kPa

A N,O, = 2NO,

e 1 0 - |

g, 1-0.185 =0.815 5 2x0.185 = 0.37 !
¥
:
:
!

0.815
- LA, Ko, =7 g2 = 0688 - Xy, =0312

Py, =Px0.688 , P, =Px0312, P=1atm

_ (Pw,)” _P’x0312°
’ Px0.688 Px0.688

05. 30 cm’ 0.1M NaOH &+ 100cin’ 0.1M 2 afss gt cat et ot 1 58 s b g4
9 (WA  fiteg Ka=1.8><10_5)r }

=0.141 atm

[#73e]

- pH= <B4

sE: pH=pK, +log =) 3 NaOH + CH,COOH —s ( H,COONa+H.0
2

- FRCR G R =30%0.1x107 mole

. TR G AT = 70x0,1x 107 mole

- pH=—log(1.8x10%)+ 10g(i(1§~9;13‘_!9i
70x0.1x103 | =4377

i
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— our development.

(c) Use the right form of verb: |

(d) Substitute the following for 5 single wor(fegret) My penny dreadful period.[Ans: regretted]

d:

3

www.bdniyog.com

02. (a) Change the speech of the follgyw;
I My uncle congratulateq n\;v;ng sentence : My uncle said, “Congratulations!”
(b) Re-arrange the words to make sensib]e sentence:
Self-satisfaction, true, consists, happiness, in. :
TFFTNF{:. Truc? haPpiness consists in self-satisfaction.
(c) Turn -mto mglrel:,t speech: Ah_mad. said to me, “What time is it? My watch has stopped.”
FAYE: Ahma a'.S ed me what time it was. He also added that his watch had stopped.
(d) Change the voice : Your conduct has surprised me.
sy I have been surprised at your conduct.
(e) Translate into English: 4ts 7 31tz 713 @ 92 “9t G Sar<sa SToii7 |
F: There is no doubt that reading book is an excellent habit.
01. cot(sin™ x) «F NIT F©?
1 X
P b) — () (d) R T
@ V1-x ®) ~ -
- 1 _ Ty N1- X
e @EBS CFET (FATA TS T AFF?
02. y*=2x #@gs (Hyperbola) 4R AT T 4
2
1 8 ©) = @
il b) — 3
@ 5 ®) 3 3
y2=2x
1 2 3qu2
1/2 - 2.4x dx_ ‘-—'2‘\/5-'_[}( ]0
WNH:(C);CWTFET=2_[O de—z‘/_z—,[of “ b}
2
__4\/51 13,!2__4\/5 __}_—:—2-
= '?; E E 2,[;7: 3 [Ans: d]
03. g1=
(a) oo (b) —®
' e ., Y
L ws Ffea® tors fefes wwes
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BUTEX ST

04. x~! dx qq TH? '-L
.[ (b) © OL e
(a) Inx
i ) Ix’ldX:lnx"'c
1 gt (Slope) i
" ol e T
- y=;WNWX 2%‘*"3 i (d —2
o : (b) -8 q =0 _gy_::_-_"__y_._:__.éy—-:———l—"f:-—s
T, xy =2 o, T Mk o F . (_.)
Xy dx 2

e (0) 3 Y=

& (10010.01); Lol

06.+ Rt (110100); 4
(a) (344'}'7.5)10 (b) (30.75)10 (c) (34-75)10
s (c) 5 (110100) _(10010.01), = (3473w =
07 mﬁmmfc;)z %Wlﬁmﬁéﬁwmlaﬁmﬂmj 7.6N wm;ﬁ::
(a) 43.3 m/sec’ (b) 12 m/sec’ (c) 6 m/szc (d
7

FronoE I e
_ — .8"‘__-_-
e (¢) 5 RGP =8~ vy o g

08. wﬁaﬁssﬁemmmww:? y
1 7 2
st (a) ; SRS 366 G Qg | 364 =52%7.
wde, 364 fta JMCH Szﬁawms@i‘mﬁs 2 fatas W il ot waaia TR TRyl :%
ii.fﬂs.inSx e e
sin 7x
: 1 25
(a) 7 (b) g () 0 (d) 7
b SINSX (g SIDSX) i 7
e (a) ; Um Sk o] m 2O || B X )53 5 5
%in7x \*7° 5x =7z X—f=1x1x;=7
10. I]Cr-F-ncr—lfa'\??
(a) o Cr—I (b) mh Cr (C) n+
11. (1,1 Rgze x? + v B r+1 (d) HCH
W Y +2(x+y) =0 3057 Toig wiEr = iy v 1
e ShE © V7 |
(d) =G 7T

| e (b) ; S=y12 +12+2(1+1) =1+154 =g
2. tan20+secO=-1,0<0<2% =T O Q?WW*
: T

(@n i
&) 5 O 3
TY: (a) ; tan20+secO=—~1 O =q T, tan? 4 (@) %t
=-1

e Fifeu® tore fefet T
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e i

— T OIROT S
(a) | A]cos® ®) 15| cogg

atg: (b); —=— = . s
B CosO . x - IBICOSB

14, ﬁ%an\/;) G T Twy

@ 1
2% (b) s
r: (b); “&*i—(lnx/;)____;._&xd_( el
15. PWEﬁWﬁ%Pﬁ+J§,amww\§a2&
@ 22210 (b) 60°

T (2); x/f(P+1)sine=0+Psmze
T, \/E(P+I)=2PCOSB M, P+1=v2Pcosh
V2(P+1)cos 0 =P + P cos 20

01. et erewa (Co-effecient of Viscosity) st e | [Ans: ]
(a) [ML?T™] (b) [ML'T] (©)[ML'T™] GV 12T
02. I FBT QT STAFET ©F - [Ans: b]
(a) @3> (b) ufe (c) fe= o (d) SRy
03. A.B=0. A ¢ B &7 7< a1t 7
(a) 0° (b) 90° (c)30° (D) 45°
-.0=90°

Ty (b); A.B=0 I, ABcosO=0 ..cos0=0

04, 3feq e =iifm Botar cotarar ~ireel 3 99 T2 (7RI | @ <6 SO1 I9el- [Ans: b]
(2) e (b) festa (c) fmzzat (d) werset

5. TOGTET ¥ G o T T T W GG TS X 3B I O e [Ans: c]
(a) TR (b) @B% (c) e (d) T s

6. Torgz e aw fir e e aifde 22 [Ans: b]
(a) ey (b) &%t (c) Brar @ Rafife (d) Tt ¢ UfFe

1. 2x1075C 1 (o 20 cm TRCP SR @e-

(8) 45x10°N/C  (b) 3.5x10°N/C
" 2x10'5_ 3
TIS: () ; E=9x109xr%=9x10 e —45x10

a e Pifea® tore St s
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BUTEX SEIT
: WWWWWIOOVWL P
(a) 70.7 A (b) 70.7 V -
srn: (b) 5 V,m,—v2 =102°v=707v
09. ﬁmmﬁwmmﬁmewm . ;e BN |
(a) 9 (b) @fve ST (c) SRS - (d) T
10. memaﬁwmﬁaﬁscmwmw ? g :
(a) 90° (b) 0° (c) 1927° (d) 48.
orar: (d) ; 5in6, == 1_153- .0, =48.75°
11. WWWWWchmey [Ans: ¢]
-2 @ t="2 a1 =%
(a) t=— (b) t___é__ : -
12. meﬁ@ﬁwwmmwmm [Ans: b
(b) T =T (o Ay () SR T

13. s IECTEE 6.31 V. T 5 FNE TO?

(A) 15.32x10"*Hz  (b) 15.23x10"*Hz
-19
o ®); W, =hv, v, == 6.31x1.6x10 by, —15.23x10"*Hz
h 6.63x10
9.0V IR T Bifere T ars B A = IAfee 2I?
(d) 4.62x107*]

(c) 66.94x107Hz  (d) 9.52x10°*Hz

14. 4yF @3 4RI
(a) 1.62x107*J (b) 2.62x107J () 3.62x107*J

_ 1 1
FAE: (2) ; W==2—cv2=5x4><10'6x92 =1.62x10™J

15. fafegree fmm ey @3t Fela Aene 2o 7 G & @ afferat?
(a) Far=: effzar (b) 1ot eifew (c)wawﬁ’rerﬁw” (d) eIt etfem

01. fitea ol T’ et
(a) T1RET @57 @ G
(c) ARG € apm (b) e it @ forHas
(a) FTRTCRGrT
(b) Frefsfre
03 ?ﬁmﬁﬁwwww (¢) T
04 la())M 1; ORE “(‘“;W
" 250, T ToifFe 2r3tyie ©) CO,
SR
(a) 1.0 M () 2.0 M C‘TT?‘T:@
©) 3.0 M

s Py ® tore fefen T
www.bdniyog.com
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(3) ASZOJ (b) Mno
e fofee 2
8. @fes T e e (c) ALO [Ans:
(@) i T . @ Ni .
. H,C—CH=CH-CH, (Butene-2) (c) e (Ans: d]
(a) ST IS (b) e C“ﬂ‘fﬁmmw (d) Grem
S e a7
0¥ L-gerest OH -3F< Jrarafes <iess- (c) Prtie et [Ans: c]
(a) 1.2 ¥ ®) 2.5 (d) SRrEF Tt
|1, DNA & SCIH Z- o (©) 3.5 e Rt [Ans: ]
(a) REfFebIRT AR '
@ HOTS e i (c) Fefes TAns g}
12 S ¢ P & Wiftr faet < e (d) e
() e e i
P ©) — [Ans: a]
13. syt CFC O3 *e3a s o7 (d) e \
(3) 16% (b) 6% ' {Ans: & 1
. 0 -d} \
i, 8 & 6 S T e i - () 13% (d) 14% |
(a) 57.32 KJ (b) 58.03 KJ [Ans: a]
. D,
15, D A SHRCAY T 0 FCH- (e)ibld (d) 504 KJ
fafew [Ans:
(&) WS TPPRR (b) wwgren cierrz (o) e femiae ()RR &
0l. Dry cleaning is the process clothes are cleaned in liquids other than water. [Ans: c]
" (a) by (b) which through ()Y which (d) through
. The synonym of ‘subterfuge’ is— [Ans: 2]
i (a) deception (b) smartness (c) very clever (d) frank
- The professor was pleased with of the student. [Ans: c]
(a) progress remarkable (b) remarkable progress
" (c) the remarkable progress (d) the progress remarkable
+ Which one spelling is correct? [Ans: c]
" (a) Archacologist (b) Archalogist () Archaeologist (d) Archilogist
+ Who is the author of the story ‘Jerry’? [Ans: ]
(a) Keats (b) Shakespeare
‘ e Fifaw crins TS o (d) Somerset Maugham
P32 &
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. =008 (5] = 60°

| RS AN O, *5.-'" |

+3p? =P 4P?42P g 5T O
@t P
(c)* 4 s oz a3 400 /e 7

HﬂNH*-0=400+a><1 AR G 6N
7 1.

F——(4x10~ x400) =—1.6N; QA ;

02. (a)* STIST Il (Geometric Series

. n-1 qg B FO?
) a+ar+ar o

oy a=r) g r <l
WS=E.(_{__-2;WI'>1; Se-—l-_-_'lj“

r-1
(b) sin210° +Cot225° =17

1
A
swr: sin(180° +30°) + cot(180° cot 45 2

+45°)=—sin30" +

(c) sin3A="?
SgE: 3sin A —4sin® A

m.wrﬂj;?ﬁ=?
1-x

TRYE: [sin~' x]} =sin~' 1—sin~ 0= -;5 (Ans)

g
04.  (a) wfégeed (Hyperbola) wifieselfs forg
2 _2
T~~~ 1wy, XX

= ——— —

aZ b2 b2 e
(b) wfigues (Hyperbola) Sefirret ;
(Eccentricjt
y) Iy

FAY: Cerwfyer, (2’ +b? R
T T e = E—-—-—t..].?___
b2

d X
(C)Ex‘(a )=?

2

d
ANYIA: a;(ax):ax]_na

N M
Aoy
O v

wRe Pifta® rors fofes s
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" Bt

05

© J=16x+/—1 9 T ey
v et 43R
FE: 4ixi=4i*=_ 4 (Ans)

g 1
oe.*wﬁﬁﬁo1+(1+~5-]+(1+l+__1]+ fudad 1
5 52 5+52+53]+ ........... +n OF A 1w |

S'Il-l S

-1 4

(et

I, 1 :
agede I 1 l(l—h—)
LLILICH O 1+5+52+..........+-_-_ 5" 5[ 1)
Sn

5
50 1.1 1 5|, “1[8f 1
- leﬂ 5 (1 + 5 TS +‘5—;_—_-1-)} = Z{n‘—g{z(l —EEJ}} (AHS-)

07. (-2,1) R zte 3x +4y =8 @@= 71w vy fefa o5 |
wrg: (2, 1) Rz 3x+4y =8 @2im «w gaw
_13%(=2)+4x1-8| _|=6+4-8] _[=10[_5 iz,

Jo+16 5 5

easiu_lx '
08. dx ffa=a i

J‘\/l—x2 |
.l_ez = -l—casm_lx +c (Ans) ¢
a E‘

asin_ X
c

|
e [ Ak ;
[« asin"1x = z; \[lajxidx=dz Of, =7 ST Mt |
09. R Regrs 60° ceet s g_fe T e 7% e feraree ON 0T AR OIS S5 2 \:‘}.
TR «f3, ST eren P e P »[
TS, 92 — p? 4 P2 +2P? cos 60° = 81=
27 S.P=

lr 24, _
dx :E'fe dz =

2P2(1+cos 60°)
J27N =3/3N (Ans)

0 2"_
= 81=2P(1+cos 60°) = P* =

3T, 2pCOS30°39 pSBﬁN
ﬁﬁﬁmw

1 1
3 . p(AnB)=PA)*xP(B) =377 7%

1 e
TR crewr witg, P(A) =7 P M

wirs FIfeQ® tore oD Feres
www.bdniyog.com Scanned with CamScanner

P(AB) @ W ¥ T

3
10, P(A):l, P(B) == 4R A, B 3
3 4 x> == (Ans)
4



BUTEX ST :
e [

11.

12.

13.

14.

15.

(c) 5x10~*wb ﬂﬂ%maﬁmm 0.25
ww:cﬁwmﬁ.ssw.zszo,msm = ) WWWW?

" OIFFENE =0.2125x 510~ =1.0625x 1
. x10
m ’1533%%

ford | d’* L o?x=0
(a)wﬁm'@' g Tl ' ﬂﬂT’fm: ’E'I? o ) 1 1
st 3K IOBIeANE
(b) s e e e AT ;1.38%10
?
(c) RIS 4T T ¥ ¢
(o) fegfs (Strain) 1 ! o e T [E S
.ﬁ?ﬁqﬂmﬁilwwaﬁm zwwme < ﬁmmmm
Cﬂf‘fwﬁ;? :ﬂ'gﬂ‘@;aﬁi
st
(c) @ ‘
% FO7
:5><1014 Hz (ADS-)

0

A 199
(o) el s 7 775 6000 c__ 310
s, ¥ Sx10'4Hz C=VA = V=71"5000x10™"

() a3 ST I T fFenfo? " _ okan = 946 % -
swrer: (300000 X 365 X 24 X p
() (PRITDR SIS Sl F©?

syt 1100°C

N -B2% GifieeRed &7 |
gz‘ﬁmﬁﬂ?W@fﬁ?@aTmmmwmwmﬁcﬁﬁW AT G 2 Sitwas
B3 GifNe©Igd e |
(b) ZrfEEr= &2
s Transducer 2 &% (@G FAGET A 4F AEE W HETO FST T | TN N0

TV Antenna Ze7i% transducer 43 TArzad |

(c) SEGFITS 7
AR Nea 22t i At wdie 20000 Hz @9 6w @R I3 *90E eGP 0T |

(a) 20Q wr¢ R 10m =¥t oig i 3V emf @ IHA ¢ @3 100 @y RITS AT | O

R o7 214y Fo7
F: R =20+10 =300 = L0
3
E=3=IR == 3V
p =1=2-=01A g

20Q) iz 1z
L wzmﬁmW,VﬂRl =0.1x20 =2y [Ans.]
I AGT @14 4Q) e % 05A © YIRZ |
BT} R etz 3 I | 1 1y 97

W:I:%;I—O.S:i:>£_l= 12 1
R+4 R ) m:lz[hh_lﬁﬁ] |

2

-__._4_8_-1:>R2
RE+4 "2~ 7 TR0 wR<g (4

7=

TR rersar; —

s Py ® tore fefen T
Scanned with CamScanner
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18.

19.

20.

21.

22,



o] 3 FHIE

16x10 x1.6x107! “(m“‘9-1><10—31

n=375x10" kg )% (3x10%)2

W’IZ Mﬁﬁ%am“ 166 TS wofl 315 e 1,33 affmiaen wal o o Fsfes )
foea memﬁ@%m‘fﬁi@my

Sol“:mm’ Hg=1-66 M, =133 - - 1My =1_6_6__125
1.33
S, Mg = A =>125=— 2 —5m=2257°
sin 2> sin36°

19. D A TR 1002 € 10Q I NIEAFTSNR I 0T | SI7F 7K FNSAFTONR 6 12V az i AT
w1 10Q & e R e v 112 110(?
wte: 12=LR, =1, x10 ;'4,.,1.2

[ =12A filt

2. mﬁm«vﬁﬁewﬁ@mmwwwmﬁmzm

el 3 g st T, =273 K, e+t fegg o T, = 373K

273
T, S %
Aol N = [lﬂ—T——]xIOO% —[l———3 3)><IOOA: =26.8%

1
Chemistry (Written)

sy — COOR
’ g :%ﬁnﬁm ﬁﬁ ;‘:T - smei: H,N—CO—NH,
R ;2
(¢) CRerifim o e FIoTIe 2
2. (a) g8 =rvem TS 157
TH: Na,SO,.10H,0 S s e R

(b) FeSO,, K,Cr, 05, SnCl, & KMnO

T SnCl, e e | o —
©) 1 oy et 1 iy T G AT i

TR G a7t

-

wirs FIfeQ® tore oD Feres
I Scanned with CamScanner




BUTEX S&IRT

23. (a) SR a7 FeeS
0
0-C-CHj

COOH
HAY:

(b) sty @7 TS e |

cl
Cl Cl
CHqClg)
W'a] IC] (CsHe
cl

(c) D -gtre a7 RS |
CHO
H-C-OH
ST HO'(IE-H
H-C-0OH
H- (l: - OH
CH,OH
oD e o T RIFAT St AR T (7

faferry 5, @3 Ty = |
sSeITad A 2

24. (a)FF
SR 75 FET ¢ e GFIed

(b) 715 feaz=r (FeSO,, 7H,0) @ Tag e GRAF D
srgt: % onsw (Fe,03)
(c) CGFFeTTTa IPTfs Sifafbfe

sty (—CF, —CFE,-), — “feoagcear 2w (PTFE)
25. (a) CNET AHAMRRT [ TT o] TI0E (@I IS 3G e a1 22

;e HCI

(b) IACETTTILZS eI T
TrE: I, > Br, >Cl, >F,

(c) oesra wznfes fa?

26. 25° .anana

6. 25 cwmﬁmwl.?Sg/LmNTPw@ﬂrm
W.cwmmﬂﬂ%& d=175g/L, T =273 -
..dfTizdsz ,-_d2=1.91g/L 2 K,dzz?

IL womss 1.91gn - 2045 Mo 7 1.0

e

e fPftu® ore fofes wa: ™
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4 ﬁﬂﬁﬁ-soz-kzoz‘-‘:é-._soa “‘J"'TW,AH.__

2 .
st 0.01M NaOH JATet

2.

30.

3l

32,

33,

s

. :KC RT An:
- K, =Kc(RT) O1.7x(8.31x873y73

0.0IM NaOH &wrr g P, atm

e “PH=14-2=12 (An
- NS 2y 5
A 63.5 93x s =y IG5 sifiie wporrg (Cu) = »rgray (@t

POH= _ i
g 8 1 W0 80 O8O = Ljogrg 0y

)
00 Sec, M=‘-63.5’ C=2

M
W= mxlx t=948 8M  (Ans,)

aTA: TR, [=8A, t=1hr =36

Nx3+ 11 = 61 E 2~ +
(l) ( ) (aq) + Cr207 (ag) + ]4H (ag) —> 312 o 2cr3+(aq} o5 7H20
SATEAIT oS R <917
¥, KyCr0; +14HCL+ 6KI - 31, +2CrCl, +7H,0 +8KCl |

Correct the following sentences:

(a) I wish I can get the chance of Admission in ‘Bangladesh University of Textile!’
sgis: I wish I could get the chance of Admission in “Bangladesh University of Textiles!”
(b) By and by he became rich.

sigis: By the by he became rich.
(c) Fertilizers are used primarily to enrich the soil and increasing yield.

yie: Fertilizer is used primarily to enrich the soil and increase yield.

Fill in the blanks :

(a) The expression “Lingua franca” means — _
sty A shared common language used between people whose languages are different.

(b) The meaning of the phrase ‘By all meang’ is —
IigE: In every possible way to accomplish a task.

(c) The teacher is popular ____ the students.
TargE: With
Translate into English :
(a) Sifey ettt T fReeR?
st Ticket of which place have you bought?
(b) TRl ST (STF A |
Fargi: The girl burst into tears.
(¢) = SreT T, ¥ O O |
srg: All is well that ends well. ot bacSh

) Teasisforin the following Semel:r:e as great as Nazrul. (Comparative)

in Bangladesh ;
::T%-f?agrﬁtissnglreatef than most other poets 1 Bangladesh.

AT

e Fifeu® tore fefet T
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BUTEX &IRT

!
gor
0l (a)wﬁﬁmwm%w g ..q't'it'iﬁim
" (o) ¢ TERPB T T e 4 '
(c) x2—5x+0=0ﬂwﬂ

13 <fefs 0
@ [""*i,. o o X
e) aa-:m:aqﬁ (cubemot) el WW (supr .
® A={0,123 45
sty (a) T A
(b) 0="
r " a+4::5 = aﬂl
(C) o F T o ' ¢ 15 45-3r-61 ﬁﬁﬁ‘ 1505 :3003

(d) tr+| =15 Cr(xj)ls_r.(x-ﬁ) g " ﬂﬁﬁ' ai@i@ ﬂa|
45-3r—6r=0 71T,r=5'-’{tﬁ X

- —1 @9 9 F9?
EZ; i;ixf‘(gl: x2, (-0, 0) @3 =T £ (x) @9 T F A
(@ P+22 43+l +n =397
(f) cot (sin”™' X) & I F?
FA: (a)ﬂﬁmWaﬁwwmammme@w 0° = |

_u’sin’a

(c) V=2 x+/—1 =2 xixIxi =2 xi* =2
(d) £7'(x) is undefined

© {n(n+1)}2

2

(f) CC‘t(SiI'lFl X) =cot 001'_1

>
!
—
> |
x’\d
N
e

03. (a) (1A 936 ST o7 T T2
(b) T (perpendicular) mﬁﬁ#m,
(C)'\/:,:-f-i @Tﬁ?ﬁﬂ'{ﬂnﬁww.{m?

(d) wPret x* < x G A4 R 27
(e) sinO=1 T 6 97 I Ty

2
(f) y == T (curve line) o1 s 5 _
X- X.‘-:.‘_,, Cs‘_'-QA
277 T SR B (slope) we?

wrs oW tAre fofed s
WP e Scanned with CamScanner




I T Ry ey
oh. @ R v & T @R (moment) 3T w7 a7

05.

06.

(b)xcosa+ysinu= p
© IBHENB vy - 7,

Rt o T

D<o .
(e)8=(4n+1)-g- [n e 2] <x<|

dy & . dy -2
S SEFIs S e (S 1
(f) dx i 2 X [—2_] =_8

(b) e AT (quadratic €quation) e 2 A speay
(unequal) == oy (diSCl‘iminmt) vl T (real number) ; 7™ (rational)e =

(f) cosO=0 T 6 9 At sraqyagrey s

gt (2) 0
(b) =< TR

(c) tan”' (1) =135°

(d) Y F=ma=>2x9.8-7.6=2xa=>a=6ms2(Ans)

(e) “TIRITIET

) 9:(2n'+1)§ [nez]

f:R>R, @ f(X)=x"+3x+1 @ g:R >R, @ g(x)=2x—3 @ %e&ifie wa1 =11 (gof)(2)
ffr =2

e g(x) =2x -3, f(x) =x"+3x+1 .. f(2)=2"+32+1=11

-~ eof (2) =g{f(2)} =g(11)=11.2-3=19 (Ans)
P e Q < yafw feramaa T @t I 3o 2, O R0 A P R e #Ee o @ el

P*-Q’ @ P> Q.
Q

FEIMRIC @, o= COS_][E%] G &G R =

;1S LAOB=30,ZA0C=0 .. £BOC=2a
Son L AN
TR AR, sin20. sino  sin3a
'B&Sinza:Zcosa azcos_'[i%) (Shown)
Q sina 3
o.—4sin” o)

R Qsin3a. _ Q@sin

LICIES Q - =5 R .
sing  sin3a smn o

sin o
_ PY) ,|_P’-Q’ (Showed)
s20) = Q(40052 a-1) = Q{4[56] —1}_ (

= Q(3-4sin? o) =Q(3—4+4c0

wrae fFftu® tore fefen s
www.bdniyog.com
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BUTEX STk o 140KE 3 e A
07.* 2.8 m/s* g WII (i) e PO
(i worPreo® S ST _14008+28) = (Ang)
140k8 g =m(@B* 00.8-2:8) =980 N (Angy

-2 =
. g =2.8Ms8 m =
HAYYA: a 2.81 n1g=“"1r Rd-m(g__f)___]"‘

) Frep G S O 1 T g >
B} e e N T8 z(sin-'f/’l”'] 1
08. mﬁ@wssin‘(cos"g}ws . 1) g4sin® [sin" T)
1) _1-cos’|€0% 3 .

1 in~ —=
ST sin’[coS" 5]"‘“’52[5'“ J3

V3 -1
09. mﬁtfuwsjl x tan™ xdx
g e}
S 9%, _fxtan x dx =tan x_f
i |

2 2 x? -1 1 }_'_tf.._-dx

X oa, lr X 402 tan X*'I 2
=—tan X-—— 2 5d _1EX

2 2I1+x ' 12

dx xztm_ix__§+_l_tan‘lx+c

<3 tan‘leg_l

2
.F.._'E_ -1 _1 dx_,_l
_2 tan X 2-[ 2'[1-}-)(2 2
.Jrj_ 1 .:u:_.ll

S : tan™ 1K 3
e a5 (i 7L S ey

3n\/§nn1n1~\/§ﬂ:n‘ml—\65n
s o= (ARS)

2372 "3x2 82 8 2 26 4 2 12
10. a @3RI x* +y’ —4x+2ay—12=0 366 3x —4y+7 =0 @ =P vq01 |
W:mwm%wmcwmwwmmﬁmm|

B L (7 (2, —a); IPME =4/(2)° +a> +12 =416+ 3>

"_--= ;"a‘ PR 'h_

(2, —a) ZCe T T Ry = w 134 4a
Fe s

2

13+4a
5

:.w$¢5sﬁ; =
(V16+22)? = 169+104a + 16,2 —

=92’ ~104a+231=0 - 5= 1044(104)? ~4x9%
2\31__1044_rso
x9 T ——

Sa=3, %Z (Ans.) 18

e

wrs oW tAre fofed s
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12.

13,

(d)mﬁwwwﬁh I

(e)ﬁﬁ@ﬂ%ﬁ%m

() 10KW 1% 57 ey 3 ‘;"g:fﬁs?

s () SERrenty, p_u 49 "
g 98

(b) O @ [MI2T-y

:SS

?FCFT, W=FSC0590° =0

2.2
mv 2
)

(e) Ek =%mv2 —

e 2m 2m oy
(B F=—- = t=T1 _ 200x10x40
P 10x1000 o8

(a) 99 50g S I 10 m/s @t

sife=fea «Afaare o7 ) 950g St <ot (Feamrgr) TS w0 @2 @3k B0 T |
(b) (I SIANAIT FIFTRIZG CFTET =41 Gy

ART CHCER 9
(c) CTLFE (TECHA (AT F62 ot
(d) 29°C SN 3g FRGIST (b e fefer 3 | [MiRGaws
> T oty e s 28

(e) SRR ARG @ Sroar e 7 o
() 1w 386 =t afSeaf sjfEw oy Tge?

1
T (2) AK:EmV2 —0:%>.<0.05><102 =257 (Ans)

C_F=32 X 2x=32 _, 95 —10x—-160 = x=160°C

®) - X
5 9 5 9
Ans: 160°C @32 320°F

(c) 2s

d) E, ==nRT ==x—_
) By =3 2728

(€) 600°C—1500°C
() Regs, Tyt ¢ 1 effeFTe
2) (I (fess AT ©fes &R 1% e, el T %o T

Eb; aﬁﬁm;mqwﬁﬁ, @@ﬁ’r,meﬁmmﬁmml KA W T FO?

?
(c) 51t atgicer styieer gt € T A s RS &R DT

TR 7.5

(d) @3f> wam v 45 153
IR ZeT? M
mwv{vj’m 3

!hl I‘ ARSTT
o wrars PifeQs rore foRes s
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14.* (a) X—

13,

_p, _(1=980ULR ;00% ="

P, ]fR 2
A [§
(b) R =47><IO’+47><10 aq
mx _ -
i o ﬂTIc—m 5C 96500C il
(d)Q=It:45X7.5 = Ozjﬂzllx“)z[ﬁ

337.5x6.023x12_ =2.177
O Bl 96500

1 100x10™” 4p = 20dB
(e) ﬂ:!ologr=10]og 107"

O -
ray qF S AT Fidl FO!

(b) AR T Codt 2
(c) T 7B (o3 a @R b o ST T,

g 997
(d) @feam o 9y 2294 Jq | I
(S)QWWWWWWWT%W@? ;
H @i e owE oy 4x 107 m | a7 AR SAd FO?

satgi: (a) 1075 —107"°m
(b) e e (Fission) “afete®

(c) 7 I
(d) T, =0.693x1=0.693x2294y =1589.74y

2
GRIESISIES
h  6.63x107
P=—=2"""  =16575x10 kgms"
O = =07 .
(FRDIZ ITAC I (A G5 I AT 208 2.5 g2

CC T RIA 8m /s LT (MO I 410® “frrg e

I XL
A B C

w:chwWﬁmﬁmi BC:0+1><25
5%2.

b g s FO T

AR T@AT oF | 12.8m @

2
U=125¢... .. (i)

T t T AC 3w wfewy g | . AC=g — AB+BCg
=8t

.'.X+I-25t2:8t :>1.25t2—-8t+x=0 (2)
R I G T I 4R 9T | ey pep s >“(; Bl
o (-8)*-4x.125>0 :>64—5x>0“::> |
2 X<128

- 12.8m 97 IR R 2 s 4y
T (Ang)

s %%M

wae Fifeas tors fofen Fws
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'6Q' 250 I aﬁ%%mw

20,

e AR ST WO S

=100 (Ans.)
T Bollet 31.85T 1 @ g oo

=tan-‘1 co 0,
( 830 laﬂ45“) =40'89"

. JOIFIE AT TP rsin O | &7 g e T 20, v 2SinG

= rsin®

€, ® 9 1 O TG 76 (587 RS @01 o R SE (99 T @ T

4R 0 ST TELE FUOA @ | .. v=rsinO= |oxr|=|rxo|
feg, I @ o (ATF 7 17, @ er aawmwﬁmmwmema @ T a7

ﬁc?ﬁqanﬁi*; @7 e S 2 |
L VEIX® S V=OXT
mm@?mmw&wwwm 6000A° | 4o T ST JERG (OB T 4 |
h

W:Wﬁﬁ, (p:hfo :_A’E e=3x108ms—l

34 08 A =6000A° =6000x10""m
___6.63)(10 X3;<1 :3,315)(10"19.] © o 6.63x10°TS

6000x10~" 0=?

19

3315x10 7y 5.07eV Ans
1.6x10 .

. m;rl;}tm J— 1414 o @ C W4 @ fRedt) C 8 A TR TG FA0
et foyefar <5t |

g 4, B ey T @ v [1414 % V2]

= = V .
C,=1414V, Cy 2 Ca_ 2 _ sin90 . g —45° (Ans.)
A Ty, B T G R L AMB T 1414 sin B¢

e Fifeu® tore fefet T
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BUTEX SgI&F

21,

22.

23.

)
Ef) gt (Standard)

smri(a) 31.1°C

(e) NH, .
(a) 100cm® 0.5M Na,CO; 1

(b) FERTGITS XIS (Identificat ion)
(c) s sifeq TR cﬂ‘if?
(d) @1 CERFOIT FRAT WAT € 7 *fEEET

(e) Faaifer &2

(f) ~Afer-SIPRIRCST T 2
st (a) 100cm®0.5M Na,CO;

. 500cm’ coBTRER g cofd Tl W | (Ans)

Teld, VS, =V,8,

= v, = v]SI - 100X05 :5000m3 (AIIS)
¥ s 0.1

(b) & cerarmamize Fe,[Fe(CN), ]

(c) PV = 31 mnc’

(d) = @RFB RT A
(e) T 30% — 40% i g
(f) D- ==

(a) TfET @7 ATFE @7
(b) @I Gl WEGRT 2.95 sec T FAFTP 07

(C)WWMWWWWW?
(d) 9ToF TqTe T© N @R A A2
(e) 0.0IM HCI 53 pH %w?

(b) BT

= 500cm

() 1.0 @ FeO @ wifie a7 Fe,0, T T S e e 2

areta: (a) C,H,Cl,
0.693 0.693 _,

b) s _

S e
2

(c) 321

(d) 5 =g

(e) pH= —IOgj_-H+] = -—Iog{0.0l] =2
(f) F&** > Fe** +¢™, 96500

wrae fFftu® tore fefen s
www.bdniyog.com

g T

30.1M Na,CO;

g
s"-:

i )
T
|

Vl =10001n3’ Sl 30.5M
V2 :?’ 52 :O.IM

25
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%) gad AT LTS (apey |
0.IM NaOH sge

® b FE 5000 gy

Y- (a) +3Br, — 21’]31'3

(d) Na,S0,.10H,0

(e) 1,00,000
(f) 5000 gm A =5 litre =1 5 litre 0.1M NaOH = (5x0. 1) mol NaOH

=(5x0.1x40) gm NaOH =20gm NaOH (Ans.)
25, Y AECRE AFTTEH Aoy AT Sfbwaras 2w T Faw fe oks = s St @ St St

500 cm’ F2@ITET S T3
wrgt: STPcs, 22.4LH, aasa= 2g
= 2X03 _ 4 oaa6g

L 5 B 1
224

smarEN, W=ZQ = Q= % = 0.0446 XII X960 coul. =4303.9 coul (Ans)

OH
2. (i) @ + CHCly,, + 3NaOH,p —

NH,
(ﬁ)@ + C1-0C-CH,—?
OH

®
TR (i) @ +CHCI, +3NaOH —— @

. ci-coct, — (Q)~NH-CO~Ch I

+3NaCl+2H,0 [72w Bi2H]

s Py ® tore fefen T
www.bdniyog.
yog.com Scanned with CamScanner




SWﬁﬁﬁf Nagco3
1881 100% =

;. comer® T = 757541881

s 250cm
24.05x0.1 g =0.0481M

V,S, =

L= =S 2X25
0.0481x106x 250
e —————— =l.27465g

Or, lxv,xsa:2vaxsb::>s,,= 2,
w5 2 1000% [y o/ o agiE] =W _GimY
[vee 9 b~ 1000 1000
U 100% =59.6% (AnS) 34.
1.27465+1.881
me'wmmﬁﬁﬂj%

29, s RFEFAIAA @l e e 1428 @i P18 88
{ﬁ@r@ﬂeqﬁmw&ﬁﬁfwﬁﬁw[
142

i |

sre: P=1.5atm  mg =142g .. 0y, =
71
S8y - 8
my, =8g .. ny, :E=4
n 7 )
o PC] ='LXP= >
2 g, 1y o x1.5 atm =0.5atm (Ans.)

y - Py, =(1.5-.5)atm =1 atm (Ans.)
Lo 9
m ‘25 C @@ 35°C 49 Tfe N O A ITR

(Activation energy) I oot 971 e P |

g 25°C @ @ l o - ﬂﬁmﬁ
T K T 35° 9 ot
1=K+3K =4
=4K

..Ky E (T
LS| =T 4K
K R ( TT, ]31[1___:'_52‘“( 35-25 )

~ E; = 105.787 K] (Ans.)

A8 vf:ffmg dcw%ﬁ:ﬁ FE3
w.bdniyog.com -
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ill in the blanks with app,.
X . Appropriate Preposition,

3.

4.

3.

Corl'ect the following Sentenceg .
4) It has rained for two hours
¢) Why had you go there?

AT (a) It has been rainin
did you & for two hours, (b
(c) Why y go there? ) He com

(b) He did g sjn,
d i i
(d) Sakib plays in Bangladesh cricket team.

a mitted a gin,
) Sukib plays for Bangladesh Cricket Team.

is blessed . is chi
(a) He i »s+eeens his childrey,
instilled that id ' (b) The hoste] ; :
© He insti ea......... my mind . stel 18 named .......... his father.
i (2) with (b) after - Eg)) .HIS negligence resulted .......... his failure.
in :
(d) in

Tl'a“Sf“rg] the following sentences as directed in the brack

' i . e br :

@ wa S : azar is the largest seq beach in the world ” e'ts :

(b) He insisted that I should accompany him (Simpl. ()comparatwe)
: ¢

(d) Who does not know that he js an honest man? (assertive)
swtqie: (a) Cox's Bazar is larger than any oth i
i er sea-beach in the world.

(b) He sisted my company./ He insisted o my accompanying him
(c) Could I visit the beach soon! ¢ -
(d) Everyone knows that he is an honest man.
(a) Change the following sentences into passive voice.

(i) I made arrangements to close my florida place.

(i1) Let us suppose that the news is true.

(b) Translate into English.

(i) cTrfoa WA & AT gy
FAYE: a) 1) Arrangements to close my florida place were made by me.

i1) Let the news be supposed to be true.
b) i) Has the man been mentally disordered? 1ii) Don’t call me so often.

(i1) TYF-SLF AWICF I FS =71 |

(a) Which of the following spellings is correct?
(1) restaurant (ii) resturent (iii) resturant
(b) Which one is the correct word to fill in the blank of the following sentence?

(1v) restaurent

Acrobats must be extremely ...........
(iv) abruptly

(i) awkward (ii) affluent (iii) agile

(c) Which of the following Tag questions is correct?
(ii) Everybody loves Raymond, doesn't they?

(i) He hardly comes to my house, does he?
(iv) T am a regular student, don't 1?

(iif) Birds fly in the sky, doesn't it? 1
(d) Complete the following sentence with phrase/idiom.
at his father's death.

All his hopes were .......... —
YA: (a) i) restaurant (b) "_l) . 'e sy
() i) He hardly comes to my house, does he? (d) ripped in the bu
e Foifeu® toire fofen T
Scanned with CamScanner
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BUTEX SRam®

) __:77(6

01.* A,li’nCf%"ff””wcﬁw!Wﬂtr =
)EAX(BF' )
am (xeAYE
AxC) A
)n(axC) =

st R, (XY
=(xeA,y€ B)
:9(;(, y)E(A X B)f\
wrar o, (x,y)e(AxB d
=(x cA, yeB)aR (xeA Y€ o
x € A,(yeB 9 yeC) xeis y..

x(BNC)- (it) -

Y
(BﬂC)Q(M
(x,Y)e(

02.

03.
T fAfr s
T _2n

st TR oM, L, =
- x e o A A 2(n—r
- WRn=r W (n>0)

oo ] G

il
Mw@-

Ax(BﬁC)

(En-r-l')P

Jp=0= ~p#0, 2(n*r):0 3=
oz s x < o AR | 3R 9T TR T P 11 < o sieay
10x9%x8%x76

A (yeB a3 ye()

e
----------

_____211 C xz(“—r)P

=252 (Ans))

I n=>5 oA r=5 .. R T =>°C, ='"° Cs

FAYE: tan6 tang = A5
a+b

LHS. =(a—bcos20) (a—bcos20) :[a
1+tan? @

2
z(ﬁatan 0-b+btan’ BJ [a—iuatanz(p«—b+btan2 (pJ

1+ tan?
a9 1+tan®

_J@-b) +(a+b) tan?¢g (a—b
={127D) +(a+Db) tan’ @ "
{ 1+tan® @ }{T?\&W}

(a+b)tan®@ (1+tan?
=472 U U+tan" @) | [(a+ 2
1+tan’0 }{( b) tan

=(a+b)2tan29ta.l]2(p :(a+b)2xi:-_12

! a+h =(a+b)(a-b
)
%%Wm.

ﬂﬁwm
e Foifeu® toire fofen T

www.bdniyog.com

T 5x4x3x2x1

7 tanOtang = /:;E =¥, o3 @7 79 7, (a—bcos 20)a —
:>tan29tan2(p=3i :>(a_b):(a+b)tan?' 9tan2
-a+b %

1—tan? 2
_bx__t_aﬂ_gJ [a-—bx 1—tan (p]

bcos2p)=a* —b?

1+ tan® ¢

06-

= a2 __b2 ~RHS. (Provai) '.:""

-
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o 3 W

0 0 1
.'.AOAB=%_b_ . Izl[gf__bz B
IE' 2| m, m, “*5‘[;;”‘“‘;} (Showed)
= b ]
m,

07. RIS @, &+ﬁ=£wﬂﬁﬂﬁiw£mw@ﬁvwﬁ@@mw la2 (Pa w=%)
6 3

T: VX + |y = Va ofige y
XzOWbZaL‘la“\y:(waﬂa 0, )
,a
ﬁ=\/;—x/; = y:a+x—2\/§
a a 2 : »
N =f0 ydx=f0(a+xﬂ2\/5—\/;)dx=[3X+X?—2~/E><Exm] A @0
3 0 -1;‘% w4gy

2 2 2 2
=a +a——i JL =1a2$fél?ﬂ=' (Showed)
2 3 6 6

ﬁf af, ST G @0, 4 B o e R Ar3reeE e 2are 1280 R/ @, sifetavt frefe =)
WWW@WW‘WW&?WWWWWWI

IH: ST 8 m=—kg
=0 Vfl280

(1280) _,o4g00ms? o
v =u’+2as ﬁa‘——[ =0]="5_ = O

2s e————> |

2
F:ma :lx_(lz__g_(l)_— :25600N

8 2x4
1 1 -2 28 p BT [ 2x4_ _625x107%s (Ans)
S=ut+5at2; 8:53t ['-'11:0] =>t= & a 204800

wirs FIfeQ® tore oD Feres
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09. WP @ P+Q «® P-Q

10.

11.

12.

. #1g,
. gz sine W T° (o4 0
WFT‘Q smP o p+0=%
P+ =—,——:""::"r7:5 sin _— » \
sin(o +6) sinf -0) qina*O) WW
)+ ) [ 0 7
Owed] P+Q ‘

0 car Beotg T | (TS O

; 0
P+Q+P—Q:%

:>P+Q-P+Q sin(a
tan o
2P ZSinaCOSO::"E:E;n_—a“
i5(5_2c:osc:t sind  Q
«ofs aww 6 Barme 4 5 @ 1 IR
mmmmmmﬁmmmﬂ

;T I = 6ﬁ;mﬁaﬁ=(6+4)=loﬁ
sz =97

e <fs o i A e e = 5103
5 2
Ans.9

A FET A T S TSI =§

oo 20 ﬁ\emzﬂlaww%m
aﬁﬁﬁﬁﬁ%’@ﬁi@lﬁ%w‘

@ﬁﬁﬁamﬁmﬁaww@w%ﬁmﬂmawmﬁmwwmﬁ 10m | X N Gy,
TR AR (5T A A 7 O 64T e O @il < Gl ST 2 1 & A Afof e S

20km/hr =% 7= 7w @l 120cm /s> $ate T 20T O7 A $© GO I61 IO 1042

WZ‘QW,W u=0; @I v= 20km/hr=5556ms_] W‘T a= 1200ms"2 =1—2m5_2

=12.860m

NOW, v2 - u2 +235, - V2 —u2 = (5556)2
2a 2%1.2

ToAR R 120cms ™ waret 20km/hr @t 397 917 ey
FTENRA 1 (Ans.) WGWWWWHM

15-

16.°

17.

12.86m vy wfow et o | wde o

1T 8m T @ et e
@CWIW o
< Ims™ pad o coregm oeits A | R &
18

AR s=3t [=ftag o] ﬁtmﬁm, gt
2 -3t aTl 6t”“"t2

R T .
%8ted, . op=gg S:3t~.3x8
B =24

wrae fFftu® tore fefen s
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100x 7 x 60
171000 x1x (4030 =42Jcal™ (Ans,)

TGRS T Bttt 27,87
gty @0, H=27.87uT §- 300

uT
IR R et 300 X & R G-I o e e

We know, H=Bcos§ g__H _27.87,19%r
=32.18,T

FAg: 9, u =0.35m; V=-025m; f=9

1,1 1 1 1
fau v f 035025 - F=-1143D

(Ans) —1.143D =l ST o7 a9 <o 204
I7. fg TS S0cm TSRS @b e Wty | &I < (4, T G e o 57em IPIET G JETH TR |

=3 .8, =4859

1
1
1
1

r i

1_3
po4 -
L ec'.:_T

9%, tan ), ;hi ~.r=htan, = 0.5tan(48.59°) ]

T ST S, A e =§ A8, =

0.5m

=0.5669467m ~0.57m [Ans.]

TR MRF (510 “i1fFg ©& 57cm IPIE G 38 T T |
8. 0.50m qx2 0.51m s RFE g 77 T dfe ETFS 35 5 7R 0, LS MR @ K

A: 4f SSATR e 5 Y 2 |

R, 2= 0.5m, 22 = 0.51m

A =2m, A, =2.04m; Ay > Ay T > 15
(1 1 ]53 - v=306ms™ (Ans)

f]""f ::3 i___‘_r_=3 aT'! v
2 r A 2 2.04
s Py ® tore fefen T
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' ) R.—:5Q; m =15g

g t = 60sec.
~1calk = 4 75k

5 TSOC _,...4-

\Y I*Rt

YA o A _
v J=— =—77 AO___ B Te
H  msAD 4 (An®) Osxloswb.ﬂ‘l‘ﬂ ﬁﬁmlm.
12 % 5 x 60 =4_2].|C:11 G@gwfi‘gm i |
15x1x4.75 P 25A
20. 1000 i R et e SF
j -
g _ 'leo
::::';’lﬁm 11*1000 1":2'5‘ d]'-:jxlodj j02[] (AnS)
' 1000 0.
wrwat &, ng = LI L=ﬂf=”"ﬁ’//

feeT?
98.5cm’ =TT | g SR e F©

B s SO +2MnSO, + 5Fe, (SO4)s +8H,0
_K.SO,
2KMnO, +8H,S0, + 10FeSO, =15,

2Mol KMnO, =10MolFe’* .
21, 1 mol KMnO, =5 mol Fe?* =5x55.85 gm Fe

5%55.85x0.02x98 _
- [002x98) o) kMg, = X222 ———=0.55gm Fe
1000 1000

22, 625 gnpmd s HCI @1 R 7o 37°C ot ¢ 750mm(Hg) 5 1.265 L CO, i g
e 1 & peicE CaCO, @7 ozt fr wo? [ CaCO, @7 =iz == 1001 '
rgA: CaCO, + 2HCI = CaCl, +CO, +H,0 -

P=——atm; V=12
PV=nRT =p=s 260 65 L

R=0.082 L atm mol 'k
T=(37+273)K=310 K; n = no of moles

_ 750/760x1.265
0.0821x310

Imol CO, =1mol CaCo,

=0.049 Mol

0,049 =
mol CO, =0.049 mol  CaCO, = 0.049x100g CaCO. = 4.9 g CaCO
& o 3
R CaCoO, QT 1o qT “Afgarer = éi'—g-XIOO% =78.49
23, SFERetefa 7 g ¢ N o
() (O-COOH +C, H,0H—tal_, .
() AgBr+2NH4OH——>

27 1 4
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B qof Riftmany e ot @ @70 [{oT

<1435 ol =1.435 KJmol”

) HSO; —< O >— N=N __@‘ N iy
3)2

¥, & AT FICT SBHE @it gy 0.20mol /L «a¢

CTfEAN RSB Tt 0.30mol /L |«
affred RIS 09 T 1.80 10" mol /. TAGBT pH wer
wge: pH = pK, +log St}

[Acid] Jl [Salt]:ogm%; [Acid]= 02
Ka=1.8x10‘5mo ; H=9
——log(1.8x107° )+ log(g%) | s p

=4.74+0.176 =4.916 (Ans.)

2. 30°C ermiaE @3 95 kPa 51tet 250 ml ME@ e 0.2 g T & oW WHke o Fo7

TR: PV:%RT; M=-2RT

V =250ml =250x10"L
PV R =0.0821Latmmol"'K™; T=303K
- _02x0.0821x303 =212 Ans P= lo?gzsatm; g=02g
95 43 .
/101.325x250x10

I #ATGT (T | @ (X 1 g7 fReidite logk T I @ &
' T

-Ea
G sthext 31 ofF BIeT — 75 e s & o7 gk} }&S“’Pﬁ'f.som

a :?Ea :75)(2.303)(8316 — .l_T.
2.303R

e Foifeu® toire fofen T
www.bdniyog.com

Scanned with CamScanner




BUTEX S3RF

29. G e T fafaE
(=) @ 1 min fca f% ()
=10

dx' _ aptet Gy =
¥, 1 min S TH ’d;"‘KC‘

q| 1=l
s
—leﬁln

C,°

__10‘2260 = 0,5488
=€

_63.5x5x15x60 _; 400 Cu (Ans)

2x96500
English

31.
(a) Every nook and corner.
Ans: The new was

(b) Out of the blue.

32. Correct the following sentences:
(a) Was anybody hurt in the accident?
(b) Two thirds of the boys have passed.
(c) I got admitted into this college.

dx’ -K
E‘td KC, __C,i=-g°-c--i='e .
.'.—-7':'_#—(;0 C,
dx  KC, gt anE)
s 2 _5.ag8x107 woll ®
_d-t—'_0.5488><-——05488><10 = m@@gmwmﬁmﬁfmamw%
30. <R ST FRCR 0 15 min o 0 5 il
Elt E"ﬁi I:SA’ t:15X6oseC
T We = 50500 2

Make Sentences with the following idioms and phrases:
Ans: He searched the ball every nook and corner.

Ans: I get admitted into this college.

out of the blue to him.

(d) Hurry up yourself. Ans: Hurry up.
(e) He is bad at English. Ans: He is i
: ood at B
33. Fill in the blanks; : nelish
(a) She bursts into tears b
into - We
() i usles o vaty e Ed; ; Won the game by three goals to one.
now does not fall in Bangladesh.

(¢) The man divided his land among his song
34. Add tag questions to the following:
(a) We'd like to play tennis today, wouldn’t we?
(b) You want to b ' e
C an engineer, M-E_Q?
(¢) Success can't be achieved Wwithout effoy i
(d) Parents take good care of thej children" el
i S
(e) Your father lives in the village, doecn® =i
> 0680t he?

Cati()n
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pogof =Bl ()]
= hlg{x"}] 8ok =g {#(x)}
=h[(*)’ +1=h[x" 41] =g )= (x F 1=x0 4 |
fog = ¢{g(x)} *f{x 1) _
=|x +1)1 =x% 42 +1
<+ 80f = fog [ o o |

$X6+1+2 =x6+3
. hogof (B) =(3)°+3 [y 4
=729+3 =732 [Ans.] !
5x—X 2_.6>0 T, x Qawﬁ‘fq?ﬁi
- X —5x+6<02n‘ x2 — .
—2x+6
a, x(x=3)—2(x=3) <0 =, (x-3) (x— 2)<<00

fmis €7 ] o—p—>
0 1 2 3

o 3 ¢ 25111— =2sin11°15' =2 —+/2++/2

FAYI: ZSm— =2 2sin’ — = ’ 1—- cos— —JZ 2cos— \]2~,’22005 —
8
Jz— 2 1+cos—— \/ ~1}2+2005* (2-42+42

w[ ) _[ﬁ 130) _11.25° =11°15
16 16 T

2sm——25m11°15—\f2—x/2+f (emfTe)
16
> Jrax S frfy v T X- e = e@ 9k (LD forg i AT @R T @ AT T

X+y=3 &= Tog SO |
T «fs rew @9 (h, k) . =k

o, (b1 + (D)’ =k T I

L L RSP S S—— @)

@ (h, k), x+y=3 @W@ﬂwl
_ (i1)

“htk=3 A, h=3—Kwemmereeeee
P mem.

2 _op 414K —2k+1=K’
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BUTEX sxyanies s
Ay 0TI

0 I’ ’T
5)= 0" gf...——l
AT

()= (B-k)?-2(3-k)-2k+2=
A, k2 -5k—k+5=0 %, k(k- 5)”](1{@,5(2,1)-

2 _gy+1=1
(ii)=>h=2,-2" mm@f"z Aty 2y
. qesn e (x=2) +(y=-D* =" T
A, x2+y? —dx—2y+4=0 (Ans) 0
+
05. 1 e log, x 9 SEAFTT T4 | f(x+}1)__=]0gncx108e(7‘ ] 1
X4 - é
s o, £(x) = log, X = log, X108 fim logucxm(“hh) st 08
lim f(x+h)—f(x) -—Iog 0
oLy T LRSI X h— b 1K 1
dx h—0 h e Sl vy
1 cﬁn[I-FEJ Gma\X 245 3% o
i - g X/ =lg.® 500  h o
lim log, e{In(x+h)—Inx} _ : h
“h—0 h h—0 : 1 )
s.
] lim (1 _1h i ] = (log, e);{- (An
=% yo0(x 2x? 3x°

1
—y)d
06. (1) Y fefe 79, QAT y=¢ A C D wﬁfﬁl?ﬁﬁj yy(1—y)dy

09.
2 In(an2vx)  dy In(tan2vx) 1 2 2\/- 2——
SR (1) y=e}£ .-dx }/ 2'tan2 = ———8¢€cC ( ) \/;
| s#ﬁcz(2\/?:)3’Iéln(wnz"ﬁ5 e
& JZtanZ\/; -
i) %, 1-y=z  .-dy=dz 71, dy=—dz
1(
1
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R, Qsm(goo‘*‘go“ha 5
1 af™ 5in(00°+ o) WQO“*&)& - cosn P =g \
. = 8ingpe = __9___ W i
Q;’ w S Oleeennnnnnn,, 11) - __L 1 Sinq T '.
" p2 “‘Q-i--.z Cos? , i
1g-1_ _—sin’a 1 WsinTq ~ Wios
;Oo/fsi-n-z’; W?2 sin? o -—“-7_2_ : .__1__ 4 1 ot S5IN° o I-..
j e W WS grmer= @ _PQ : u
{ ﬁﬁﬁaﬁmqﬁhmmm%ﬂm ﬁ [‘ZQ?. e Pz__ s (ﬁ"ﬂrm \
o L‘i »-I:.l
iy e . O O G, R=%gt,t2 RN L R e S — {, %1,‘
it S, ﬂﬁ“ﬁﬁﬁﬁquﬁu R0 eff E}':
dﬁ@rcraiﬁ‘ﬂ’ﬁfﬁ [123*“) @ T 2 Wiy et et i | i
14"'
2usino 2u sm(_ = u] |
@Tﬂﬁ, tI = g 7 (1) R ¢t :—————-—___%______=g_u_?_(ls_ﬂr_ () \
- g . oo 11 ?Ii
u’sin20 _ 2usino. 2ucosg, 2usi \
S:R: =————____________=_g__‘{E]P_(EZUCOSO‘._1 = W
LE- g 2g 2 . == gt t, =RHS [CCT 2]
M 7 B CFTCPS @36 T 72 ARRE & w7 T e 7 SR @ aae werte 4 T G A
' e O QI T FACS A2
- i'Pl.j'g
@ IR S AR @y l T AR TR v
7 0 l G
6 1 l 7¢q
b
5 2 \ Te; |
4 3 \ 1%
3 4 | 5
| @ = 99 |

A Ol =99

e @R
0. a3 o 3 5 =T @R 4ﬁaﬁﬁﬂaﬁmmﬂr:§ 4%
mﬁmﬁ,aﬁ@%ﬁﬁiﬁimﬂmw q';:g?{c@aﬂtiﬂ)-y
W:P(ﬂe—ﬁamw):P(wﬁmmmem

1
3, 5S¢ 4c, A, =£+-l—6—=§' (Ans)
s| el || Gt | =2t 63T 63
?CI 9C| 7C1 9C @

e 2
L. 714 st sfoter e 799 RO 07

T
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a T '

BUTEX srxamss
,1 IN _ﬂmzk
_ 7072.84ms” =25462.224 1y

12. <R w 1600km m?ﬁ"“‘” G=67x10
W(M —6><102"kgR =6.4x10° ;ﬂ?’x 0 %6 ><1024
6 x]
o v [ 10 OO g s«
; 827><105+(27><10

13, «afb cTCe ey Trases ¥,
pe: e e 27x10° L @7x10° ‘"“5/6 “27><10’ aw 5%) = 257){%
( a5 TAMITT 0 g 21

0°2 e sTdfE T ¢ 2 iz At 15
0.6x10™)" _ 3.85x107Qm [Ans]

«qafB St

a7 5%)=2.84x1
12 ./, e
14. 0.44 SR AT R 0. " Rt %,/
= 0. o
g@'ﬁtﬂﬁw 100°C Tmerg Zkg%m

s it e, R=p—- M, P="T )
" 1kg
15.% 30°C Bwera @ 0.2 Jkg'k ™ v o e
wwﬁmuﬁm:smm;jgr appah _-1x02><(9"30):0'2(9—30)
et 4, R St . )
- 0—0) = 8400(100— B
“iifAa S Ie, Q2—2><4200><(10 J= P __840-0(10’0 ) T, (9_30)_42000(100__9) |
wrat sy, qRe o = AFe o A, 0.2(6-30) ) [ARA] 2
=’ °Cx
1, (6—30)=4200000—42000 O I, 6=99.9983 )
MWWMM.Saf&:mamwww”‘-”“ 50 ! QQW%W
fpife w5 | e coret fefar 591

16.
TR SR Wi, o, sin50° = g sinr :>si11r=1—§sm50° —sinr =0.51

r=30.71; A=g+1, =2r=61.42
17. 8x10”m SPiicda Feab @il w810 m P DT Lo T OF B2 100 ARF O oy a

SIAfEE v @St 240020, @RE Soed 1.5%x10™ wb Wmf\ﬁﬁwﬁ?ﬂﬁm@ﬁgm

TS 7

YT SR i, ¢=AB I, B:"di: 1.5x10™ B 5
A —____nx(SxIO“3)2 =0.746 Wbm

NIX!—lr 4. I__B_ZE_ 0746x2nx8x10“2

18. 25 77'5‘5‘.' WA GIe ﬂ'i!"j?ﬁ'ﬂ?r BRI R I JETH @
1.8x108 ms- @C‘i Ble 303%9 g It T | Ol
| o

AAYI: Wﬁrﬁ' t,
-—>tn —t‘/:_ﬂo\/m
(3><10“)2

: %“mﬂ'i’”“a?ﬁ WW~ 25+24 =49 7
' 9P & =gy

TToT v 60cm @z Rfy |

sk S3m R vRreY See e IR

v u f u f v ;
. 1B T e v 2T sy — e 3403 ~_06::>u 0.2m
m (Ang)
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(%) =aigp
: Na,CO,. 1
e () D555 OO @) oy gy

OH

IS (o) Pratie s

NO
0N 2 CHO H
() () @— CO = CH, (g OH i‘i:l'
L () ALO,. 2H,0 %1
® . o WI—INQ‘[ZETW) |
N Cu+ 2).=> i |
i) 3 if) (ON,C1+ (O)-Nu, ¥,
'OH '
A
i) (CH;CO0),Ca—=— iv) @ +CHC, + NaOH —»
N»Cl
y) CaC, +H,0 — V1) Cu

i

——

HCI
me: i) Cu+4HNO; (315) — Cu(NO), +2H,0 +NO,

i) (O N,Cl+(O)- NH, — (G)-N =N (O)-NH, + HCl

ii)) (CH,CO0),Ca—2—CH, —CO - CH, +CaCO,

OH OH

CHO
Iv) @ +CHCI; + 3NaOH — +3NaCl+2H,0

V) CaC, +2H,0 —C,H, +Ca(OH),
N2Cl ClI

i @ Cu N\ i
HCI
8. kg g e wifis HCI @ @R #4267
TR: CaCO, +2HCl — CaCl, +CO, +H;0

100 gm (22.4L)
aA
00gm groterce sirear s 22.4L CO:

“1000gm persirerca stheat A

o e e CO, T e T

L
224x10007 yr = 224100, [ATS 2AL]

1 T N
- Wﬁcﬂa - W ﬁm".
ws Ffeaw tors fefes Fzrs
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24. @ e @ Riwww R 596 &
0,693 =

Ve e waf¥B ArRa? o3 _ 069
TPy SR A _0.693 o, k=9"'§"" =71000 ' .
' HTT & 2303 _jog— =332x10"sec (g
B. = 10 =
2303, 8 _ o =22Pug—3 T693% =
k= t lﬂga-—x ’ k
foret |
25. mﬁmﬁ?mﬂmﬁﬁmmﬂmew o
GT | 2
wﬁﬁ:mﬁ‘ﬂﬂfﬁsmﬁsﬂawﬁw
Lo Hcl @—' N:N'@'Nﬂz +HC]
_Hol

aufs s (O)—N* =NCI'+H @-Nﬂz

sy SRR et <
s ot S TR T T e

LT § G T WIS (S T4
] =, fir =10 =3.16x10" molL .

@ afres pHwHeR T 2.5 T 1 om

26.

ST SR S, pH=—108[H+] %, 2.5=-log

1L =1, 1000cm’ @ Q3GITSH S 3.1610~ mol

PR 3.16x10° 1 ~3.16x10™" mol

o R » " 71000 = B

w3, 1 mol=6.02x10% & .'.3.16x104m01:(6.02x1023x3.16><10 ) B =1.9x10"%%
27. WA A8

3) ARTA@ P ..o |

) K,Cr,0, 93 ........ccoeuue

o) CFlere 79 (OIS FIZO ZW........... |

) WIS frErerd TEEE 54 ............. ftee a0 |

) ST LT AW .................. I

5) AICL @ siinnorronser TG TeT |

TAYA: F) TOTTI <) WFE

) PR AT ST 5T @ mrﬁmm*’iﬁtﬁmsrmﬁmﬁm

A ©) GRS ) e

28. e cltefers Sriegere g |
<) FREbrT %) @l yfe .
ANIT:¥) ~OH ) —-COOH :;W
e WW’WGW%WM@#%9W
T 9%, 1 S o T © TS
aw
7T et I3 Relr RS
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3.

3

3.

X,

©H;oy =

R k]
AT e © 46 15
- _mtr XCH;OH :1___0‘51 - 04932

iﬂfﬁﬁ K Lhia]
' gy e PCsz()H
AT SR Ty

— po
cHon = Ploy gy XX

- 7 T P=3.064.5.78 _ g o

—po
P i 5
Gatyon =6x0,51 =3.06kp
} a

Cion =11.8%0,49 — 5.78 kPa
kPa [Ans.)

Engiish

Make sentences with the following iq;
Break the ice (X7 F#1G) : Eagi & 1dioms & phrases :
a) ) : Easily he can breai the i
‘e di ce.

b) At one's disposal (ST =g S siony

11 ears (117 JCACAT) T MW T <3 ) : This duty is now at his disposal
o) Alle ) : Tam all ears to his advice Tn
d) Not in the least (%R ) : I am not in the least hungry
¢) Man of letters (R®I7 %) : He is a man of letters :

Correct the following sentecnes:

a) The matter was informed to him. Ans: The matter was informed by him.

Ans: He told a lie.

Ans: He caught me by the neck.
Ans: English is easy to learn.
Ans: Honesty is superior to riches.

b) He spoke a lie.

¢) He caught me in the neck.

d) The English is easy to learn.

¢) Honesty is more superior than riches.

Translate into English:
a) Wy Tfr @3 FCETCS of¥ zre AN Ans: Would that I could be admitted into this college.!
b) tszraat SEE |iTe I WA | Ans: Cowards die many times before their real death.
¢) offf s (wTE Tg QIR AEH? Ans: Have you ever seen the defeat of life?
. Tt has been drizzling since morning.
d of 3B ATLZ | Ans: _
A ?ﬁ ' not prosper in life who are idle.

e)WWW@"ﬂW@ﬁ%W@ sqra 1 Ans: Those can

Add tag questions to the following :
a) Let us play chess — 7 [ shall we ]
b) [am a regular student — 9 [aren'tI ]
¢) Nobody helped me — ? [ did they? ]

d) Open the door — ? [ won't you ]

¢) We shall win 2 [ shan't we ] —

: e —

s Py ® tore fefen T
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BUTEX =rgmies

+x + 10 @ T

x=2-izex’ - 3x’ 0 N
TR x =2 — i =>(x-—2):=-‘('-1) :;:’__x
B3l x+10=x—4x*+5x X -
=x (2—dx+5)+1(x* -

If, y = a cos In (x) + b sin (In x),

01.

02.
Y 1
Ty, =—asin In x.;{— +beosin x.

1 ; 1
—aooslnx.-——bsmln x.x

X
mwm’mmﬁm
T u—

=Xt =
'Calculus' =%fore e
srtwt: 'Calculus' *%fbTe GG 8f5 3¢ wiitg I

TSI WW:%:;SO 3w (Ans.)

03.

04, e o e i G (4, ) RS ORI TR T o G
i 4y +Ax — Gy — 1220 = X2 +y? +2.2x + 2 3y )
- Fefrgma e = J(d+2)" + (5-3)° _J/36+4=2410
. fodfy qrea st = (x — 4)° + (y = 5)° = (24/10)°
= x2-8x+16+y2— 10y +25=40 =x*+y’ —8x— 10y +1=0 (Ans.)
05. (i)m?{ﬁ‘fﬂw:ﬁ cosxdx (ii) carorer fAefr o ¢ j[l-&-cos2 i) dx
0 J2-sin® x .
g (i) [7_OSX 4y let, sinx = m
j" V2 —sin? x dm = cosxdx
_J"/ﬁ dm IM dm X 0 T ]
= . = 4
. -1 1IN e 1l = = ¢ _\E_
=| sin \—[_5] =Sﬁ1-15=— (AI]S.)
0

(ii) f(l+coszx/2)dx d

T 21_[(2+2 cos® x/2) dx
1

:”if(3+cosx)dx _3 :
S ‘EX'FEsz_,_c Ans,

we Qs tore fofet Fewes
www.bdniyog.com

1 :?XIYZ +xYl

il +y Hax—6y 12 =0 09 & gy

= %%m
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1
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5 (1237), = (1001 1010101),

£(x) 4x_7‘-’81
=I\X)= .,@Ei(_ﬁrcﬁ\qn\s
ﬂs."ﬁy ( 2x—4 @, f(y)=x.
4x~17 16x —28 —14x +28
4x -7 _ 4, — __ 7 X+
e y =£(x) =7 4:>f(y)=4y ? o Tk 2x—4 _2x _
e 2y—=4 , 4x-7 , 8x-14-8x+16 2

2x -4
- f(y)=x (Showed)

2x—4

. 1@= 350 HLE FLATISTE ZCS (AAGHCAT NI AFT6 LT (G 2o | AT TP RETE WA T2

AYR: G5 FAT R et = 350 [7° =343 <350, 8’ =512>350]
g AT (R AR =7

- 7 1
. —— =— (Ans
. Probability =5 b (Ans.)

—12=0\32x—y-12=0ABm1§WmADm

I, AB @ AC T gfba sTlieaet TG 3x + 2y
Tieaet foefa & |
mgR: 3x + 2y — 12 = 0; 2x —y — 12=0 4 g )
1 R SN
g __E_TE —-24y+36"1ﬂ — =3 12 7
36 12 (36 ,1_2.]
_7: Y= (X, y) (7 » g A B
L2
AB gz v, = —> .. ADEITT =7
6:14}(“'72

y+12_2 (x_géj —21y+3
1 3 7

S2ly-14x+108=0 (Ans)

é i . — RO qq‘ﬁ'ﬁ'r..-
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BUTEX &IRT

- va =40m/s

it @z 0°C TwOR T <

s, e 8, o St O°C

st we <ffe o ¢ °C TP T
4200 m O [*nfe ScafFFe o Sw=42001/kgk] sifaere 20O IO Q2 = ml;=
REICIE] A re s £== 336%‘

:0° 7 zqw 2o 0°C
% % JRo ot : O °C SR g
m. [l = % 51T A Je = 336000 J/Kg/k] JX&
Q;=Q; = 4200m 6=336000m; o =3360/42 = 80°C (Ans.) 1
13, o s cowfiv 7w Y 6.93 fir | ol T R AT G3 (SEFER T o th R

_0.693 _0:693 oy oo

m2 , 0693 _0.693_

e T, =—
A T% 6.93

N= N[]e—'?"t = & = NG e_)Lt * N= i NO = i = e_lt
10 10 10

In0.1=-At =23026=At = =23026 _,
= =23.026 day. [Ans]

14, 4=f5 Grreficaa 337 @ ol $ole oI s1eayt qelreeey
' \ 100 @32 T
FEIE 3 AT core s 7y T 20072 T (SITo% 220 (Or A, O

N
g —L = YR =V =___NS'V"_ - 200x 220
N Vo " Np " 19 %40 volt (Ans))

15. @M @3 Srzs w1 52 g
T SRR
ng ¥ 512 Cycle/sec aGR Q
¥ 20 om | G AT ot iy g R QST stz Sigers] 2l A

ﬁ?@?n-,
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ﬁﬂzﬁﬂm”)
ﬂm@ﬁ:aﬂﬁﬁ—d=365 “35*280

o5t / T = TR 851 copes
ﬂ'f ﬁmsng
o AT I IEDT Ry iy gy © 01

Mﬁm i ’Ef“ﬂﬁﬁﬁq%mhpt
= pt = 4
oo T LT =250 Bran . e
: ey
aﬁmmmm‘fﬁwsxma mtﬁ?iﬁq“%omxz.so
W‘Wﬁry& 1.5%1073

WWGWR$= i 11, T ey =3x103m~2
ST RI® 1 sxio3 =2x10Um2,

=1,26,504 orer

Ry F T e —

a3fs e e ST AN 227 3y
19. RERGECET T -
A= | T 5% o 97 S o G AT

e | 9 I AT R ¢ 2 1RANg, tan§ = tan¢ sing,

tand)—x't e}
Y- _HI » Lol “H " H; =Hcos @

i, 0= mwwcwﬁmmm

\% V 1
= tang=tand—— = tand = tand.sino

tamp:HcosB B Hcos(90° — ) sina,

0, & I e 0°C 9 100°C Txom 3wt | 97 Wi i vt (5T1w) 2

T 2
leloo =(1—§;—§]x100=26.809%

T e ﬂ—( ~F

2

|

T1=273k
T,=100+273 =373k

). H3fdle f[{fey fifacea 7 ford |
g e fRifer Bifacem e Agc fifde, T i, syt i, s Gife, Te e
L. 240 81 FeSO, & H,SO, &7 530t Wifi® T 3 At KMnOy STt 247

TW: 10FeSO; + 2kMnO; + 8HS04 — SFex(S04)s
“g=amv
FeSO, ax wife o = 55.85 + 32 + 64 = 151.85
KMnO, «z weifis o7 = 39.08 + 55 + 64 = 158.08
%‘TW, 5 x 15185 gFeSO4 = 15808 anO4
lgFesp, = 15808 1MnO, ; 248FeS04 =75,151.85
5x151.85
- Lﬂmwm"'

k‘ e Qs rorre fefes e

www.bdniyog.com
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Ba, Ca, Li, K, Fe e Ni!
wa: Ba — o 1A
Ca—o]llA

Li — o 1A

K—=IA

Fe — VIII

Ni — VIII
0.1M HCl € 0.1M NaOH p

st . 1M HC1 @3 pH =~
. pH=14-pOH =14-1=13

3 &7
Nvlon 6,6 &, &&F FIGTAEASTET
. OC—(CH2)4-CONH(C

ST (1) R wrg i H,N—(CH2)s
et Rt R =g 2o FO T

pCls— PCl; + Cl;

H @ A T

24. -
log[.11=1 -

—NH:2
m’

26.

ARG ty/2 = 30 min G

g3f ST srewiar 17°C Z© e’ 2,
o Jfa CoFeT?

RV, _PY, oV

T, T,

ot 3 (580-290) =290 K (Ans.)
Fleaerete 7 99 ¢ (¥) CH3CH = CH; + HBr

SRS

KOH

V2 _»p

Vs .
Vi

=—= 3

T,

TQ:

2

28.
(¥) CH3CH,CHCHs

|

Br

(") CsHsCH; —X™ KMaO,

3[0]

TAA: (%) CH;CH = CH, + HBr —2% o, CH, - CH, B
= 2 DT,
3" KOH (alg) CH,-CH=CH- CH, + KBr+ H,O

” CH3CH2‘CH—CH

Br

(1) C6H5CH3 F1A KMnO,
3[0]
29. M oftR (PIy Bifore ARG e

bt
memmmmﬁ:;%ﬁé
99|

COOH

+H20

T [=0.2A t=

H,)s-NH T]"

(ii)

mmmmﬁwﬁwﬁﬁm '
e S Bre AR

H;O,

32

s afire HOOC (CHa)s COoy

qﬁso%ﬂmﬁmw fafB ST =esyy

qaa,ﬁsgsrmwﬁmmmmm

«(17+273) =580k =307°C.

—

IR 50 3 e SRR et caee 0.1978°

50 min = 5() 60

W 01978 % W2=0.197g,.

Z————-:—________=329 -7 g’W:ZIt
It 02x50x60 7x10 kge™!
"
ToTTy %%

wae e roire BB s
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_Mmm,ﬁ?wmﬂ

. f)ﬁ 0, (KMo,
;ﬂﬁ:ﬁﬁ?‘ — P05, Ca0 @ﬁa(v:l) Hyg

2
o right form of verbs j, brack
CKets .

pu
jl Naney told me that she
8) (g0) t
forward OE
b1 jook forward to (get) yoyy fiik EYPt the ey
Hardly we (reach) the ail‘;)or(t elp) you, n, Aﬁz  would go
g English (speak) all over When it bega . i getting
or rai « Woul
e worlg, Ntorain, g = d have hefpeq
« Nad we reached

Translate into Bengali.

# [ can not bear such an ingy|t Ans : is spoken

b) The thief had collusion with th Ans :
e s wifyy
¢ prought ;:l;stroys our crops, Servant.  Ap. : Cﬂaﬁ?ﬁwmﬂ N TS At = | E
d) we should not defer anythin Ans ; i T Qe fer K
g fOr tOmOI'I‘ ALl THE 1 .
[

Ans ¢ ST I g S gy g
¢) There is an ordnance factory at G %W%w i
Ans : NETATAT AI6T T T +: Iazl}:!ur.

correct the following sentences : -}
2) He is bent to do this. ' \
b) The girl prefers dance than sing.

ins :Heis f:ompelled to do this.
ns : The girl prefers dancing to singing |

¢) I find no reason to go there. Ans 1 don
d) Money is hard to be earned. Ans : MOHtf}ﬂi Th oon "-
: Money is hard to earn. \
Ans : Submit the account of your journey. \i

¢) Tell the account of your journey.

3. Fill in the blanks with appropriate preposition.
a) Jerry was accustomed to hard work.
b) He was confined to bed by an attack of dysentery.
¢) The teacher congratulated the students on their bright result.
d) Man has unquenchable thirst for Inowledge.
¢) My father prevented me from going there.

ission Test 2005-2006

BUTEX Adm
L Ya+ib = x +iy et & ¥4, -1t
ib=(x+iy)3*x?‘-iy3+3ix23"3"f
R

T: (ret STy, 3/a+1b =grly =8
L ey W : =

R Mg I, .'.a=x3f3x)’2&bﬂsx
a b ed
g8 b _ o 2.3 y2,4(x2*Y2) A1)y Frove
. —_—=X" - G o= o .
E;-,._ 8 d oreretl ‘i’
wrae fFftu® tore fefen s il o
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BUTEX axg<mes
02. wx*+px+q=0a®x’+qx~* it
TT 7R x2 + x + pq = 0 AT T1
TG X2+ px + q =0 coneneonere (D)

x*+qx+p=0
AR A o TT—
a’+pa+q=0 s o +qo+p=0
IGGEIT -

0:2

p’-q’
il (1:1 Sa=

(ll) g7 AT L Besd S
=g B+q ['-'0.:.:1] '
=p .- Szp['-'(}.r-:l]

x2+Xx+pq=0

............ i) ™
o T

Q9. 2 :
Dx+pa=0 =X =(p+q)y,

,—_:>x2-'(“

,WWPGQ"

' 0 FTANFACET T | [C"T'«'tma;aﬂ

Q

q-p 9q-P
p+a)=>—p+a)=!

3, BRG] it (iii)
03. P(x,y)ﬁﬂiﬁwfﬁwmmm h
WMWWIW@,ZX-—yﬂlf
_4-2 __1 pQaamor=2

WABMUH_—5+1- -

gd i)

P(x, ) € Q(2, 3) Rt srercarera STt =

:>(Y*3)=2(x—2):>2x—4=y—3:’2’{'}"1=

x2 +x+p4=

01

(F8]

0 (CRRTTT Z51)

04. FNHTFT 8 seczg—Zﬁtan§=0

. X
S —

1 4

=0

S

FTAY: seczg—‘?ﬁtang:O —

X
COs —

cos? >
2 2

X o %
1-2+/2 cos —sin—
\/_coszsmz o :>1—“\/-?:SI'11X=

= 0=1-+/2sinx=0

2 X

X
cos cos’ =
2

!, V2sinx =1 31, sinx =sinm/4 A X =nn+(-1)" n/4 (Ans.)
05. y=x2mx=ﬁmvﬁﬁwwawmﬁﬁw«
W:ﬁ(x)=y=x2tﬂ?if§(x)=y= Jx
Y =X o)
(i) e (i) =s, x =x*
x=0 x’=]

y

(LA

x=1
X=0 27, y=0 ¢k x=1, y=]

(x, y)=(0, 0) e (1, 1)
CFETe, =fg] [fz (x) -1 (x) ]dx =J.{:(\/;-—x2)dx

=[x 2]

384

T T B oo

wrae fFftu® tore fefen s
www.bdniyog.com

X
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(2, 3) e oy SO T RA L, 2 pi

1\

07

08




9)

.. ?in,xx__-m:lnm:xlnx ;Lg_@___ i
a_ml+mx)=x*(+nx) .d _,

ﬁ e :x!
dx , dx (1+1nx)
x| I 1y 4 L

o } x| (Ans)

g [ersoex (1m0 L ferfee) o p

Je, (secx + secx tanx) dx

- =l+Inx

x (0)ux = ' f(x)+c]
=€ secx+4¢ (AJ'IS)

\Q@ﬁww{wqm P
HFPW 3 WMGQIGEWWWQWW'X'WW
miﬂmﬂﬁ dwww|mmm@’ 4o Px
P
e W PaTEsPAC=QBC......._ (1) 7 "
AT ¢ P.A'C'=QBC' ............ (i) 72 A G B
P_BC | R
HRTS Q AC : 4
P BC BC P R=P+Q
TG 6 BC—_~P+QAB | m—a (s7 foa)
P+Q AT 7 e'E
wig, (1) TR XS,
p BC BC' _BC__P l a
Q¢ AC ~BC+AC AB P+Q :
' P : r.__ . J R=P+Q
:>BC=P+QA'B - CC'=BC-BC ()
W | QU (@ S AP
B yreng afire @ q@er 10 G 117 fo" TwO s o R !
ﬁ‘fﬁ'ﬁl [g=98 ﬁ'/ﬁ] H=117m
M. T=10sec (Ans.) g=9.38 m/sq
2 ::48me (AI'IS) u=7 T4
H:-l.l._.. Su= 2)(98)(117 =4789 =
w710 H=122.5 et f5 TR |
il =l
2y _]'_lj-:12255 u=49 Sl p
B:‘g::lO,u:49 m/S 2g /
ez TREE T
wis Fifea® tore fofen s
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BUTEX e |
> Ao s ikl
09. oRrs T, r=i+j+k cogafs SR M
¥ g P 2 2 2
FAY: X-9F I 9T (S99, ;=i jr].--rfvl o b i | =3
o B B R o (i) = 7 :
QR (PR S E ( ]al—-=3=\/r—1
e rr-;la =ﬁ=7§— 1 :=9=cos'l~l_
af_l azummmf‘fwm’ cos0="73 V3
= 0 =cos (ﬁ} BRSNS Nﬁwﬂw 800 BIFl W3R 12‘30312151?.1!?{?I
afs G Reilire 200 @ 400 @FF AU o 300 tﬂWﬁ‘ﬁTmWﬁ‘fﬂWI 13
(i)

...............

10.
WGWWWWWWWQWWC '
(i); 1200 = m x 400

syt 800 =m x 200+ C
(i) s (ii) = : 800 =200 m + 1200 — 400 m

=200m=400 =>m=2 .. C = 800 — 400 =400

-, 2R i 7@ y = 2x + 400 (Ans.)
X = 300 9FF *ITF & 975 y = 2 x 300 + 400 = 1,000 B3 (Ans.)

11. o5 SR 98 €% W SO (A e 2, @ <@ 3ft T e a3 Rl < 161t Tty (o,
M0 T G = o7 o7 e Sty 7B it zre F© Sl AT AR ([T TS (2
u=0

YA ST I8F (FE, ;
l

1
3=u;t;+5gt,2;~'u,=o:¢tj= %:0.43%

3T T R, 16-x =gt * | @, v =gt =32x0.433 [
; =13.86 ft /s voem %
. 1 o 27
..x=16—2—x32x(0.433)2=16~I6x0.1875=13ﬂ m]/l X
/
12 WWWWZOO%Wﬁmﬁwma i
STy L . .
IYI: TI‘ ~2~2n/g(1), T2 :291‘/?2-_ ____________ (Il)
¢ — e e} _ 3L = =
T ‘/I::;>T2-2 {*L-I]*:2\/§sec (Ans) L1(1_+2)—3L1
13. 317 @ “#ifiwe 300 Hy oy
T @9 o (T 301 o g AT 4 16 W6 | arre | et
. : T @ 352ms~ T@
WA A, ~A, =416 = Vv )
v A ’ w'—V =4 16
= V= a ol [f::

14. 167° 352 +4.16 x 300 = 1600 g (fns) 300 Hz) TS =it ot i, o8
. 167 C@S?"CWW?TWWQW > lﬁf"f[v—ﬂ fszlme
| B AT topor -

VA =L R ol s e vy i a7
ﬂ' ! 440" =25% (A T =167
. ' - +273=440K
N — T oy T2=57+273-330K
MRty

wirs FIfeQ® tore oD Feres
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¢ ﬁ,,cr30°
nA

I

8

1.

A,

1,

() SO,)s-
. RofRf— K50, ALC™ sy RSy T B

=sin® =>d=-—"2"_

NnA
™ sin @

0x107"°
x587 =1.174%10-6
5/5'1;1/3’00f- *10%m  (Ang))

A= 5870 10719 m
0= 300

=1.99x 10 kg1 @ TS 7S 2

1 g ﬁw..ﬁﬁm (
sch i
Chwavzschild) @en4 s s

6* 6.67 % 10" Nm?® kg™?)

—-——GMxZ
mlﬂ s 02 | m —. 1'99 % 1030 gk
667x107" x1.99x10% G=6.67x 107" N’ kg2
e 3x10%) X2 =2949.62m (Ans)  |©=3*10'ms”
R =9
200 GICE G NSO e 5% @iea :
Wﬁmﬂwmm? 7 03B B e e a ofee emmmEE 1%
S I S I

:ﬁ'{tﬂﬂ.‘[ = x] ==—= I g 1

& S+G 100 S+20 m TS

G=20Q

:>1008=S+20:>99S=20 .'.S=%Q =0.202Q2 (Ans.) S=17
@ B -1 e S et 27.87 pT aaaﬁaf@@mmwamg-mmwﬁéﬁmx

27.87 H=27.87 uT, 8=30°
e B cos 6 =27.87 =>B= _=32.18 T (Ans.) ; a B
cos 30 B=1

wﬁwwﬁﬁawmﬁwmmﬁmwmwmm
1. 1.2 1-Eal=—l- .‘.V=r=300m\ -V

afef sifde T2

R cmrefera s1eceo ford ¢ feofet (5) TR

@) G  (¥) st BT (‘T)W@W ((?)?ﬁﬁ:ﬂ _(.@_?ZnSOzz-"HZO

T (F e — CuSOs- 5H20 §04. TH20

s ) g felm= o (sr)i“mﬂzr‘FfMg 4 20
Wﬁ‘ﬁﬂﬁ——*FeSOz; TH2 4H 0 32804 10H:

% 2411,

= W 2.

s Py ® tore fefen T
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BUTEX SRIQIee

22, Fircrerer off 79 ¢
Br, A
%) CH;CONH, + KOH ——*—
%) CH;COOH + NaHCO; o
1) @- N;CI + ©— OH = " ZKBr I K2C03 b 2H20 28'
B8, o= NF2
e (F) CH;CONH; + 4KOH i 0+ H,0
0
() CH;COOH + NaHCO3 — Clijr (—:N ; o -+ HCI
(ﬂ)@-N;CH@—OHa@— ol 74008 mqﬁmfaw?
23. 17°C ®wer 1.01 atm 51t 2.10 L ST ""w‘"l 4,00 gm; T = 17 +273 =290 K
RT
WPV:%RT :M=% p:l.OI ﬂm]l ) k“] mo]_] .
R = 0.0821 .a 2 ”
-1
vfi]‘%?zifs’_o —44.85 (gmol™) (AnS) |5y M=?
24, g o7 I i
(F) weeT FRepeirs BG FACT Bl AT —---o-== WWFWWT’:W
(%) 7 OF e @ S I e ST T T Gq Of ===
() <Ff> FCARGTAR BIE T ------—-= |
() G BT pP>7 T OF R --emmemen 3 |
(&) T S S - PTSTE (AT RRIAIT 7S T |
(5) TEF TR IEARG ===~ ord |
TR (%) e Sat (%) —57.39Kj/ mole () ~1.6 x 107 C (%) FIAF () W= (5) ary
RGIeT 7aet 52 sp°, sp” Gk sp WG 7 foF W |
Rl TR

25.
A RO 18 (@I AN @rere! BEd ik oy g *few 9fte e
WG BRefyy 1R Al WRBIET et 90 | “

?
é C

sp sicafre p?Fafie p RIS
26. "R g = ' i s
freT = -890,3 Kj mol™ o 1500 KJ oy 4F) Wt—'\ .
AU
Ty & ifamme Sfre e

ATE 197
Tt C -
H, + 20, CO; (g) + 2H20(I) ; AH = -890.3 K
-3 Kj/ mo]

I6gm 64 gm
890.3 Kj
' J O Testy g7 16 gm CH, wers
- 1500 Kj ®ret Seopg 2 _ 16x150 -
890.3 6.95 gm CH, vy .
02 =9

30.

- Op-97 sifggper_ 64x26.95
2 =107.8 gm  (Ang )

16
M
23 ’fﬁ%%

wirs FIfeQ® tore oD Feres
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.‘ﬂagaz"r GF IO Iy o g | ;

ety 0w, B 3 —
A AT ST Wiy
V "H‘P;Ilf 63.5%8x3600 _ %%

: o =947
Wﬁfaﬁﬂfﬁf = e (Ans.) :\: 3600 sec; [ =
45 o T 3 (i) Yerer N g i
g c M T2 P
_’l @ G URPERE 2 (j) ety (ii) By 96500 ¢ W=9
0 - Gif) (i) cnfon

(ii) roprgy i) g (iv) RNA & pnp

: ; (i (iv) G
(i) T ) DNA RN;)\H%'“ (iv) ezt
) TS (ii) By
g;f)ﬁf@gamﬂﬁ?‘ m“ﬁwq@(; D) MRy
. WW PACBIR=TT (=) firetteygers ﬁmﬁﬁww !
ar@FeT D Znoscpg N ) e e
a7 Y Na;CO;3 *MRTe 58w w - () ieTwrent; anfy
A e 250 Bt a0 e T
i W 13;5 i R 25 1 afers g 20
A S0 MV, 106%025 0051 Molar o= 135 gm
b=250 cc=025 L. My =106
a5 _0.051x25 _ .
o, S Va b¥b =S, T =0.064 Molar Va=20cc
- : o Vb =25cc
pps; ¥ TR 9 REWT @frefe ey (0.064x2) Molar 21, 0.128M | Sy=0.051 M

;. Trnslate into English :
(s) STt € Remferersyef ST 1w e |

Ans : Most of the rich people prefer to living a luxurious life.
(b) IR R T B <4 Bfbw

Ans : We should not waste our time.
(c) M0 “eTe e |

Ans : The story is interesting to read.
(d) s i =T qCeT AT AT A |

Ans : The girl cannot help talking
() WfYy Staet fyoiem ofTef® |

Ans : ] am in great danger.
1 (Correct the following sentences : i
3) Shahjadi speaks English like Englist- .

Ans :JShahﬁadi speaks English like the English.
() He insisted me to do this. -

Ans : He insisted me on doing this-
(©)Mr. Karim shook my hands.
lAns : Mr. Karim shook hands with m¢

wirs FIfeQ® tore oD Feres
wW-Ddntyog.com Scanned with CamScanner
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B ,__._,‘g.”..?_:-.

BUTEX SR<7ISP
" ied. "
(d) Two years passed since my Slsfer dlmy ter died
Ans : Two years have passcfi S";""""
(e) Rabindranath took his birth m.1 186.1-
Ans : Rabindranath was porn 1N Lol
33. Put the right form of verbs in the bm:t e
(a) John said that he (go) home {he ne et pext day-
Ans : John said that he wmlldd 0 10" ) you again: .
We are really looking forward 10 ; ou agal
(b) Ane;: e mgrcall)’ looking forward ;(?ljg@lg !
. 1ts:
(c) It is high time he (change) his ﬂdll‘lf;J > hablts
heg_h_a_]_lggg his be . -
aught the bu

Ans : It is high tim¢ i
arted eatlier, you (catch) the .
you could have

(d) If you had st ‘
had started earlier,

Ans : If you .

(¢) He ran fast lest he (miss) the train. ’
should miss the train.

& phrases -

Ans : He ran fast lest he

Frame sentences with the following indioms . 4
Ans : (a) In lieu of (b) All Greek (c)Asit we.re (
(a) In lieu of : He selects physics in lieu of chemistry.
(b) All Greek : cannot understand. .
(c) As it were :  He spoke in such a way as it were of his own.
(d) By the by : By the by, what is your name?

(e) Hand over : You should not hand over the boo

34.

Meaning-

BUTEX Admission Test 2004-2005

) By the by (€) Hand over

k without my permission.

Mathematics

01. fdax’+ =
ax’+bx + ¢ = 0 AT T 75T WA 4 : 3 T 9T (RS @, 12b° = 49ac.

T ax +bx + ¢ = 0, T 4a, 3o

4o+ 3a =_E s
a 5 (4o) Ba) = =
ﬁ?azhé _— b ) .
T g b
a 7a 312[__] _c
02 (3 52 7a a
_.;7} “W"“tﬂﬁwmw,

X

W:( 3,__"?_ 12
2} fegfere «fy, (r + 1) ©F opgz o 1!

S t)eram 12 oSy 5 Y
_..;(—5. :Izcrx3ﬁ-3r(-—5)r e
.-_XII:X36—5r - 36—-]] X .._2120 36-5¢
I':_______=5
5

11
X 93 12
TR, Tes(=5)° =12, s
e =

e Fifea® tore fofes Fwrs
www.bdniyog.com

:>120L2=E
a

2
= 12 b* =49,¢. (Showed)
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___-_-—__—_-___-__'
com =" G+ C+7C, 47 ¢
ﬂgﬁww5x+4yq Lo

k e =
ﬂlﬂf‘ﬁ:s’{+4y_l=0:$y=‘--‘5-x+_l_ Omem1
alll o Ll (@
—7=0:> - = T
kY b £ kx+E ............. (ii)
- S (2 8
@) ==y = k=2 (Am)
_ NWWWWWW 43
- T 4 )Ia“ﬁ'ﬁwaf%ﬁw1ﬁ°ﬁ$ﬁwmm4mmx_w

A YT TR 8 (y + 3)° = da (x - 4)

sda=4 D>a=1 . (F+3)=4x~4) =y +6y-ax+25=0 (Ans.)
6 oot Boot C+cot Ceot A+cot AcotB=1 3, A, B «x: C aammW“{TﬁWI

gt cotB cotC + cotC cotA + cotA cotB =1

— cotB cotC + cotC cotA + cotA cotB — 1 =0 = cotC (cotB + cotA) + cotA cotB —1=0
ekaeorE 0=>cotC+cot(A+B)=0 t(A+B C "

— = = = . = B

cot A +cotB cot (A +B) = —cotC = cot (n — C)
sA+B=n-C ..A+B+C=mn (Ans)

3
' < —1\2 o . [l—cosX
. wore fefr e ¢ (i) y =1Inqe* [——'—] (i) y =tan \J1+cosx

=cotC +

x+1
3
= - 3 3
e (x=17 _, .3 ?_Ll] _x+o(x-D)-Znx+D)

03 1 3 L aps)

& 2(x-1) 2(x+D

. Zsinzi F _L._@Z.;l (Ans.)

(i) y= tgn~! }I—COSX Lo #__,___}2{_=tan tany | "3 T 2
1+ cos X \ 2 cos’ . _
e Fifea® tore fofes Fwrs __A _
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-
coS X dx

08. =i fydfr=a 2 (i) J’J1+cosxdx (")J“ﬁ”x/

BUTEX =g<mee

(ii) Let, cos ™' x=m; X =

2
1 0 1102 - fi}s L (Ans)
J-Ou —mdm = —5[1“2],[,1 =73 4| 8

09*4mm§wﬁ‘w6ﬁ3ﬁ@fwmm

o e o o A _inedmE

s v2 =u’+2gh = v—m m/s =1
(10.84) _ 176 m/s’

FIWIF 8 THY VI =V —235 =>a="—"hc ?_,XOOS

Ans.)
4 1176) =4.74N (
sTE';T*ffﬁT=F|+F2—1000><98+1000 x(

mg(h +X)
wedr, mg(h+x)=Px = P=—g—(;{—-—‘-

_Adg@m+Scem) _ 74N (Ans)
5cm

10, @ 4TSt o AT 2o SR R X EOP G R 2o 45° et @ T8 FCES 90 2 1 ot o
s ot foce o @R G o AT y TR T BT AT | (RS G, (raiog Sover XY

X+y
A R=x+y; 0 =45 Y
4f3, Twer =h
®RE, h=xtano | 1-— | = h =x tan45°
R X+y 450

~ >

nh(_y—] nha ¥ g
= iy (Showed) X y

IR ﬁfﬁmﬁ ot fofers a3
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b e it e
! SRRSO
0.7[_0-:5_7x10_aw %ﬂwm,ml

4

I5.

16,

18,

2
| W P~ =R =
A T

60°
cos 60° :
mg mg mgsin 6 0.

. CFTT 2
e E = Ae oT'=0.1x0.7 5.7 x 1078 m k)
" E= (3990 % 3600) J = 1436 x 1057/ (. 1000*= 3999 yy- !
smwﬁlﬁﬁﬂmﬁﬁmwmm (ADS) 1
| @ 500 m/sec @R 3 ] CRIYT =1 | it (ot

| (A A et 3(:}0022/5%' TR i 400, gﬁ.n; -
031 Keal/kg°C, 1K cal/kgec = 418/-11::17:W:?T e e

" g°C)

Em(vl —v§)><40%:mSAe

1
— (500 —300%)x 0.4

=246.72°C (Ans.)

= A0 =
0.031x4184
0.15 cererT iRy 2 @i seer woftam
YT SUHY AR
<7, O T R e < ® b e 7w e e et e
g £ =0.15; m=|~ 7 0101
u - 3
I . _‘k “=?. -\11
= 3= - T i R (i) 02 ’[
1 1
(+Ve) —t—=—= (—-Ve) ._1_+_1__-:._
Vi uy f vy W f \
1 =
:>—+i=—1——:>u1=0.2m :>——1—+ : =—l— =>u=0.1
3uy u, 0.15 3u, U, 13 \
LU -up=0.2 —0.1=0.1Im (Ans.) L3 %
WQ@%Wﬂwqgwﬁ@@gﬁwwm3cmtﬂ'ﬂ’{tﬂﬁWWﬂ“T%DmS = @ 1\&
i
i

W 3p #erreifta 550 g eI <1 5 T T
P S = N, = 55% —— = 1.65m (AnS)
100

% tagfee 3fare 220 volt IR
DRt 2 et 2R 2 T DI T
(220)° _ 40339 (Ans.)

1200 watt (@ SR | 9F ey 37 T

a6 Ae?

s Py ® tore fefen T
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BUTEX SIme®
19. 1m? crawes RREE q3f oo @@t T

20.

21.

22,

23,

24,

25,

26.

B

web 0T 59T @ (BTN R W0 (T
¢

e @ = AB cos = cos0 = 35

8x104
_ o af _8x10_|_7846
= 0 =cos []x4>€103} /
7 T e _L
20 Y

6, = (90-78.46) =11.54 — S

mwms.sthnmmﬁﬂwm
weifaafde AFA? :
0.693_ , _ 0693 _ 0.693 _ 1814 day™ (ADS:)
e Ty ==~ =47, " 3.82
* 1 N° N 1
] —0.1814t B R e ST
-Miﬁ‘“m:’”iﬁ:em N=%0 "N, 20

Again, N = Noe No
ds Ans.
ik e S0, R4y s Eleaday s (Avs.)

Chemistry

100°C @2 1.0526 atm Bitet CO, 0Id 949 F©7
g_m —1'0526X44=1.5g/L

g
JaE: PV==R e o
PV =X 2V RT P 0082%373
1 R 200 cm’ g9¢t tefda ey Ao WWWW? (&) H,SO4 () Na,CO0,
A CTIEF JICT AR,
200 cm® 1M gacsis H,SO,4 «fices s

200 cm® IM %3t Nay,CO; @7 Afimtat S, =21.2gm
1000

e diefem anife e ¢ armtae 79 g g (F) =fpe siptoy e
TAA: (F) N2O (TGP WHZS) (%) Fe,05.3H,0 (Y =l WI?@)(QO .

(*1) ALO; (SegfafaarT SHEZE)
160 Cm® O.SMmﬁfir@ﬁamﬁr@mwﬁw@wmeaOH AT
z ?

FArE: HSO4 + 2NaOH — Na;SO4 +2H,0 . 1 mol H,S0, ?
160cm’ 0.5M H,50, = 2X40x160x05 _ 2504 =2 x 40gm NaOH
=0. gm NaOH (AHS )

40 , 0.5 ’
cc (N) HC], 30 cC I(M) HzSO4 e 120 cc I(M) HNO () FH iﬁia5 P
' . e g

ST S G, T = rrenfay o
f;:i'%;rocr;:ﬂ(s::;;;ﬁ32:;;ﬂ_l;2+1:20><0.I><1_—.t:?l\?yf;[g:> e

T IO S et sty forg P T, N = Al
) [C.o(NH3)5 Br]Cl, (%) KJ[FG(CN)G] %T*T) , N=0.484N (
TAYE: (F) (AT T = et M = 6 (Co) [Cr(NH3)4Cb] Cl

98x200=19.6gm

() R €1% ST siyeae sty = 6 (Fe)
(ﬁ)mwmwﬁmmmzﬁ(&)

C ﬂ%%%

e Fifeu® tore fefet T
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h I_'- !?‘ cozm—;ﬂ. ﬁs
frﬂa fﬁa“’ﬂﬁm@m i,

@wﬁ??ﬁ@@ﬁm&m a(OH)
ﬁ‘ﬂi 107° S T ey
P (®) SP3, 107° (%) SP;, 104 50

AATLTIR W‘{MW ) ("'f)
g aaEe 6.6 () sifemey " o
@ " ) ofePre 0
-
o P o
(ﬁ)wem(HzN“CO-_NH ) |
(FefaT A/ ey Wﬁéqummw a
0 (Tﬂgs"e cﬂ?_(t?i‘l'\"s? (:;)' %ggimﬁ T W@m \ '
e S FEE (%) n-cepy (o )
O () V061 D g AT (5 o™ 47 < st z
(@)WW-W \gmg‘@ b WB-DWWW’ ]
(ﬁ)ﬁﬁﬁﬁ@ﬁ!@mmﬁ@%@ﬁ@;ﬁ;ﬁﬁ | et | %
\ 3 \g l

@)W—CHOWGW_COW: ] t

;1. Correct the Following sentences: '
(a)  want you reply immediately |
Ans : I want your immediate reply./ I want you to reply i _

(b) He pride on his wealth ply immediately.
Ans : He prides himself on his wealth. Or, He is proud of his wealth.

(c) I must take your leave. Ans : I must accept your leave.
(d) She cut of her hair. Ams : She got her hair cut.
(e) I came to know by and by. Ans : I came to know by the by.
1. Write the differntiating meanings in the Bengali:
(a) Council #fz@m Counsel =@
(b) Dose =@t Doze et
(c) Eligible =iy Tllegible T Al T |
(d) Staff =ERIF7 Stuff &AM |

(e) Waste =2 w1, w1 Waist oy |
B. Write sentences witirtlle following phrases: "t1}
\

2) Give up : Gi ur bad habit. |
(2) Give up : Give up yo through the book. | I

)

(b) Go through : I have gone : o

9 Comeetoss: ame 810 8.0 3t |

%3) Get away with : The boy got away ¥ it |

ranslate into English: . Did he give me @ - |

(@) o1 s sy m’sgmmai‘ﬁfﬂfﬁ% ‘ons + Three-fourths of o P‘;P;‘;;;;“ S l
419 | ’ ; t alway '

(5) Srore e oo AT poun: Thorich 30T !

() €t 7y s1ary 7 _ 7 | . He rules Wit " ericillness.
(d) oy <oy 2t =417t 6 | - iﬁ: He couldn’t come becaus ,
'i z
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BUTEX &g

79|
ﬂﬂﬁﬁ@ +3=0 'x4+4x3+6x2+4x+9

~ 12 (Ans.)
qfB AT Wm,wm
R

0. x=—1+iVZ 701 x* +4x> +6x7 +4x+9 ¢
2=
A x=-1+iJf:>x+1=iJ§:>(x+1) =
2z
=x2(x2+2x+3)+2x(x2+2x+3)-'(x + 2%

=0qﬁ1ﬂm‘lﬁ“m“qm
7 I a+k=y ¢ Pp+k=38

g x 2K
+3)+ 12

02. 'ﬂﬁ‘xz—bx+0=0\ﬂ2x2—cx+b

@b+c+4=0 .
Z =
s X2 —bx+c=0 @@ T a8 p IRX —cx+b

=b;af= -ﬂﬂ'&’y+6=c@76=b "
il k=a-p = @-8=@P) = (y+8)' ~ 413 =(a+P)" ~dop
_4c—4b = (b+©) (b—c)=4(c—Db)

- pt+c+4=0 [Proved]
p s Q e @ ¥ | PQ @ 7y iz

o, y-8=a+k—Pp

~

— c?—4b=b*—4c = b>-C’
—bt+c=—4 [bc i (b—c) fwrsr]

y=2x + | 4R 2y—x=4 G730 oS (IR TR Y-S

03.

T y — 2x — 1 = 0 @R 2y — x — 4 = 05 (PTTT

y—2x-1_,2y-X-4 _ ¢ ox-1=%Q2y-x-4)

ViE+22 T YR +2?
EF T, y—2x—1=2y-x-4=>y+x-3=0 :>§+§-=1 [y wEes (0, 3) Ko e 3w

e T, y—2x—1 =2y + x + 4 =3y —3x =5 .. %4%:1 3y wreE Q(0, %) R @i

3 3

3
04. (2,3) @2 38 aw v
W;:%(Z’iMWTEQTWWWWIWY-W%WMWWW
.'.(x—2)2+(y—3)2=22:>x2-4x+4+y2—6y+9=43X2+y2__4x_6 F0= EA:
y 9% e € Tt @z o, Zmzo (Ans.) i el
05. = e 37 2 /3 5in 0 — cos O = 2

~p=(03Q=(0,%) PQ-aa g = (0—0)*+(3-5/3)* _ J(EJ =4/3  (Ans)

AYS: ﬁsinﬂ-—cose=2 ¥3 1
| = 5 SINB——cosQ =1 i 2
w 2 =>smﬂcos—6-—cosﬁsin3—l
. o T} i n _
:>S]I1(9 6)_1 ..9~~6—=(4n+1)121- .'.8::(4n+1)n Tt(
o F—={Ans.)
2 .6 '

06. (2)* Wr=fTas €1l Bra «qar epmrer 2 |

(b) y = (tanx)* + x*™ g, % v
-~ 1 ﬂﬁw

wirs FIfeQ® tore oD Feres
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T

A

ﬂ@wm 9«”3, f(x) =a]

z X)=ap + a;x+9-v2

-------

Gy T

2a:x+3,52 "u,
' IX +4a4 ||
. (X) b 2a2+2.3a3x+3 4 i Iln
£ ), £ (%) 1% Swg N s .,
™ A (0= X = 01, |
; ﬂo)ﬁ a0, f’(0)=al’ f (0)_ 2!32, P”(O):3133"
oy 81 2277

cenee G (1) TR @ oty oy o1y

e GRS Wy £(0) = nta,

x" 3
0+ K0 + 270y 4 X g |

f(x)-f(o) © 2! L 3gf (O)""'+%f”(0)+ ....... % ]
oy~ (tanx)” + X = y = eI | tnxing ""z:a
x 1 l;.ll
%: (tanx) {ln(tanx) e sec’ x} + x {ta:x +Inx.sec? x} \
{
. X cos® }
._,qz:(taDX) {ln (tanx) +— x}+xmx{tanx +Inx.sec’x} Ans .'

i sin x X

q 100 £b ST G TECE AT AR TR G Jo 21 1 3w S AT T 45° @ 30° G WS |

e BT e 9 :
A AT GrelTwy QT TR AR,
- ) T, 19 0100 171
Sn(60° +90°) sin (90° +45°)  sin(1807~607~457)
.1 2SI150° 100 =51.764 fb—wt (ADS)
“! sin75°
Lp. SIN135° 00 =73.21 fb—Wt (Ans.)
I sin?75° |
712 e d (D i s i\

B wfdfrsas (i) _[ (1+cosx)”sin¥X % m

0

k.2
. | z°dz
T (i) _[ 2 (14 cosx)” sinx d I

T
2
0

(Ans.)
8
G Txdx _7 zjsj}i:—;’-[zﬁﬁ
gl " 0 J7 (Ans)
¥ =7lJ-2~8—ﬁJ=7(2ﬁfﬁ):7

wrae fFftu® tore fefen s
www.bdniyog.com
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szoms'
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BUTEX S5aes
09. T SRTEeT IR @ R 84

Ty Bt Zm"wﬂwmmﬂ
RYA: ﬁ,tmm%@@,ﬂw“’“'a

1 2 _¢2

B e 2>(t =t = P e
e T8 WoTe [We 5 X - (t-14)(t"6) 0 ..t=14,6. :
{2-14t-6t * Wmﬁwwﬁmm|

5 20t-fP=84= ¢ -20t+84=0= ofu® |
4 1. |
mﬁmmmmwm@m% .5

Wmﬁﬁ.ﬂﬁmWWiWI&mww 5
10. 200uﬁvmwﬁt§m40www,20wwﬁmﬁm i []
camwmﬁwﬁmmﬂvﬁwﬁﬂf - e
A EWWQWMWWWW=4O—IU—- [] ﬂ
150

30 3
TR =—=— AHS.)
N 200 20 (

LAY (
11 aﬁﬂﬁﬁmﬂﬁﬁm?lﬁmew4ﬁml31.4ﬁﬁﬁWﬂﬁW S AR 9F 16.—
Qs AR el T e -
Swer 7.2
FR e = nr’h = m(2)’x7.2 = 90.47x10’ Litre
17.

. TR N ©q =90.47x10° kg [ 1 litre T =7 =1 kg]

\ 90.47x10° x9.8 3.
~p=—  1Eh B0 x98X36=1.69kW(Ans.)

t ot 31.4x60
12. 20m€§a¢fﬂwmmcart$mwawcﬁﬁmﬁrﬁ%mmlwﬁwgﬁmfufmwm'mwm
3 7% ST IR YZ0E TS @0 TolBReT?

MRV =’ + 2gh =u” =v - 2gh = u2=(22)~ 2 x 9.8 x 20=90
S u=9.59m/s" (Ans.) |
13. A2 com faer Fifirres 8.50C IR ISP 18.4°Clwwﬁrasmﬁrqu| 8°C, 9°C, 18°C ¢ 19°C

(9~ 8)°C wrefamar 3fice qstor N

. )3 " R (8.61 - 8.04) 107m=0.57 x 102

. Piffmres ar 8.5 C @ 31y, f=(8'04+0'57><0.5)x10-3 D7 x107m. 18,

18.4°C q 3r=»is191, f={15.46+(16.46——15_46)x04} 10
. X T

_ 8.325x1073
15.86x10~3

M=8325%10,

m= 1586)(10‘3 m

. R x100%=5249% (Ans))

Es

wirs FIfeQ® tore oD Feres
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mr-{@r

T a5

22/s 1

19°C

sin42_ _
¢ W"la‘— = ‘

F_ sinr  sin42° st _

i l“""J‘l"’(05051) 30.2° (Ans)

o
!t" y P V., Y
5 = V; = =P ok
':MHVT e * 1![V2) =100x103 (20 ol
ATV =>hh= v )
‘ﬂﬁ i =T Y {VZ] =285x[3_‘l)“””‘
0.5 =337462K (Ans)
'55 -1 mol ™"« Rftr R
3] JK GJ‘NW%W4 Emﬁ.'Y

Pa (Ans.) |

= 1.66]

P  wmE, PM = dRT =>_-RT
@ '~V d d [ T=558+273 =31k ;1'.

RT 1.66x8.31x831 .;
= exigT T 6286msT (Ans) \

‘ﬁ%mm 6amp — 220 Volt Bfe w1 witg | FoewEt 60 watt 97 TS @ Afers Farsrer e a5z
FRIsH
ﬂqﬁ:P:VI: 6 x 220 = 1320 watt

P 1320
; g =——=——=22%% (An
L T, 1= =0 (Ans.)

2 e A9R OlmmﬁaaﬁwwwﬁmzsmmﬁmwﬁmmA—i@

WW@WG@WWTWW?(‘WW%lOakgm SafEs o1 9x 107 %
=1.6x10°Q — m).

05 mm
GRE T ©
pi0jkg™ °C™!, oI = 1075°C, GARE

—5x10"m?, 1=0.1m,d= 9x10°kgm ™ , p=16x10"Qm

e e g, A = 0.5 mm?
& =Adp =4.5x107kg

v =111
| $29x102 x 4200 jkg 'k~ =378 jke K

-'-ﬁﬁ,R:&_M 3.2x10" 0
107
i > (1075 25) _s58.15s (Ans)

| A0 4.5x107x378x

:'ImAB:-lth, I=10A :>t=-—ii_ﬁ_" 10 x 3. 2.)(10 420-{@1‘

:I; v n1 .i — =,
Mgy, sini_ sin o e = " A2

s ffea® rore fefed T
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2
¢ 8
1 1]
1—(~] =50 l—[’?j}ﬁJ

. B
BT Toig age 3 R I ; l
gin® v
F

st ReeieE Bota age 9, F=q V x B=qvB
L F=1.60x10"x10°x 0.3 x sin 90°

=48x 10" N (Ans.)

mwﬁﬁmmﬁwmwwwwg

21
@N(@7)  (b)Al(13) (c) (26)
ST Is 2s 2p
NOY [ [ [0
1s 2s 2p 3s 3p
atas ML) [ [l [
Is 2s 2p 3s 3p

] [ ] [y [

3d 4s

W11 [

Fe(26)

22. e FerIPTR AeRBU RIS A AMITda 1 srerenz e g
@FRAT (b)) GETARE (o) ARG IS (N,0)
TAIA: (a) T4 TAZE (CO) (b) @I (CHCL)

23. «=fb 93 fifbig FFE 7 6X10_10 firg fi DI W@C@?ﬂ Tw
’ e ' FITH 0°C S Y
SITR SN T e SfFeT W

A P =7.6x10" mm = 10 atm, v = | 1, T =273k
o PV 1079 ” |
RT 0.0821x273 ~ +4616x10

LA = 6,023 x 102 E:

24. FCF ford 3 (a)enifafem 2ot
= ! () TrEomfes

0 199-©-%-Grv (o
NH,

0 NN LSy

2

e iR o
wrae Ffta®s tors fofen awa:
www.bdniyog.com

(c) F2@FT Sw2T (N,0)

27
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(dJﬁwﬁmm% =

0 O T i |

(mesf‘m“?"”'i‘r6 S
RS T T 8 ? @

8
) 5502(8) + 2KMnOq(aq)=? (b) 4FeCl, + 3Ky
[Fe(CN)q]

=7
(¢) 2Nal + 3H,80, + MO
:-_ -

550
. (2) 550,(8) + 2KMnO, +2H, 0 _,
) KFe [Fe (CN)e] + 3KCl 20 =K,80, + 2Mnso
© INa HSO4 + MnSOy4 + 2H,0 + a+2H,80,
2
1 e SR TREFOGTT T o1 e 5
C00CH; CH=CH-CHO
ol (b)@ i
COOCH3 (©) @ OCHjy SoﬂgHz
PR oy ™
¢) CHJ"CHz“CO'—CECH ) (C
Hy),—
e (2) FEre2eT STHITTe (b) ﬁwamﬁz CH -~ CH, - CHBr - COOH
() 2,5-91% fieify e «@fire -
(6) TT5-1-1ZF-3-97 | | (d) 2-Methylbenzenesulphonamide
(f) 2-G@rear 4-frizet b «fe |

3§ TP T 9, 75 0 74 3
(2) iffer, BT =B @ (IR FaRefeiess T Tt |
(b) &= sifarer |
) SR o5 HySO4 717 140° G, Sy T8 T4 |

(c) TS TGS T |
NH2 NC
T (a) @ + 3K
OH ! (60-70)°
@ T CHCl;3 .——AE—C—> +3KCl + 3H,0
CH,HSO4 + H,0

() CHy - CH, - OH + H,S04 -0 CHs -
—CH; - OH _.—-ld-'—o-o—-c——"> CHy - CH;-0- CH,-CH; + H,S04

CH; -~ CH, — HSO, + CH3
CH=CH-CHO+ H,0

©) ByC - CIH _ CH, - CHO 4L, CHs ~
A
crotonaldehyde
K. Cu, Ca

A8 vf:ffmg dcw%ﬁ:ﬁ FE3
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BUTEX &gs®

30. Al =gy orens 8
(a) G s oo e | ()

Cu,300°C_, CH; = €

I

Fny: (a) CH; — CH — CH3
| 0]

OH _Ares
C00).Ca
(b) CH;COOH+Ca — (CH;CO0),Ca (CHs
(c) CH, - OH CHO
1 l
cy-on KHSO4, cH +2H:0
| @, P,O; || (SorEE)
CH,-OH CH;
31. Correct the following : '
(a) I have a business. Ans : I do business. .
(b) He gave false witness. Ans : He gave wrong witness.
Ans : This is a slip of the tongue.

(c) This is slip of the tongue.
(d) He bought some furnitures.

(e) This question is alternate to that.
32. Fillin the gaps with the correct form of the verbs provided :

(2) Alva Edison was (be) an American scientist in the 19th century.

(b) He possesses (possess) a scientific aim.
(c) Even in his boyhood he showed (show) great interest in science

(d) This interest led (lead) him to tremendous success in course of t;
(¢) He made (make) many of the great inventions of th s
33.  Translate into English : I,

(a) 7 o1 AR Tw |

(b) 1Tz e Wiy it a1t sty ! i:s ?;a:iezemblés h.i i

(c) T 71 et or ©IF vfEfrarzer | Rims, een singing a song before I ate.
(d)mwmele S.Hetumedhise
(&) T o 713 i ot oy AN

34.  Frame sentences with the following ; d Ans ; [t

(a) Fair weather : Jt was fajr Weathir .
(b) On the eve of : Op the eve of the ’1 I‘;’hen.
(c) Flesh and blood : No flesh and p] 1Deratiop
(d) Make up one's mind : T haye madzid can ¢

Ans : He bought some furniture.
Ans : This question is alternative to that.

w

ow 1
[ have Interest in reading.

i8 the right 1
sesh.é "ight time to start a business.

Ndure jt

(¢) In high spirit : He started working inphr.ny Mind ¢
i

Bhopiggy K
m_rg Spirit, A
531 - ”ﬁ?@m%% 4

s Py ® tore fefen T
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T 1260 (Ans.)

MWGWGWWWWWQY%QQW= SIx 3|

21 %21~ 180(Ans,)
| 7 weay 2", 4% 6t

3l

! 3 Toly
2 '
e o7 T 86 T ST e, i!-=12 e

2!
. gt (oY T AR oot BT = 3512 — 36 (Ans.)

0 X3+qx+r=0 WW@TQ’ B,YW,W\G@, (B_'Y)Zz?,r_.qa.

: o
mx3+qx+r=0ﬁwww o, B,y T, a+B+y=0, ap+Py+ya=q, afy=—r
LHS = (B-7)* = (B+y)’ = 4B v = (B+Y) (B+y) - 4By
- (B+1) (@) — 4Py =—4By — aB-ya=-3py-op~By-ya

_—3pya—o(aB+By+ye) _ 3179% _p g5 (Showed)
o

0
G T ST A 20 2f o crage e fags o7 ¥ 47 FAR 7o @Rifa B W 7w
| B
XS0 AR 30° T TRAY I | @i TR R |

TR 43, STREcda AN § x c0s30° +ysin30° =P

J3 1
>xc0s30° + ysin30° =P = x.—-+V

g gt
lxa){bz.&
2 J3
P _-2p
100 p _2P.p=—r
aXb:___; e 30
J3 . cos 30° \/5 e
100 =5
2p§m—£.zp NE]

WWW'" E:' B
s Py ® tore fefen T
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BUTEX &ix<iiegs

2+)2+2gx+2fy+ch

04. x*+y*—4x+10y—8= OW(BI)W
g owE x2 +y —4x + 10y - 8= 0
=-8,
e et e Mg, g = -2, =5, +yy1
iR, XX
amw@m(m,y;)ﬁﬁww il Mg ™
= 3x +y—2(x+3)+5(y+1) - Bap e +k=0 18-]+k=0:3k__
(i) T TR G T AV G , 6x =Y
wwﬁﬁmaﬁmﬂ,ﬁx—y—l?—o (Ans.)
05. M ¥ ¢ cosO — cos70 = sin40 - n—0 i, sin40 (2sin36-1)=0
FNNG: cosO — cos70 = sind0 W, 25in40 sin36- sind0 =0 2
nm
1,5in40=0 I,40=nn = 0=—" (Ans.)
i LIS TR
wedt, 2sin30 —1=0 41, sm39——2--su1-6—7ﬂ39—m'c+(—1) - 3 18 (Ans,)
3
X —X
06. wefEt T ¢ (i) y=(sinx)™" (ii) y=tan” ﬁ;_
s (i) y = (sinx)™* @, Iny = tanx 1n (sinx)
1 d
01',‘1* ﬂ=tanx ‘l cosx +In(sinx).sec’x I, —-—X—l-f-hl(smx)sec X.
b 4 sin X
e B iy [I+£’n(sin X )sec’ x] (Ans.)
3 —
(i1) y:tan—lg__x_z__ _Iitlailgt-__—ant-j_ng‘ﬁ [Let,x=tan6,9=tan"x]
=tan™ =30=3tan'x - __3
tan™ tan360 =30 =3tan"' x ey (Ans.)
07. (i) et doé 2 3
(1) I f1+3005 75 (11)Wﬁ’=f§ng‘ dx
> (x—I)Wx2 —2x
(i s’ o secze
j1+300S 20 Jsec 9+3 " dZ e
1 an’ 0+ 4 22 [let z = tan@]
="‘ta.n_l—z—+c=_l_t -1 tan@ .
2 2 2 " 5 +c (Ans.)
3
i
2 (x— 1)@
LGtX—-]:—._Z -'-dX=dz
| 2
2 (x- DW '!z V2] W
= 2 henx=252=1
= [sec”z]; =SCC_]Z-S&:‘*I:."E._ o 08 (
3 "3 (An
3 i)
I — i L.
BEREC
~ ‘ T —
e Foifeu® toire fofen T
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fza (a)
P W
=— =
L{3°-0) sno0° = 2

W
;__1____00t2(1

—_— = |
™ sin(180° - ) m QF SRR s (i) !i
1

|

" 1 1 1
Nel) == 2. 1
()~ @) P2 Q* W2 (Cosec 9 C"tza)=wz (Proved)

ms” T, a8l @0l W @ o ey =5
FyH: T I P uﬂ?&Q‘I?ﬁ‘ﬁsfWawmmﬁ%kﬂomec.memww

oAy 0T (ST AT’ P = 25m/sec.

Psina
fazre tan90° = ~
g o Q+Pcosa
31=M a1, Q+25cosa.=0
0 Q+25cosa :
P : =20:
—7&mg-]
T cosa:—g- =__Q 25ms 3
25 P

& R = \/Pz +Q? +2PQcosa

T,20° =252+ Q* + ZPQ[:I—,Q]

A o o 15m/sec T
wirs FIfeQ® tore oD Feres
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P
O] £24% F il +nmmwﬂ’“""’w” fadfea

YR 1+2+3+......
aqemofavi @ efr foa AT o7t 2T (necessary
TSRV 3

yrel->, S 9

Yo, AT « 0

Y-, BN Tet, K =1

gr-8, K f& <n? '
. T &1 T oL e « anre +K
yty, K« K+1

gre-q, ¥ 4 @ T8
gy, W K <n ST 7 ST e T

grel-». ™9 E

oo e e g W@f‘fﬁ‘fﬂw“ -
1. A ¢B coWuf awa, |A+BlHA-B| | IR T B
s |A+B|= A-B| .
—A?+B?+2AB cosd = A’ + B2 +2AB cos(180° — 0) o3
= A+ B?+2AB cosd = A%+ B? — 2AB cosf el
= 4AB cosf =0 = cosf =0 => 0 =cos"0=90°

~ A*B=90° (Ans.)
% M8 10ms™ @k Sms™ @t firw W3S eferafer o a0 | SIr P9 TAGE 2ms™ @92 3ms g

T 76 G2 T (T &AMT (M r7 O $© 77 SRS St &Zer FCARE |

TARE: u; =10ms™, u, =5ms™, a; =2ms 7, a, =3ms 2, t, =t, =t, §,. 58, =s.

12.

1 1 1
We know, s=ut +—at .- —at’= —a,t?
52 ult+2a;t u2t+2a2t = u,—-u2=—2»(az—al)t

2(11 -u ) 2(10-5
- 1 2 - )_ .
= ——__az = =5 T =10sec .. t=10 sec. (Ans.)

A 43 5O Srommar = goC 997 5.9k T ¢
- 7kg H,0 383 fife vt (), —
2.1kg %% 755 - ? »Qi=msAg= :
: 5§x420(f xqu, Q2 =mle+ ms Ag=2.1x336000 4, 1x420 Tl
5.5 (40 - 8) = 2.1 x 336000 + 7 1x4200x9 = g - 0x(6-0)
' =8.3°

14. @ :
W;’;fﬁ?:? el y =10sin ( 1401rt-0.081zx) | X 8 . (Ans.)

S 51, e @ T fafy o YO 4T cm. @ t @7 @@ second T4

AT: y = 10sin (140nt-0,08x) < 10sin 2™ (1750¢
25 ~X)..... i

O y=asin vty gmore Y

. s, ) g

v N A= 10em; Hf%s"=1750cm/sec S oy
' A

A—

wrae fFftu® tore fefen s
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86400
o To_ [fe 85400
s S = T 86400—200
_ T, _S6400 _ 86200 . 86200

T 86200 86400 ° 86400

MWWWWWHA.WWWWWW ﬁsee e e

9, Ty = 2 sec

x2=1.995sec. (Ans.)

16.
ammﬁtfmmmwﬁ 50Hz |

ot Io = 15A, t =——sec, £= 50Hz
300

st s, 1= I sin ot = I sin 2nft

= 15xsh1(2x3.14x50x3—:}6) —12.99A[Rad Mode] Ans.

§4: 0.4Wbm'zwcﬁwcwmwmwﬁim 105ms™! caeat =T | BIE R I 30° @

ST 0, (BT B AT J0a Wi 0 7
st B=0.4 Wom?, v=10°ms™,0=30° q =1.6x10" Coulomb
wat i, F = qusme-16><10‘9x106><04xsm 30° =32 x10¥N (Ans.)
18, el T SASTEIGE (I BeE S IOl JPIE dom AR SO qcé?ramwwcmtﬁwﬁ?aﬁm
wﬁﬁ‘ﬂwﬂmﬁs@nﬂmﬁ%m‘w 1.5

AAYIA: % =(u— 1)[}1_ — _L] r; = +4cm, r; = 6cm

p=15, £=1

4, =(1.5_1)(%_3) 31, f=24cm. (Ans.)

19.* FqI ©F 8 aﬁw@aqﬁ?mmmwwmﬁm G qFZ AT TG 12 @3 15 I A |
GTE ST TN APATS e 4 |

/ I ’ | I t t
. 2 T _® andT =2 Here, T, =—, T, =—
waryr: We know, T 2n [, =2mn MlHan [,=2n M.H ere, T, 0 I, T

2
5 Mz:,Mz:T! (15] .2 ~ M, ¢ M, =16825 (Ans)

12 16

20. 167°C @z 37°C T=oREd 0y Iae el I e 2%10* cal © AR T W | 3 Fo0e

BT FreT A0S NG TA?
s T; = (167 + 273) = 440K T =37 +273 =310K
S T,_Q-Q 2 0,~0, = T-T Q= 440-310 5 10¢ =5909.09 Cal (Ans)
Tl Q, T, 440
wre fifea® tors fefes s =
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"’ ——m A

R S— L

srgt: #) HSO3—~O)—N = N~O)-N (CH3)z

¢ CHs CHs3
e 1 2| s CHs
) H-C-C=Cl i) HsC -—(? Gy —CH
r
Cl CH
.02M KMnO
Cl - oy ﬁwmqwﬁvm 0.02 4 G 98.5cq

22. &Y H,S0, @ & {3t
ST T | YT Sy @mwﬁzﬂ?

s 2KMnO; + 10Fe?! + 8H2$O4 — K3S504 ' F
. 2mol KMnO.; = 10molFe** or, I mol KMnO4 = 5mo e

Or, IM 1000cm® KMnO; = 5x55.85gm Fe
5x55.85%0.02x98.5 _ 0.55gmFe (Ans.)

. 3 —
- 0.02M 98.5 cm” KMnOy4 = 1000
23. GRS 1N e ¢
%) Al (95%), Cu (4%), Mn(0.5%), Mg (0.5%) T & QA |
%) Zn (20-40%), Cu (60-80%) Teq ¢ JFT T e |
) Cu (75-90%), Sn (10-25%) Tea s @re I FEI |
24. o Rfdrmetet o o7 ¢
¥) ZnSOs+7H0 = ............ ) MnO; + Si0; = ........57) Ca(OH), + Cl, —49° 5
TAR: F) ZnS04 TH,O 4) MnSiO; 1) Ca(OCI)Cl + H,O
25. ©UFN J7T A ¢
F Fifefes
#))ZZ:;W Wﬂﬁt&? U g %7 8 HuSi0,
: | p—
BT ¢ @R (o
§ ANEIIT

w)ﬁﬁwﬁ&mwwqaﬁwm@%ﬁvmﬁ%cmﬁw, -

: _ TET ¢ Hutoo
26. H'wmwwm wmar 3,5x10% am 8 MG
Wﬂ%ﬁﬁ'ﬁcﬂt‘mCH C I 5 2
00
A [H ] = [CH;CO0] = 3.5 x 10 K =1 83>< IOSH i w0 72 [K=1.8x107]
[H'][CH,C00"]

We know, K, =
" [CH,Coom ™~ = ICHiCOOH] = = (H')[CH,co0)
K

a

_ 3.5x10"x3.5x10™
L8x107  ~OBIXI0? mol, (apc

27. ﬁfﬂm‘ﬁﬂwww&m .
N S AT, e @) CH, i

TA: (F) CH,: é Cé\wﬂ (W) @ F\B/F 3 (*) H,O

H ey . )

wirs FIfeQ® tore oD Feres
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29.

30.

31.

33.

34.

10/min @92 7.1x 107/min | e

wacuISIER
K, = 7.1x 10”%/min

T
i K, = 2.25x 107/min
- (05+273) =298k T, = (35+273) = 308k
k, __—E T,-T, 7.1x107 —E, 298308
82 =5 305K | 1 = oL 107 = 2.303x8314 | 308x298
K, 2303R | TT, 2.25%10 ; :
_E, _ -10 p 19147 ><9(1]784x0.5 k01087, (Ans)
: 1
1) :CF.C

e W e
05= 19747 91784

o et o e 8 ) THN.T.
st ) B2 AR vRA (Tri Nitro Toluene)
<)fts wf¥y TR el «afte (Deoxyribonucleic Acid)

o) RN. A= e «fre (Ribonucleic Acid)
¥) C.F.C = @t geat 14T (Chlorofluoro Carbon)
Bt g 1 A St e 8

mﬁmwmmwﬁﬂﬁmw
%) Nj+3H—1—2NH3 +°r1
) N; +0;—252NO - =1 :

st) CO +2H; —— CH30H +°11
Fi: ) 517 = 200 atm (L[ 450°C -550°C)
ﬁ)ﬂﬁ:fa‘ﬁmwﬁwﬂmwm ol gofa 2 | st = 3000°C

a1) 519 = 200 - 300 atm, e = 300°C - 400°C

) DNA ) RNA

Change the narration :

a) He said, “What a fool I am!

Ans : He exclaimed with sorrow that he was a great fool.
patient, "Do not take tea or coffee for some days."

b) The doctor said to the
e for some days.

Ans : The doctor adviced the patient not to take tea or coffe
c) We said, “Long live Bangladesh.”

Ans : We prayed that Bangladesh might live long.

d) The boy said to the teacher, “Let me go home, sir.”

Ans : The boy politely requested the teacher to let him go home.

Translate into English:
Ans. Either he or his friends is guilty.

a) &1 a1 ©FF IFAT G |

b) B f& AT AT (TAR? Ans. Have you ever seen a tiger?

c) fofy sre fae Tr<e o | Ans. He has been sick for seven days.

d) wiwar Zeeafr gret beee S, Aif fe? Ans. We can not do without English, can we?

&) T (AT ©F T WP el ToeT | Ans. Seeing the scenery, the mother rose in her.

Show appropriate use of the following phrases in sentences of your own choice:

a) Call up : The waves of the sea called up memories of her childhood.
b) Bring to light : The great saint brought the secret to light infront of the robbers.

¢) Greek to : The teacher explained the topic, but it was all Greek to me.

d) Speak ill of : We should not speak ill of others.
e) In black and white: The officer wants the whole report in black and white.

wis Fifea® tore fofen s
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-2002

E & 3
BUTEX Admission Test 2001-2Y2=

Va+ib = x + iy zoT amret 77 @, Ya—ib =x—1iy |
Trt: 3/a+ib = x +iy 20«3 [Wewaﬁvwamwm]
a+ib=x’ +3ix?y—3xy? —iy’ a=x'-3xy’a® b=3X y-f
o 2 :
a—ib=x —3xy? ~dix?y +iy' =x? ~3ix’y+3x(iy)’ =)

=(x-iy)’ .. Ya-ib=(x—-iy) (Shown)
o g a1
02. (2x2+£3) mﬁ@ﬁmfﬁtx‘smwwmp—ﬁwm
X
PY.

10 "
TY: 47, (2x’+—f-)-J a7 Rgfors (¢ + 1)thow = 1°C,(2x%)"° [;3‘]
20-5r=5,1r=3

3
X
=100 l0rpry20:2r o =3r _ 100 ol0-r pr o 20-5¢
x® @R x"* a7 et W 7, 1°C,.27.P° = 1°C, 2°p wR”E, 20-5r=15, r=1
1
2_4x6_l P—— (Ans)

01.

[10. p? [10.4 P? 4
= = = s = e
B [10-3  [1 [10-1 ~ 6x;7 [9 9x8 3 V3
03. aw&ﬁ»‘wﬁm%w,m?x+l3y—87=0@ﬁ15X—8y+7=0@Wﬂ§@ﬁ‘ﬁ“~iﬁmw
IR TFGH C A F (" I |
TANA: 7x + 13y - 87 =0............(()  5x—8y+7=0.......... (11)
E, y 1

T 15 e W = 4
- 91-696 —-435-49 -56-65
—O000 _ . o548
—-121 _S’y_—IZI =4 .. °I7a il (5,4)
o |
Ta e T REYTAORE @B (5.4) Ry

—X=

R |
+
[<
Il
g
{aY)
Il
H
(g
fa’]
[u}

ﬁ?ﬁ@ﬁﬁaﬁﬁ#x+y=9@ X-y=1 (Ans.)
I 3l | 3X+2y -9 = 0 Erars SR SR S @

TN SRR et s, X, Y2 .
aZ b2 e (1)
TG 3X 42y ~9=0= X, ¥
__+___=I . %
3 9/2 R ‘Qﬁfiﬁm-(3,0) [0 gj
XZ 2 * - ’Z;E}'=l:>b=2
e "5_'*3{/4:1 = 9" +4y% =g ?
o2 a2 [ " ] (AHS)
= “b>a 2_1 9%4
b e -_1—-__8-? :>82=.ﬁ_5_
oo

:lﬂ%%%

wrae fFftu® tore fefen s
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) ess s
:>COSX.COS-§-+SH’1XSIH—--—COS/4 ﬁcos[x 3) 2
T
' it ot —
.—-+_.—
5/ = x—Zmri-’E-r—11 X = 2nn+;/; aqR => X =2n1T— ikl 12
2%~ /3
WWWWM|
(R P . que, f'(x)=cosx - £'(0)=1
e @ =sinx - fO=0 ; PP £8
f'1(x) = -COSX = sin(3__-+ x) 2
f(x) = -Si0X - (0)=0 >
.............. fn(X) = sin(.ll;—c-.{-x)
bl X 10y B £(0)
T, £(x) = £(0)+xE'(0)+ £ O+ 5rf (0)+

- x* X (Ans.)
Wmm, sin x =x—-§!- +-§|—-—00

oracs 3 o1, e owae efe oS 12 «f @f. 3@ P

(w)uﬁ@mmﬁwﬁawaf%
T AT RIS AR Y ¥ ?
EA:—=12 § E— Jj x? 12:>£2xgx—~12 :>£§—.2x.\/§=12:> x = 8cm
" dt dt dt 4
1 /2 dx
07. ) I ¥ _[de <) T Refr e [ —————
smx-+CcosXx

1—-sinx )
72sin? x +2sinx —sinx +1
dx

L inx +1—2sin” -
smx+costdx=.[smx 1-2sm xdx =j-

X X
0 28in Xcos> +cos? X —gin2 X

A F
)J. 1-sinx ]—-sinx 1-ginx
=I-—(Zsmx'—l)(smx_l)dx=—2cosx—x+c (Ans.)
—(sinx—1)
n/2
dx n/2
9 [ = = | =
o SinX +cosx

/2 2 X
% sec > dx . i 2dz

0 2tan5+1-tanzf “0 2z+1-22
2 2

[Let, tan £ = 7 = gec? X gx = 2dz: x =%
. sec 2dx 2dz,x——é-ICﬁz=1;x=o‘{c?fz=o]

R 1/_ z-1]
f(\/_) ~(z- 1)2 2\/—[10 J5+z+l}

=“1‘“ 0 g x/f-—l 1
ﬁ( e 2+J=7_50g£i:

s Py ® tore fefen T
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BUTEX sfmies
08. 9o Ee =l Uz ane vafd @R FTy I

2T AP TG 2 @R X T (TG G, ST H0ew T o171 W(H
|

aw
Y NS T A LS, w.a=Px S P=—
T g (W)W e

09.

10.

11.

12,

mj% g gar W T CTFOR < Ot NP
=

a

X

LI T @O =P +w w
=ﬂ = -a—+l = (14-9‘} (PI'OVed)
+Ww w(x )W 1= WWGWWW|

G T I T B 65° (vt faFuEe 200m/sec N
: 2
200sin 65 J=32'50 (Ans.)

[P
TG B =190 (200+20000565
0 — 200

R =200 + 2002 + 2% 200x 200 cos 65 ' 0.=32°30"
ST TSR G RTEe At wppg

=337.356ms™
a3 TFIF oS MY YIS ©fF (&Y ¢l T @, 36 ey AR

TORAIR foee T o1 | 2@ 9 Fewe 4 g7 T BT Sa oA A G
1 TG R AL I 2
S ST SIZ (T (I IR AR AN =g,wmmmmwww =

QT 4 QFINFOISET 1, 2 8 3
O (9 (A 1 W@W:%le 1 .—_é [W:W@WWF@W@MMWWW
+

L2 =2 o

. B3 G917 UFC 4 97 I LI IR WIS
=1 (RTETG FHE) TGS + 3 ([@TSS ) FSRTST + 2 (ST I9) Fg_TSt

1 1 2 4
=—t—4= ==
9tgty Ty (Ans)

AT | Wwa@iﬁmwcwwmw?
TH:AQAT m; = 40kg, m, = 60kg, u; = 8ms™ . — 1
2 3% 3@ @ faees vttt Giffas | s o e

S S, myu; + mally =(my+my)v = 40x8 + g0 (-2) =(40+60 1
aww o7 8kg @R ST TPNE 250m | 7 sy - V= v=2ms" (Ans.)
CTE BF STt TS JR? ‘ FO? SR 3rad/sec? gt B FE X
TAR: @31, M=8kg, K =25cm = 0.25m, ¢ <
I=MK?® =8 x(0.25)* = 0.5 kg m? (Ans) =

wre FHAfeQ® tore fofes FwFs
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X =NESH o, I 4
St WeEw FHeT 200w | T It eidw S 270K @R IRE Srommr 300K T SR
100min 4 ST T (T W TS AT Stot a1 |
st @9, Ti= 300K, T, = 270K

_T,-T, _300-270
=71 300

.;:.:. i 3-

P
out -_->P - _I:_oLt
Pin n

— " ___Qin 1
0.1;R. = : = Q,, =P, Xt ciceen(i) But,n=

. P
From (i), Q,, =-:]—“‘><t - %9-19x100><60=1.2><1075

.

Qin_Qou
n=_Q-—t =Quu =Q —NQ, =1.2x107 —0.1x12x107 =1.08x10"J Ans.

14, @ OIS G RA T ©F T (T 4TF 5 00 (ST QA | 5 [0 4 et 391 o wwers
R o7 81 vt W @R YOI 4 vt & |

sty Given, M, =81IM R, =4R_

_GM, GM,, . g GM. R?® M RV
8. 2 ,gm=—2 .._“‘=_Tn’l‘x e _ m =
R Ra g. RS GM, M, (R,
2
Em M, 4R 16 T g 9 _
= = | W —— s m e — .4 =
g, 8IM, [Rm ) a1 T J—gm 94 =T, = x2=45800 (Ans.)

15. G sOTeT 0.7m @<= 0,71 m w37 oy 73 f5 =i v 2ifs oTaes 7% 6 Teoty T | SABTS = (@] F?

FYE: 99, A, =0.70m, A, =0.71m

f—f=r e = 7=v(_1__ 1 ]: 7=V[0.71~0.7) ) I TDN7
A Ay 0.7 0.71 0.7x0.71 0.01

—v=3479 ms™ ..v=347.9ms" (Ans.)
16. «=f5 w@rwT 20 B Fwa arerebre 3 5 77 25watt T S | ST TR 6 T 11 BT S 1
= 1000 ST G5 (BhRifox e 2 Tof 50 | 4% RETEnexis T S 3 30 #T ¥9n 7w, 9 30 e

(NG F© 496 A7
T W, =25><3><5><30x20=225kW : W2=1000><2><30=60kw
1000 1000

W=W,+W,=285kw .. B=285x0.3=855Tk. (Ans.)
17.% 0.49kg =¥z (Srem@t 293k ) e 373K W@ 0.01kg A= fret e St F© 7 (IEE

e 7 ot = 2.26 x 10°Tkg' |
sry: Let, The final temp. 6°C .. Heat absorbed = heat relgased
=0.49x4200x[0—(293-273)] = 0.01x2.26x10° +0.01x 4200(100 - 0)

—20580 — 41160 = 2.26 x10* +4200—426 =5 (2058 +42)0 =26800+ 41 160

—9=58790 _3336c (Ans)
2100

wis Fifea® tore fofen s
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BUTEX oriea o
eri8. e 7 sy @ TR w8 Wt TN TV 50cm |
FEE: 99, v =-0.50m, u=0.25m

1. 1 4 l___l_.+_l_=_.l_.—_>f=0.5m
f v u f 050 025 05
]
. P=——=2D (Ans,) ez 400mA
it 0.5m ( mrtﬂf@‘“g@g T

It =
19, «@® p-n ST Rerew 2.0 volt TNF e 2.2 VO

800mA T | SIS (@Y FS? 3
e A= (800 - 400)mA =400 x10 A
AV 02 _0.50

——

AV=(@22-2) V=02V R=—F=70107
2:]_0@@%‘5'@@@’@“"1@(@

gﬁ[ml otz | <8 ﬁﬁa At g
20. *m, = 0.5kg 4R m
TR DN (@A 8
I @<, my = 0.5kg, ms = 1.0kg, g = 9.8ms

poma=m o 1205, 8 327ms™ (Ans)
m,+m, ~ 1+0.5

= 2mmg _ 2x1x05x98 _ ¢ 53N (Ans.)
ml .|.l'n2 0.5+1

21. Fore crrRe wrHRe TREe @9 s

(a) Feariw (b) wrRer (c) “TAI- 2GR ST e
(d) 2-GTET 4-AIZE T (e) wZTBH (f) eaibr =iy
(0]

CH3-CH-CH3 0-C-CH,

T (a) @ (b) @’COOH

' ©) N=N OH
= (O-N=N<0O)-
Cl
(d)
(e) dl‘y COZ (f) (CO+H2) ]

NO;

22. fAor RfGarmTRs 4w @ v
(a) C,H,COOH+ Naon-%g_,

(b) Cu+2H,SO,(conc) — CuSO, g SO

AlC
(©) CoH +....... - =2-C;H,CHO+ HC]

22

wrae fFftu® tore fefen s
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@

(f) NaClO3

(d) NH,-CO-NH2 (e)

G CIePTEd IS BrETRGAAIT (TS § il

(a) CI(17) (b)Fe(26)  (c)Cr(24) (d) Zn(30) @Kr36) @ g(47)
6 2 5 ;

s (2) CI(17) = 1s725°2p° 3573p LAt ]

(b) Fe (26) »1s*2s*2p° 38 3p%3d4s” (c) Cr (24) 5152257 ZpZ 332 3p6 3c11 0452 )

(d) Zn(30) —1s’ 252 2p%3s% 3p° 3d"%4s’ (e)Kr(36)—)152 252 6p° 352 3p° 3d "4s74p

(f) Ag(47) 157257 2p° 35" 3p° 3d'%4s%4p°4d'%5s'

oI Bwel @ BT T @ @ (0 S fafas 1000cm

sifaatd 02 Qi ERICEISH
0 M 200 ;
= 1000w i T = el 32 LU ————rH’ =" =50 cc/min
Y, =—— =200 Mo '___z__ ’__ =g 3 1=
Ty, i 200cc / min i : 3 o s

% Wi —50x5 =250cm  (Ans.)
25, st TRATe e GRFPTHIRS A qaR &9 T 99 3
@Mn@25)  (b)I1(53) ©Rb(37) (d)Cd@8) (e)Rn(86) (D Pt(78)
S () 89 4w, VIIB &t (b) e o, VIIA & (c) &% T, 1A &
(d) e +4iw, IIB &= (e) u¥ A, s arst  (f) v® o, VIIL &~
26.* o =S RS S o = 5 x Pa 7@ oz 18g ~fwe 0.1 mol B adge e @ g

23.

Y, sy forfe = G7% S @ g TS &

24.

_—.1'02 xt

oSBT F© O 3 |
syt P, =xPa, n, =18gm =Imole, n, =0.1mole, P=?

Weknow, o-F__ D .y, P _01_ . 01 P o 0
’ = — i R X apye 01 B
P, n,+n, P, 1.1 1.1 P, P=P, ) =>P=1xPa (Ans)

27, (a) IS SreTereEe e @ i FERrawRe fiftrre fod < 3

1.1

Br*,NO?,CI",CH;,R -0~ H,AlCl,
TAN: (a) Br'— SEe@ree, NO, — SEaGeize, Cl— fefremizs

CH; "> ez, AlCl; — Zw@@ze, R —O—H fefrewiae
(®) () -57.3kJmole™ (i) 5 (i) 6

s Py ® tore fefen T
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H 7

28. pH f& fi @1 e [OH']= 3.4 x10”° =, H=-logH']

T: pH 20 e gawew [H'] v (—log) “"‘ﬂﬁ'zp=953l4g (Ans) -
pOH =-log (3.4 x 10°) =4.46852 .. pH = 14-4.4685 - ” .-
29. IS Qs TR @I 4R ARIST e O (c) AS-1 (f) ©IZ-2ART :
(@) n-REBT  (b) Terw (c) 1,2 wiEgrear 2 (d) L0
TR: ((a) GRS (b) TR el (c) T W:W ke
(e o B mw 0 6(;)2gm KMnO4 9% et T 20, 7
30. H,SO, 97 ®+f¥frs 0.6gm wRewa H,0; .

fRowet fdfy a1 +H,0
Ty 2KMnO, +H,S0, +5H,0, —K,SO, +2MnSO, 2

2x158 5x34
M- ot bt g 5x34x0.632 _ 34 om
5%34 " 0.632 gm KMnO, =——"7%¢

=1 gm KMnO E2x158
034, 100% = 56.67% (Ans)

0.6
31. Translate into English :

- (a) “iffReTa =i P career @l STCRIEANTT oM |

Ans. The declaration of prohibiting the use of polythene is a timely step. .
Ans. We don’t live to eat rather we eat to live.

(b) St 35 Ty A1, <A T A

(c) oTiTaT GG TZRY, 1% 7Y f5? Ans. Patriotism is a noble virtue, isn’t it?

(d) T S1®8 T =, FeeTEns AT A |

(e) FTST =TT (I TG (ST WA |
32. Make sentences with following phrases & idioms-

1) Apple of discord : The land is the apple of discord among the brothers.

i) Lame excuse : The lame excuse of ignorance will not be accepted by Allah in the here after.

iif) Condole with : Rahim condoles with the distressed guy.

iv) Beyond all doubts : The honesty of the teacher g beyond all doubts.

v) First and foremost : Learning the holy Quran is the first and foremost in Islam

33. Change the Narration:

gm H,0,

02.

Ans. He will neither eat rice nor go to college.
Ans. The London city is large as well as beautiful. 03.

1) He said, “I sang a song.” Ans. He wa
i i s : - € sa
1i) I said to him, “Please read the book” Ans. T requfstt:;th}.le bad SUng a song.
iii) He said to me, "Can you do the sum?" Ans. He aske mel'r?Ito re?: ctlhe —

L1 could do the sum.

1v) Matin said to me, May God bless you”  Aps. Matin prayed that Gog pn: o
1g ess me.

v) Akter said, “Alas! I am undone,” Ans, Akter exclaimed v
34. Write a paragraph on any one of the following:; With sorrow that he was undone.
(1) Teacher-Student Relationship

(i1) Safe environment. Ans. Try yourself
£ . TSR ey g, o A
N

e Pfeas tore fofen awas '
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2n+3
= Gn_D(@n+ D@0+
4

U, = Za-D2a+D(@n+5)
+ - D@En+Den+3)@n+5)

1

T
= (n+1(2n+ 3)(2n +5)
1

R, PN
S, =C~Z@n+3)2n+5) 3@n+DHEn* 3)(2n+5)%2

. %7 4 gL
n=0 7, S, =0 - 0=Cm e s ™3 1x3x 5% 2 60
1 1 4 =

8= T AEn+3)@n+5) 6(2n+D(2n+3)20
02 ST § 32X _48x*+22x-3=0

s 4, Tera—b,a,a b b+a+a+b—3

, b+acos6
a+bcosB

a—b 2 szg]
1-
(\/a+b) Y
-—.cos-l 2

+5)

4+ —
90

WKWWWEWI
48 3

11

—_—

180

4

(Ans.)

§) 0 9 .
acos’—+bcos® ——asin® — . 29
_I( 2 i 2 asin 2+bs1n 5

1+ 2
(a"‘b)cosz5

2 aCOSZX +b

= Cos (b+acose
a+bcosZ- a+b

TSI TRE% ~reer.

w7s FPifeas rors fofes
www.bdniyog.com

] R.H.S (Proved)

= COS
. ,0 5 < 2
(a—b)sin? — Lam52—+b RENC 70
T 2 2 n > bsin
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05.

06.

BUTEX ¢

Y 4) y = (COS'i x)2 = y; =-2c0s"'x

TP

fa 3m )
St 4R, SRR A, Y = MK A+ Covvnrrnnnens

(6,~7) REIR T, —7 = 6M -+ Currrrrrns (i)

WRR, y+x+/3 =1 m,--fJ_ —_—
R SB= il“}m (+)

0
g)j“m‘:?ﬁf_:(i?f;:_? ;i73x (7+643) (Ans)
é)f);;gmg;?mﬁ(zo)wﬂwwwmw'Wmmﬁ
e =iy T fifr 39 g@ﬁ‘x—m""'fm’ Lgt=

st ¥R, JooT T, x*+y 2 4 2gx +2fy+c=0
(2, 0) Regre =i wwer = (2)° + 07+ 2g (2) + 2 () + ¢ =0
—4+4g+c=0=>g? +4g+4=0 = (g+2)’=0

3, - 1) R e v = 9 +1+2g(3) + 2f (-1) +¢=0
10+6(-2)-2f+4=0 .~.f=1 -, e R, 0 + Y’ - 4x +2y +4 =0 (Ans.)

WWWy—mx:O@ﬁ(z,—l)a«W: g’ +f>—c=1
e e = m?+ 1 =4m* +4m+ 1 = 3m’* +4m =0 _’_m:::;i m=0

m?+1

m=0 T >PE, y=0 I &wg | ., = 7qWea, y+§x:0 = 4x+3y=0 (Ans.)

. g=—2n0=(2) =4

%) log. (xy) =x*+y’ T, gx a7 T e 3 |
X

%) y = (cos™ x)* 7T o7ine @, (1-x7) yp-xy; =2
I F) loge (xy) =x" +y* = log. X +logey =x* +y* = 1+l9i—2x+2ygi

X ydx
dy 1—2}?2} 2x*-1) . L dy _y(2x’ _1
=59 . ; y(2x
dx( y = I x =37 (Ans.)

1 2
2 = (1-x°) y12 =4 ((:DS-ﬁ x)2=4y

l1-x

= 2y1y2(1-X°) - 2%y =4y, . (1-x?) Y2=Xy; =2 (Showed)

07. 3) fﬁ dx 1
)(x® +) (X-—l) 2'[()( D ——x——dx
STyt 4f4, — ] (x* +1)
(x— 1)(x +1) S
w A BX4+C 1
x-1 x?+1 B

L X=A (Xz +1)+ (sz—C—Bx+Cx)

wirs FIfeQ® tore oD Feres
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0
B) + R (r.c0sC) = 0
Cc=0 (Proved)

mﬁfﬂtﬁlﬁﬁcﬁtﬁmmls

P.OD+OE.Q+OF.R =
=p (rcosA) + Q (rcos
- pcosA +Q cosB + Rcos

gmaﬁm%ﬂﬁﬁ@ﬂﬁﬁ A
AV 25 5 2
m/s

—_—

09.* 36k

15%x1000 _5x10 25 ol —
- = =""m/ o 3B N
Tk S I PR . Ty eREUER

- @ F=ma =36><—5-=2.5N (Ans.)
72
10. mmmw,Sf%ammsﬁmaﬁwmwmﬁwm@@%mﬁﬁ%@wwl2\%-4—61
WWW@?W!

rs: GAIB <91 T (4 + 5+ 6) = 15
2 1 97 g 7@~ %) 26 < g R 15 7 = A %) 2 f5 3o o @ | Bt =B |
6 |

P(AUB)=P(A)+P(B)= Clg"dcurﬁczxjcizl&,}i:ﬁ (Ans

G g, 91 o )

11, @3> aw weed o7 20k IR
. g @F 4T 60 kg O 43 I A @ &S
T) W WY TG A A A | oo ey Fe? T 0o T o

wg: 4, AO=x, (O, AB 47 T4if) k—= >

e, 60 _20 _ 60 _x—40 : y

x—40 40 20 40 A< 9

=x=120+40=160 l # = l
60 kg 20 kg

* R G AB=2x =2x160cm =320cm (Ans))

" o e e —

s Py ® tore fefen T
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BT - e 1x105 y
12. W%CWI.sm@mﬁﬁmmmn@mW%? lon
TSI M 348 TS A1 | B AT G AT FACS FS X T = (10° x10*) =107 kg
TG V = 10 x 102m’ = 10°m?, h = 1.5km = 1.5 x 10°m, m=PV=
FooE, W=mgh = 107 9.8x1.5x10° = 14.7x 10'°J (Ans.) 2GR O S I T TSy e
13.100°C wrmmm 600gm B vl z@r 20°C S RS "fﬁ‘“’w;‘ o TP Hanleli s
ISR SToifars 38 o1 2,26x10° Joule/kg 3R #Hf o ' i
FAY: (G 3fE® ot = ml, + msAO £,=226x10"J/kg
m[E. "~ ' s=4.2x10°T/kg/k
= +5
y A0 = (100—20) =80k
= 0.6 [2.26x10° +4.2x10° x80] =1.5576x10°J (Ans)
14.* = M7 ofr 480m/sec I T W WG 0 | Ao oAl FerRe T T ORE ST TS ey USRS

T 9 | T 9 o @ = 3w ST et et R | [ wieefHE o, s = 125.6)/kg-K]

19

s Given, v =480ms™
s= 117'.5.6.fkg'1k*I
According to question, Heat released=heat absorbed

2 2
:>lrnv2 =msAB :>9=X—=—@— =917.2k (Ans.)
2 2s 2x125.6

15. 0.05mm -1 e (dielectric) ot 3= ¥ 1uF TP G0 AT oIS 41 Loy 7y
1 Q& 0.2m IR T I qrod 519foq TS 203 S (@7 39 |
(FPIC =141 (YT 9% =4, €, =8.9x 1072 C/N —m? )
TAI: (6T WIE, C=1pF = 10°°F 17, x 5 510 e
r=—1—X0.2m=0.lIl‘1 C:ES 10-6-_—- XX?TXF2X4X8_9X10_[2
2 d 5%107°
E=e,xk=4¢, L X=447 =x=~45
d=0.05mm = 5x 10”m w4 45 5 srfoq waarm | (Ans.)
16. foaft «rareg Y WG 3uF, 2 '
; MF@ﬂIpFGW%@EGE@Tﬂfﬁw
m < = < W
SICS 75 1 2 s o T wSI e exwa

TAGA: CTGHT AR, C=3uF 93, C, =[-1~+-1_J—1-(1 +1]_1 2
3

17. aﬁﬁmwﬁaﬁsmqmmlm =i

M, mxn=294 =>m=42
. DIRISTS fag 7t = 42 81 (Ans.)
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r_ d AHS«)
5= 6344 o 7 | e

' -1 45) 3
s 0 =tan (2xtan ) el (T 15cm T

-, tand’ =2tand A
Scmv'ﬂ*fwﬁ‘aawaocmwmwﬁﬁﬁa LEi]
3 g & SR TR ¢ =ml/ =10cm
1_1.1 O B
' v f ou m T
L R Weﬁ#ﬁwwcmﬁw
LA N FACEICE] Wsﬁaﬁ'ﬁ(lﬂmw (Ans.)
- y=-30cm EEICR o g |
. I AP wﬁﬁwmw%mmwmﬁwwm el GFTB AN
g ik i WWWWWIWWWWI
ﬁﬂﬂéﬂm1&mm2.4mr§@wwm .
satg: £, =0.4m; f, =—0.6m 1+1._l ﬁl:i__}_
] et gl ] 1 u v F v qu
F§ 5, F 0406 4x12  _
K B0k 18 :>v=[ uF :_2__"_5 —-2.4m
0.4x0.6 u—-F) 24-1.

F=———
=5=06-04)
F=1.2m G SR3IGE G Al 7538 g o e et 2.4 m 7 |

Chemistry

21. 9.2¢m wreNIEEeT ex wike HC1 @« Rfewam 27°C SR @R 750mm Bt T g 13 CO, “inedl qTA?

(af ST @ 1t CO, @7 9y 0.002gm/em’s |
AAYH: SRS (CaCOs + MgCO;) = 184 gm; 184 gm T #Mewl T 2x22.4 CO,

27°C o1t 9.2gm TT® mmmﬁ‘%"gﬂ CO, =224 L CO,
PV, PV,  760x224 750xV.
wr, L =122 =B 2 5V, =249L (Ans.
T L 273 300 . o)
22. 1500 cm’ @ 2000cm’ @7 7% @ TU@w 750mm 8 100mm Tt H, @ O, M 419 I | G FIoF

et 41 e fEH oy (b bre Fe?
TIF: Py = 750mm 5191, P, = 100mm STt
Vi =1500cms, V, = 2000cm’
V=3500cm’ p =7

_PV.+PV (1500x750
p=2Vi+RV, ) +(2000x100) _ |
\' 3500 378.6mm " (Ans.)

wirs FIfeQ® tore oD Feres
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BUTEX S0 | 2 @ E
23. e QT = o '
1 2 3 4 g
(8)CHs— CH =CH—CH-CH; () {©)—CcocCH;

CH3
4 3 Zﬁ 1 3 - ~00H
(c)CH, = CH— C —CH, (d)CH— ¢H —C
' NHz 6H o
(e) 3Ca(H2PO4)2 () 5040 504-(0) 12%@3? —3-%—2—9F
T: (a) 2-ReEe 52 (b) RerReT AT (6
(d) 3-SURE cam e (e) T=rer A ¥ ; 'm ol
wifie e 7 &t KMnO4
24. 2.4gm FeSO4 & H,S04 BT . L 5F62 (304 )3

sty 10FeSO4+ 2KMnO4 +8 HaSO4 — K;S04 + 2MnSO4
5x151.85gm FeSO, @3 & #a@lw 158gm KMnO4

. 2.4gm FeSO, &3 &y 7 51*5?75{12_% = 0.499gm = 0.5gmKMnO, (Ans.)
X .

25. fafERe s SeAme SHabetEs F1 77 3
(a) I “Iafore Syifar SeAmTT (b) == ertiite HySO4 TRAMCT

(c) S7ears Aafore HNO3 TeAmG (d) TSl SeAMTT

(e) A Teeime (f) 216 2T sife eeiafiTe JeeT FITeeAmeT

AGA: (a) SFEEF —> Fe of (b) HSO4 — 5fqe SyRiaest a1 V2,05 3t Pt

(c) HNO; —Pt — Rh %4 | (d) sreTet —Ni. '

() AR 5171 ~afo-af3e a1 &7 AT 75 5 *&fe-Cr,03 eol Fiffes Sy Som arr =)
2T, BRI Giber 4req @ |

(f) FWFET—> SRICEE, WEAGS, TR |
26. 0.5 PR AfSra 2000 & =1 St 24°C e 26°C T w1 2 | T wET S 97
Furgt: We know, Q = msA@ Mc =12 s =iffa wigert = 42007 kg!. K!
~.Q =2x4200x(26-24) = 16800J. m = 2kg
" 16800
. IR TR STt = _BS_XE =403.2kJ (Ans.)

27. fam cﬁrﬁuﬁa%ﬁawﬁ&s
(a) SIZCH RTG17er (b) 2% @fSss (o ff® (D.D.T
(d) B,47,/5 (T.N.T) (e) 1-GPiEat-2,2-wizfieger CRITAT | N -
T (a) L;Hs —CH;~CH-CH; (b)CH,- COO0 - C,H;

OH

Cl

cl = H;
g a-g-yn @ QO L ol

: (e) Cchz—lc— CH,

Cl NO, CH,

i TR Sty
e Foifeu® toire fofen T
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oA @ el g +H,0
(a)©+CH3C1 AICl3 KMnO4
ZHZD COoH___u[_":THL—)CH3C}120H+HZO

170°C , cH,-CH=CH
(6y CHCHaLER *‘TWHZSO4 ’

CH; —-CH=CHz + HBr — (f}-l3 — CH — CH3
Br
CH - CHz+ NaBr
|

CH;— tl:H — CH;+ NaOH (aq)—> CH3—
OH
Br
29, fage ariERS Rifgwmet o 79 8
CHj
(@) (CHsCO)0 + HNA  — cmisissssse + CH;COOH
CHjz
SnCly
(6) (O )N Cl+4[H] — v +HCI
NaNO;
(C) C;Hs —NH; +...cccuueee —;E]:'* C2H50H+.................+H20
(d) (CHsCOO); Ca—>.........+CaCO,
(e) CH;COCH; + PCl; - ......... +POCl3
(f) CH; CONH; + KOH + Br, —
TAY:
NH-NH;
CH;
(a) CH;CO- N< (b)
CH;

(C) HNOQ, N2 (d) C6HS —CO- CﬁHs

Cl

|
(e) ll-l?,c -C- CH3 (ﬂ CH3NH2 + 2KBr + K2CO3 S 21_120

Cl

we Qs tore fofet Fewes
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EX SRe® o
o (c) f&. @@ =

fie R e Afed &7 P .

30. el (b) irmﬂﬁ{ (f) e | e |
O AT G-

(d) o, &, @, IR (e) ot | & (o1of513T FFTT 9% 2 T %“% !

STrere: (a) C2b ¢ ez AT IR . r

#i1ts -COOH T 1T | few e et TEL, G5t firarzer @16 (TML), SRET W5y pe (o),

e AR AR 8 FETAT
@)wmmmawmwl Wmmmﬁﬁ%@maﬁmwgﬁh_z

(c) D.N.A 31 s D.N.A 21 o wrgfew p-D freaIAe wiat oif5® 20 A | D.NLA @7 sug- Pyimgy,
. ; i |
. "“Wﬁﬂr Qi3 o | 7 Purine base ¥ afefe, eTfaT b -
base-4 8 T ff SomIReTE D-7i3wde @9 Pyrimidine base-q
aq

(d) R.N.A i s TRt R «ffe aR e
@ 38316 @<= Purine base @ fSfw ¢ 2 ; N .
SR WWWWWW@W AT S i

(e) @ g : il
@ﬁaﬁéﬂmmsmﬂﬁmiﬂ@mwwﬁﬁﬁi 77 _— - |

(DCﬂ«‘:{tﬂwaGlucoseamamCIWWWC4,_ﬁ-ﬁW SR TR g J

it o1 0 | ey e e (B-D Glucose) A |

Englishj

Rewrite the following sentences using right form of the verbs given in the brackets.
Ans : The color of his eyes is blue

Ans : I had my rice cooked. '1
Ans : He has returned home just now.

31
a) The color of his eyes (be) blue.

b) I had my rice (cook)
c) He (to return) home just now.
d) As soon as he (to buy) a new house, he will leave the old house.

Ans : As soon as he buys a new house, he will leave the old house.
€) The sun (set), they went home. Ans : The sun having set, they went home.
32. Translate into English:
(a) T 32 =B It is drizzling,
(b) #ReIf® 4tg e - Please, read out the poem,
(0) &1 @@= fest, w12 A7 He was very honest, wasn’t he9
(d) 997 cAie weibr Ame-1t i quarter to ten.
(‘?) W CTRICY IR 9 fe@1- 1 had an appointment to g there,
33. Fillin the gaps : :
a) Her face was bathed with tears, ";
b) It relieved me from/of the aebe,
¢) His quality must be apparent 10 an idjot.
d) He was proved right to that point,
e) A happy smile spread over his face.
34. Write a paragraph on 'dengue fever' [Try Yourselﬂ

s Py ® tore fefen T '
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oIfé A=A FRE0 eHAN SIS 9% QU 57 S
BIpAld JEIEAIN Np SIS Q% 98 QU 55 b
faffian a7 FEreai Sifo9s 98 aund 7 S

SIfG ABIEd BiPal SIfE SrOaES QUNH 557 T=pe
WD (SIS SRAIHE S AL QU 576 SFd

fAfSfEns R com o= o as siEm

SSC QF FAEAN NP SIS Q% 98 QU 5 T
HSC QF JCOAIN NPp PIfS Q% 98 QU S5 Fra
fErafamye of6a e PifSas 98 QUi 55 Fara
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